ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 **ARLINGTON, VIRGINIA 22201**

NOTICE OF CONTRACT AMENDMENT

TO: McDonnell Landscape, Inc.

20315 Georgia Avenue

DATE ISSUED: CONTRACT NO: June 24, 2021

Brookeville, MD 20833

CONTRACT TITLE:

21-DPR-ITBLW-623b **NE NW Grass Mowing and Turf**

Maintenance Services

AMENDMENT NO:

2

THIS IS A NOTICE OF A CONTRACT AMENDMENT AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. 21-DPR-ITBLW-623b including any attachments or amendments thereto.

EFFECTIVE DATE: 5/13/2022

EXPIRES: June 30, 2023

RENEWALS: Three (3) Renewals Remaining **COMMODITY CODE(S)**: 98836, 98875

LIVING WAGE: Y

ATTACHMENTS:

Amendment No. 2

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: Jorge A. Lopez VENDOR TEL. NO.: (301) 924-2600 xt. 203

EMAIL ADDRESS: jorge@mcdonnelllandscape.com

COUNTY CONTACT: Ken Lett, DPR-PNR COUNTY TEL. NO.: (703) 228-7981

COUNTY CONTACT EMAIL: klett@arlingtonva.us

PURCHASING DIVISION AUTHORIZATION

Date 5/13/2022 Tomeka D. Price Title Procurement Officer

ARLINGTON COUNTY, VIRGINIA AGREEMENT NO. 21-DPR-ITBLW-623b AMENDMENT NUMBER 2

This Amendment Number 2 is made on 5/13/2022, and amends Agreement Number 21-DPR-ITBLW-623b ("Main Agreement") dated June 24, 2021, between McDonnell Landscape, Inc. ("Contractor") and the County Board of Arlington County, Virginia ("County").

The County and the Contractor agree to amend the contract called for under the Main Agreement by hereby adding additional locations for grass mowing and turf maintenance services as listed below.

- **A.** <u>Contract Term:</u> Pursuant to contract clause 4. Contract Term, the contract is hereby renewed for its first subsequent contract term for an additional 12-month period, from July 1, 2022, to June 30, 2023.
- **B.** <u>Price Adjustment:</u> Pursuant to contract clause 6. Contract Pricing with Optional Price Adjustment, the contract pricing is hereby increased by 8.5% in accordance with the U. S. Department of Labor Consumer Price Index, All Items, Unadjusted, Urban Areas for the 12 months of statistics available for March 2022.
- C. <u>ADD</u> the following location to the 7–14-day Cycle:

Northeast:

- 1. N. Quebec St. and Lorcom Ln
- 2. Wilson Blvd and N. Stuart St.

Northwest:

- 1. 11th St. N and N George Mason Dr.
- 2. 16th St. N and Patrick Henry Dr.
- D. ADD the following location to the 30-day Cycle:

Northwest:

- 1. Washington Blvd and 27th St N
- 2. Washington Blvd. and 25th St N
- E. Replace #208 Clay Park (3011 7th St. N) 7-14-day Cycle with:
 - 1. Zit kala-Sa Park 3011 7th St. N -
- F. Remove the following locations from 7-14-Day Cycle

Northeast:

1. Wilson Center – Wilson Blvd and N Quinn

G. Force Majeure is hereby deleted in its entirety and replaced with:

34. FORCE MAJEURE

Neither party will be held responsible for failure to perform the duties and responsibilities imposed by this Contract if such failure is due to a fire, riot, rebellion, natural disaster, war, act of terrorism or act of God that is beyond the control of the party and that makes performance impossible or illegal, unless otherwise specified in the Contract, provided that the affected party gives notice to the other party as soon as practicable after the force majeure event, including reasonable detail and the expected duration of the event's effect on the party.

H. <u>Incorporation of COVID-19 Vaccination Policy For Contractors</u> is hereby incorporated in the Contract Terms as follows:

60. COVID-19 VACCINATION POLICY FOR CONTRACTORS

Due to the ongoing COVID-19 pandemic, the County has taken various steps to protect the welfare, health, safety, and comfort of the workforce and public at large. As part of these steps, the County has implemented various requirements with respect to health and safety including policies with respect to social distancing, the use of face-coverings and vaccine mandates. To protect the County's workforce and the public at large, all employees and subcontractors of the Contractor who are assigned to this Contract, should be fully vaccinated against COVID-19. Any contractor employee or subcontractor who is not fully vaccinated should be following a weekly testing protocol as established by the Contractor, unless exempt pursuant to a valid reasonable accommodation under state or federal law.

- I. Replace Revised Exhibit C Locations in its entirety with the attached Revised Exhibit C Locations, dated ______.
- J. Replace the Revised Exhibit F Pricing Sheet in its entirety with the attached Revised Exhibit F Pricing Sheet, dated 5/13/2022 . The Grand Total of Quadrants NE and NW is hereby changed from \$696,867.40 to \$708,428.40, an increase of \$11,561.00 ending June 30, 2022. The Grand Total of Quadrants NE and NW is hereby changed from \$708,428.40 to \$768,644.81, an increase of \$60,216.41 beginning July 1, 2022.

All other terms and conditions of the Main Agreement remain in effect.

WITNESS these signatures:

THE COUNTY BOARD OF ARLINGTON MCDONNELL LANDSCAPE, INC. COUNTY, VIRGINIA

AUTHORIZED Docusigned by:

SIGNATURE: SIGNATURE: SIGNATURE: SIGNATURE: Jorge Lopez, Jr.

NAME: TOMEKA 5950 PFRICE 0472...

TITLE: PROCUREMENT OFFICER

DATE: DATE: DATE: DATE:

239 Fire Station #3-4100 Old Dominion Dr

Revised Exhibit C – Locations

Arlington County Government 01/19/21 NORTHEAST MOWING LOCATIONS Department of Parks and Recreation ID LOCATION DESCRIPTION DIMENSIONS ACRES TYPE FREQ TAXMAP 221 10Th & Barton St Garden Area Between Gardens & Street And Adj. Areas 0.77 P 7-14 5405 204 10Th St - Wilson Blvd To Rt. 50 5307 Medians/Ultility Islands Wilson Blvd To Wash Blvd & East & West Ramp Of Rt. 50 1.67 U 7-14 194 11Th & Danville St. Park Open Lot Along 11Th St. From Danville To Fillmore St 110' X 370' 7-14 0.93 5304 187 13Th Street - Jackson To Harrtford St 0.31 U 7-14 5303 250 1617 N Garfield St Utility Strips Around Perimeter Of House 0.01 U 7-14 4316 126 17Th St. & N. Hartford St Island 41' X 26 0.02 U 7-14 4315 113 18Th St. & Cleveland St. 7-14 4312 Traffic Island 25' x 35' /2 0.01 U 80 21St St. & N. Stafford St. Sidewalk Island & Lot Behind Sidewalk On 21St @2045 Stafford St. 0.16 U 7-14 4208 24Th St @ Old Dominion Dr - 4655 To 4711 Row Easement From 4655 To 4711 220' X 70 0.35 U 7-14 3214 55 33Rd St - Thomas St To Randolph St N 4107 To N 4133 33Rd St 565' X 14' 0.18 U 7-14 2211 26 36Th & Glebe Rd 29' X 23' 0.02 7-14 1112 Island U 23 36Th St - 3632 To 3837 At Military Rd Open Areas 1,113' X 80 2.04 U 7-14 2207 19 38Th St. & N. Wakefield St. Utility Strip And Easement 0.14 U 7-14 2205 40Th & Upland St Row Easement 0.07 U 7-14 1116 41St Street & Upland St. 0.03 2 Street Island U 7-14 1116 44 4722 N 26Th Street House Lot Property 0.66 7-14 3209 217 4Th St & Fillmore St 300 Blk Of Filmore 0.01 U 7-14 5316 214 6Th St & Monroe St Street Island 0.03 U 7-14 5314 213 7Th. Street - Nelson St To Oakland St 0.15 U 7-14 5314 183 Aps Education Center-1426 N. Quincy St. Outside Perimeter Of Parking Lot & 15 St. Utility Strip 0.95 7-14 5301 147 Argus House - 1527 Clarendon Blvd Small Picnic Area At Rear Of Building 20' X 40 0.02 D 7-14 4407 123 Arlington Science Focus School - 1500 N. Lincoln St. All Areas Except Inside Building Sidewalks, Parking Lots 1.50 S 7-14 4314 22 Broyhill Forest Park - 3510 N. Utah St. North Of 35Th St On Utah Both Sides Of Street 2.50 P 7-14 2206 196 Central Library - 1015 N. Quincy St. All Areas, Parking Lots, U-Strips, Adjnt To Tennis Courts 0.80 5305 7-14 L 105 Cherry Valley Park - 1700 Quincy St. Access Also From Nelson & 17th (Area has expanded since Tax Map) 9.84 7-14 4309 81 Cherrydale Library - N. Military Rd @ 22Nd St All Areas: Building Perimeter, Hillside 0.42 L 7-14 4301 82 Cherrydale Park 2100 N. Quincy St. Enter From Behind 7/11 West Of Pollard On Old Dominion 0.78 P 7-14 4301 143 Child Care Center -1915 N. Uhle St @ Lee Hwy Building Perimeter, Parking Lot, Inside And Outside Fenced Areas 0.05 P 7-14 4405 130 Clarendon Blvd - Adam St To Danville St Vacant Lot, U-Strips And Right Of Ways 0.40 4316 252 Clarendon Blvd & Veitch St Median In Fron Of 2100 Clarendon Blvd BAG CUTTINGS 0.01 U 7-14 4413 193 Clarendon Blvd. @ Danville St. Utility Strip & Area Surrounded By Brick Paver Walkway 0.03 U 7-14 5304 203 Clarendon House - 3141 N. 10Th St. 5307 All Areas And Adj. Street Islands 0.22 DES 7-14 All Turf Areas 163 Clarendon Park - Wilson Blvd & Highland St BAG CUTTINGS 0.46 7-14 5303 176 Clarenford Station Park - 1300 N. Vermont St. From G. Mason Drive Behind Motel To Playground At Vermont St 2.65 Р 7-14 5204 Zit kala-Sa - 3011 7th St N ermuda Grass mowing and Regular Mov P 7-14 169 Courthouse Building - 15Th St & Courthouse Rd All Areas: Around Building, Utility Strips & Interior Courtyard 0.50 0 7-14 4414 129 Danville & Franklin St Four Islands @ Intersection 0.08 U 7-14 4316 161 Dark Star Park - Ft Myer Dr @ Fairfax Drive Island Areas With Balls BAG CUTTINGS 0.30 Р 7-14 4412 67 Dawson Terrace Center - Taft St & 21St St All Areas: Playground, Woods Edge, Fence Areas 2.08 Р 7-14 3414 27 Donaldson Run Park - 4020 N. 30Th St. Along 30Th From Military Rd To Pollard St 209' X 54 0.26 Р 7-14 2216 78 Dorothy Hamm School 4100 N Vacation Ln-Frmly HB Woodlawn All Areas Except Inside Building Sidewalks And Parking Lots 7-14 1.20 4204 128 Edgewood St & N. Franklin St 4316 0.05 U 7-14 Fairfax Drive - Danville To Barton St Row Easements Both Sides 0.28 U 7-14 5304 178 Fairfax Drive - Wilson Blvd. To Glebe Rd. All Islands 0.40 U 7-14 5212 157 Fairfax Drive House 1727 E. Of Pierce St Mow Front And Rear Area And Perimeters 7-14 4411 0.15 D 225 Fillmore Park & Trail 33 N. Filmore St Washington Blvd. North To Fillmore St. 2.00 7-14 6401 145 Fire Station # 10 - 1559 Wilson Blvd All Areas And Adj. Street Islands 0.14 F 7-14 4407

All Areas, Parking Lots, U-Strips, Adjacent Park Area

0.12 F 7-14 4204

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAXM
02	Fire Station #4 - 3121 N. 10Th St.	All Areas And Adj. Street Islands		0.10	F	7-14	530
	Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St	All Areas: Playground, Woods Edge, Fence Areas		3.12	Р	7-14	121
6	Fort Smith Park - 2411 24Th St North	Street Row, House Grounds, Fort Area, Open Spaces		4.50	P	7-14	34:
2	Ft Myer Heights Park - 1400 N Ft Myer Dr	South Of Rt. 50 Adj. To Apts.		0.66	P	7-14	44
0	Gateway Park - 1300 Lee Highway	All Grass Panels	BAG CUTTINGS	1.75	P	7-14	44
1	Glebe & Randolph Park		BAG CUTTINGS	1.05	р	7-14	63
	Glebe Park - Old Glebe Rd East Of Tazwell St	All Areas: Woods Edge & Steps, Fence Lines Playground		2.00	P	7-14	12
0	Glebe Rd & Fairfax Drive	10 Street Islands		0.29	U	7-14	52
;	Gulf Branch Nature Center -3608 N. Military Rd	Mow Along Entrance Drive, Around Base Of Building And Parking Lot		0.20	Р	7-14	22
2	Hayes Park - 1400 Lincoln St At 15Th St	All Areas Including Row Easement Along 15Th St		2.86	P	7-14	43
5	Herndon St 1401	Utility Strip In Front Of House	5' X 50'	0.01	U	7-14	43
5	Herselle Milliken Park 820 N. Lincoln St.	All Areas Between House And Store Building		0.41	P	7-14	53
8	Hillside Park - 1601 N. Pierce Street	All Areas Including Perimeters To All Streets		0.45	P	7-14	44
	Holmberg Park - 38Th & N. Upland St.	All Areas		0.60	Р	7-14	22
4	James Hunter Park (1230 N Hartford)	Grass areas and utility strips		0.10	P	7-14	43
4	Johnson St N- 1504	Both Sides Of Sidewalk Adjacent To 1504	87X10	0.20	U	7-14	43
9	Kenmore St - 1919 @ Wilson Blvd	Utility Strip Nw Corner & In Front Of 932		0.11	U	7-14	53
0	Kent & 19Th Street	Triangle Island	BAG CUTTINGS	0.04	P	7-14	44
9	Kent St Vacant Lot - South Of 19Th St	Lot At Beginning Of Ramp Buildings On 3 Sides	DAG COTTINGS	0.11	P	7-14	44
2 7	Key Blvd & Highland St	7 Corner Areas		0.05	U	7-14	43
7	Key Blvd. Garden Plots	Open Area On 19Th St. Side	40' X 50'	0.05	P	7-14	44
	Key Boulevard - At N. Bryan St	Open Area On 15111 St. Side	40 8 30	0.02	U	7-14	44
4	Key School - 2300 Key Blvd	All Areas Except Inside Building Sidewalks And Parking Lots	_	0.34	S	7-14	44
3_			_	3.50	U	7-14	53
6	Kirkwood Rd - Islands & Open Areas	Washington Blvd To Lee Hwy. All Public Open Spaces Both Sides Open Area East Side Of Leaf Dump Site	180' X 180'	0.74	U	7-14	32
5	Leaf Dump Lot 26Th St @ Yorktown Blvd				U	7-14	-
3	Lee Highway - Lincoln St To Monroe	Islands In 3500 Block	31'X 45' & 251'X 4	0.45	-		43
-	Lee Highway - Albemarle St To Wakefield St	6 Islands & Old Dominion Intersection Area		0.24	U	7-14	42
В	Lee Highway - Nash St To Lynn St	Islands Adjacent To Gateway Park	BAG CUTTINGS	0.40	P	7-14	44
1	Lee Highway - Spout Run Pkway To Lincoln St	Islands	980' X 25'	0.56	U	7-14	43
5	Lee Highway & N. Quincy St	3 Islands Mowing At Ls Areas	_	0.03	U	7-14	43
6	Long Branch School - 33 N. Fillmore St	All Areas Except Inside Building Sidewalks And Parking Lots		1.04	S	7-14	64
9	Lyon Village Park - 1800 Highland St	All Areas: Steps, Fence Lines, Playground, U-Strips		1.50	P	7-14	43
	Marcey Rd Park 2700 Marcy Road	Located Inside Regional Park Area		1.50	P	7-14	23
6	Maury Art Center - 3550 N. Wilson Blvd	All Areas: Curbs, Sculpture Garden, Playground, Fence Edges		1.38	P	7-14	53
	Maywood Mini Park - 3210 N 22Nd St	All Areas		0.25	Р	7-14	43
2	Mccoy Park - N Vetch St & North 20Th St	All Areas Except The Drainage Basin		0.60	P	7-14	44
5	Meade St South @ S 14Th St	Island Adj. To Iwo Jima Memorial		0.06	U	7-14	44
2	Meade St. Park - 1550 N. Meade St.	Sw Corner Island At Rt.50 To Service Rd.		0.40	P	7-14	44
•	Military Road & 25Th Rd N - 2 areas	Corners Of Intersection & Medians		0.04	U	7-14	33
9	Mosaic Park - 544 N Pollard st	All areas including adjacent utility strips		0.50	P	7-14	
5	N Oak St	Utility Strips Between Wilson & 16Th Rd. N		0.01	U	7-14	44
0	N. 16Th Street & Custis Rd.	Median At The Intersection Of N. 16Th & Custis Rd.		0.05	U	7-14	44
8	N. Barton & Bryan St.	Median At Intersection		0.03	U	7-14	54
7	N. Barton St.	Utility Strip Between N. 11Th & 12Th St. (West Side Of St.)		0.02	U	7-14	54
8	N. Jackson St. & Rt. 50	Area Surrounding Foot Bridge		0.05	P	7-14	
2	N. Monroe St.	Utility Strips Both Sides Of Street Between I-66 & N. 17Th St.		0.02	U	7-14	43
9	N. Randolph Street	Utility Strips Between N Glebe Rd And Wilson Blvd.		0.01	U	7-14	53
)	N. Woodstock & 20Th Rd. N	Median At Intersection		0.02	U	7-14	42

	County Government int of Parks and Recreation	NORTHEAST MOWING LOCATIONS					01/19
ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAXMAP
114	Nelly Custis Drive - Military Rd To Lorcum L.	All Islands	2000' X 6'	0.28	U	7-14	3314
115	Oakgrove Park - 1500 N. Quincy St	Area Surrounding Field, Fence Edges, Embankment, Perimeter Areas		3.86	Р	7-14	4313
207	Oakland Park 3701 Wilson Blvd.	All Areas		0.91	P	7-14	5310
224	Oakland Street Mini Park 122 S Oakland St	South Of N 2Nd St And Oakland St Intersection	136'X 23'	0.07	Р	7-14	6306
41	Old Dominion & Glebe Rd	2 Islands & Adj. Utility Strips	500	0.01	U	7-14	3209
13	Old Glebe Rd @ Glebe Rd	Center Island With Stop Sign	10' X 33'	0.01	U	7-14	2201
242	Pershing Drive	Median From Rt. 50 To N. Barton St.		0.08	U	7-14	5409
235	Petco-N. Fairfax Dr.	Median At N. Farifax Dr. & Washington Blvd.		0.13	U	7-14	5303
141	Potomac Tower Park 1955 N. Lynn St	Adj. To Parkway Entrance Ramp	BAG CUTTINGS	0.25	Р	7-14	4404
197	Quincy Park - 1021 N. Quincy St	All areas Surrounding Fields, Playground, Tennis Courts, Picnic Area, U-Strips		3.81	Р	7-14	5305
94	Quincy Street - 20Th Rd To Lee Highway	All Islands And U-Strips	438' X 3'	0.15	U	7-14	4305
155	Rhodes & Clarendon Blvd.	Street Islands	160' X 74'	0.25	U	7-14	4410
61	Ridgeview Rd North Of Nellie Custis	Cul-De-Sac Island At Dead End	80' X 38'	0.07	U	7-14	3309
251	Roberts Lane & N Lincoln St	Utility Strip From Lincoln To Monroe St		0.02	U	7-14	2204
33	Rockspring Rd. @ Wakefield St.	Triangular Island At Intersection	50' X 50'	0.06	U	7-14	3201
218	Rocky Run Park 1200 Barton St	All Areas		2.80	P	7-14	5401
234	Rt 50 East-Service Road	Utility Strip From N. Queen To Rolfe St.	31X2	0.01	U	7-14	4415
164	Rt. 50 East Entryway	Islands	16' X 200'	0.07	U	7-14	4412
100	Spout Run Pkway - Lee Highway To I-66 Overpass	Islands	300' X 3'	0.02	U	7-14	4307
28	Stafford St - Dead End East Of 31 St	Island Area	160' X 27'	0.10	U	7-14	2216
76	Stratford Park - 4321 Old Dominion Dr.	All Areas	100 A 27	0.42	P	7-14	4204
233	Sunburst Triangle	Parcel Of Land At Rt.50 & Fairfax Drive	+	0.45	U	7-14	5401
	Taylor Elementary School - 2600 N. Stuart St	All Areas Except Inside Building Sidewalks And Parking Lots	1	3.82	S	7-14	3208
40	Taylor Park 5000 Military Rd @ 30th St		683' X 90'	1.41	P	7-14	3208
35 246	The Buck Property-N Quincy & 14Th St	Area Along Military Rd. All Areas & Ivy Perimeter Of All Buildings	003 X 90	2.43	DES	7-14	4313
86			+	3.00	P	7-14	4313
	Thrifton Hill Park - 23Rd & N. Edgewood St	All Areas: Rear Woods Edge & Steps, Fence Lines Playground	251 4 5501		P	7-14	
48	Utah St & Taylor St. Park	Fenced In Area And Adj. Areas	35' X 650'	0.52	U	7-14	3211 5304
192	Utility Strip In Front Of 1222 N. Cleveland St	Row Easement	10' X 25'		_		
116	Vacant Lot 1601 N. Quincy St	Open Lot Across Quincy St From Oakgrove Park	75'X 150'	0.25	P	7-14	4313
241	Vacation Lane & 25Th St N.	Row At Corner Of Vacation & 25Th St. N.	+	0.03	U	7-14	3211
38	Vermont Bike Trail - At N. Vernon St	2547 N. Vernon St To 2501 N Upton St 60' X 15'		0.20	P	7-14	3207
181	W & L High School - 1300 N. Quincy St	All Areas Except Inside Building Sidewalks And Parking Lots	-	5.76	S	7-14	5301
223	Washington Blvd - Highland St To Rt. 50	All Island And Utility Some Utility Strips		2.25	U	7-14	5308
198	Washington Blvd & N Quincy St	Islands		0.10	U	7-14	5305
151	Wilson Blvd - Lynn St To Ridge Road	Island	BAG CUTTINGS	0.10	Р	7-14	4408
179	Wilson Blvd & Fairfax Drive	Mowing At Ls Maintenance Areas		0.10	U	7-14	5212
247	Wilson Blvd- Ballston	3 Medians & Utility Strips From Glebe to just past Stuart St.		0.02	U	7-14	5212
62	Windy Run Park - Nellie Custis Drive	Mow To End Of Kenmore St)14' X 117' + 2' X 4	2.74	P	7-14	3314
63	Woodmont Center - N Of 24Th St On Filmore	All Areas: Surrounding Fields, Fence Areas, Playground, Driveways		0.22	S	7-14	3315
79	Woodstock Park - 2000 Block Of Woodstock	All Areas 20Th Rd & Woodstock St		1.00	P	7-14	4207
42	Yorktown Blvd. @ Glebe Rd.	Street Median East Of Glebe Rd. Overpass	4' X 70'	0.01	U	7-14	3209
253	Wilson Blvd & N Stuart St.			0.02	Р	7-14	
254	N Quebec St & Lorcom Ln			0.02	P	7-14	
195	11Th St Roadside	Northside Of St. From Danville St. To Danville St.	10' X 75'	0.02	U	30	5304
188	13Th Street - Johnson To Jackson St	Both Sides Row Easements	12' X 200'	0.05	U	30	5303
167	14Th St. & Adams St. Lot	Se Corner Lot To Include Walkway On 14Th Street	115' X 250'	0.70	Р	30	4413
119	15Th St - Quincy St To Taylor St	South U-Strips All Areas Adj. To I-66	944'X 10'	0.21	U	30	4313
171	15Th St & Scott St	Corner Vacant Lot	40' X 36'	0.03	U	30	4414

eharrm	ent of Parks and Recreation	NORTHEAST MOWING LOCATIONS					
ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAXMAP
121	15Th Street - Quincy St To Rear Home Lot	Cut Steep Bank	30' X 200'	0.13	U	30	4313
159	16Th St - 1701 To Quinn St	U Strip North Side	6' X 160'	0.02	U	30	4411
156	16Th St. & Quinn St.	Roadside From Rhodes St To & Down Quinn St To 1St Dr	12' X 90' & 6' X 175'	0.04	U	30	4410
110	1700 Blk. Adams St. Alley	Alley Behind Houses Between Key Blvd. & 18Th St.	15' X 320'	0.11	U	30	4312
111	1700 Blk. Barton St. Alley	Alley Behind Houses Between Key Blvd. & 18Th St.	15' X 320'	0.11	U	30	4312
117	17Th St. @ Pollard St.	Utility Strip From 3811 To Deadend Of 17Th St.	6'X 270'	0.04	U	30	4313
152	17Th Street Row @ Lynn St.	Hillside & Island Both Sides Of Overpass	25'X60' & 10' X 50"/2	0.04	U	30	4408
107	18Th St, - 3400 Block	Right Of Way North Side	10' X 200'	0.05	U	30	4310
96	20Th Rd - 3219 To Johnson St	U-Strips Both Sides	6' X 425'	0.23	U	30	4306
135	20Th St & N. Troy St	Along North Side Of Lee Highway	674' X 59'	0.91	U	30	4402
83	2100 Pollard St.	Power Box Area Next To 2114 Pollard St.		0.01	U	30	4301
133	21St St - Courthouse Rd To Vietch St	U-Strips Both Sides	6' X 200'	0.05	U	30	4401
54	23Rd St - At Old Dominion Drive	Northwest Corner Lot	20' X 30'	0.02	U	30	3214
73	23Rd St & Albemarle St	Across From 4716 N Ablemarle St	95' X 59'	0.13	U	30	4202
64	24Th St & Fillmore St.	Roadside From Drive On 24Th To Drive On Fillmore St.	6' X 450'	0.06	U	30	3315
52	25Th Rd & Old Dominion	Sw Corner Lot	37' X 49'	0.04	U	30	3214
50	25Th St - Richmond St To Vacant Lot	Large Open Areas	65' X 155'	0.23	U	30	3212
59	25Th St House At 4006 To Military Rd	U- Strips	6' X 106'	0.06	U	30	3309
37	26Th Street - 4514 To 4555	North Right Of Way Easement	6' X 780'	0.11	U	30	3206
43	26Th Street - 4624 To 4712	Glebe & 26Th St		0.25	U	30	3209
47	26Th Street Bike Trail-Yorktown Blvd To Vermont St	6 Ft Back On Each Side Of Trail	12' X 2110'	0.58	Р	30	3210
29	31St St - Military Rd To Quincy St	U-Strips Both Sides	6' X 145'	0.02	U	30	2216
32	32Nd St & Abingdon St	Across From 3139 Abingdon St	40' X 37'	0.30	U	30	3201
24	36Th St. & Woodstock St 3600 Block	Row Easement	10 110	0.02	U	30	2209
14	37Th St To End Of Randolph St	Right Of Way Easement Both Sides	6' X 377'	0.05	U	30	2202
4	41St - Glebe Rd To Dead End Both Sides	Row easements Also Under Parkway	6' X 268'	0.02	U	30	1207
5	41St Street - Off Richmond St	At Dead End Of 41St St	10' X 50'	0.01	U	30	1210
222	4Th St. Roadside	Roadside Adjacent To 400 Barton St.	6' X 50'	0.01	U	30	5409
215	500 Block N. Irving St.	Utlity Strip On Nw Corner At 5Th St.	5' X 75'	0.01	U	30	5315
227	Bedford St. Alley	Behind Houses On Wash Blvd. From Rt. 50 To Brookside Dr.	8' X 863'	0.16	U	30	6401
102	Bryan St - 18Th St To Lee Highway	Both Sides	6' X 500'	0.07	U	30	4308
103	Calvert St - 1995 To Lee Hwy	Both Sides To Dead End East U-Strip	6' X 200'	0.02	U	30	4308
131	Cleveland St. Utility Strip	West Side Of Street Between Clarendon & Wilson Blvd.	3' X 100'	0.01	U	30	4316
31	Deadend N. Quebec St. Off N. Randolph St.	Utility Strip & 4' Back Of Walkway From 2827 To 2810	8' X 200'	0.04	U	30	23-13
21	Dittmar St - 4618 @ Wakefield St	South Right Of Way Easement	6' X 60'	0.01	U	30	2205
11	Dittmar St - 4746 To Glebe Road	South Right Of Way easement	10' X 200'	0.05	U	30	2116
65	Edgewood St 2440 To 24Th St	North Right Of Way Easement	6' X 450'	0.06	U	30	3315
220	Fairfax Dr @ Rt. 50 - Rolf St To Court House Rd	Row Easements And Embankment @ Courthouse Rd	30' X 450'	0.31	U	30	5402
219	Fairfax Dr Rt.50 To Barton St.	Row At Parking Meters Across From Rocky Run	6' X 140'	0.02	U	30	5401
160	Fairfax Dr. @ Ft. Myer Dr.	Parking Meter Area South Side Of Fairfax Dr.	6' X 360'	0.05	U	30	4411
201	Fairfax Dr. Alley	Alley Between 3440 & 3444 Fairfax Dr.	12' X 75'	0.03	U	30	5306
89	Fillmore St - 3442 To 2342 (@ Lorcom Lane)	West Right Of Way Easement	6' X 150'	0.02	U	30	4303
	Filmore St & Custis St To Custis Trail	Thrifton Hill Footpath	6' X 1000'	0.02	U	30	4303
90	Control of the Contro		9 V 1000	0.14	P	30	1214
7	Ft Ethan Allen Park - 4311 Old Glebe Rd	House Grounds Adj. To Glebe Park	6' X 140'	0.50	U	30	4307
99	Harvard St & 20Th St	U-Strip To 3121 Harvard St	170000000000000000000000000000000000000		U	30	
216	Highland St - 414 To Pershing Dr	West Right Of Way Easement	6' X 83'	0.01	_		5316
112	Highland St. Alley 1800 Blk.	Alley Behind Houses Between Edgewood St. & Danville St.	6, X 600,	0.08	U	30	4312
93	Irving St And 22Nd St.	To Dead End At Old Dominion & Cul-De-Sac	6' X 640'	0.09	U	30	4303

D	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX M.
08	Johnson St - 1909 To 18Th St	South Right Of Way Easement	10' X 600'	0.14	U	30	4310
89	Johnson St @ Washington Blvd	100' Past 13Th St. Both Sides Right Of Way Easement	6' X 225'	0.03	U	30	530
97	Kenmore St - 2121 To Lee Highway	Both Sides	6' X 335'	0.18	U	30	430
17	Kenmore St - 3445	Bank Across From And In Front Of Location	12' X 75'	0.04	U	30	220
38	Kenmore St @ 23Rd Rd	Nw Side Utility Strip	10' X 40'	0.01	U	30	430
48	Key Blvd - Oak St To Ode St.	West Side U-Strip	6' X 100'	0.02	U	30	44
04	Lee Highway - Cleveland To Calvert St	Service Rd Island	50' X 300'	0.34	U	30	43
00	Lincoln St - South Of Washington Blvd	West Side Utility Strip And Center Island	10' X 40'	0.01	U	30	53
35	Lincoln St. @ 12Th Rd.	Utility Strip On Lincoln Next To House At 3444 12Th Rd.	4'X110'	0.01	U	30	53
1	Lorcom Lane - Edgewood To Parkway	N Side Cut To Sign, S Side Cut To Pkway	6' X 700'	0.12	U	30	43
6	Military Rd - 2707 To Beachwood Circle	Across From Taylor Park	12' X 833'	0.23	U	30	32
6	Military Rd - 3730 To 37Th St	Row Easement	10' X 500'	0.11	U	30	22
0	Monroe St - 3655 To 3671	Vacant Lot	6' X 115'	0.02	U	30	12
36	N 17Th St3400 Blk Dead End	Fire Hydrant & Guardrail	0 7113	0.02	U	30	43
,2	Nash St - 20Th St To Key Blvd	West Right Of Way Easement	6' X 570'	0.01	U	30	44
6	Nelson St. Alley	Alley Behind 1702 - 1710 Nelson St. To 18Th St.	10' X 150'	0.03	U	30	43
4	Nelson Street - 21St To 22Nd Street	Right Of Way Areas	6' X 200'	0.03	U	30	43
0	Nw Corner Stafford St. & 15Th St.	Nw Corner Lot Between House #4207 15Th St. And Stafford St.	0 A 200	0.03	U	30	42
-	Oak St - 22Nd St To Lee Highway	Also Behind Barrier East Right Of Way Easement	10' X 300'	0.10	U	30	34
2	Old Dominion Dr 25Th To 26Th St	Vacant Lot East Side Adj. To Salt Tank	100' X 150'	0.07	U	30	37
3			20' X 165'	0.33	U	30	32
5	Old Dominion Drive - 25Th St To 26Th St	Right Of Way Easement Both Sides		0.08	U	30	43
5	Quincy St @ 2244 To Quebec St @ 4016	Right Of Way Areas	10' X 395'	0.09	U	30	44
3	Quinn St - 1230 To 1240	U-Strip South Of Rt. 50, West Of Queen And Quinn St		0.01	U	30	44
4	Quinn St - 21St Rd To 21 St	Right Of Ways And Island	421 V 2401	_	_		-
6	Quinn St - Key Blvd To Lee Highway	East Right Of Way Easement	12' X 310'	0.34	U	30	44
3	Randolph St - 23Rd St To Lorcom Lane	Row easement	6' X 275'		U	1,000,000,000	32
6	Randolph St - 2756 To 2736	Row Easement	6' X 320'	0.04	U	30	32
3	Randolph St - 4101 To 4020	Both Sides Row Easements	6' X 515'	0.07		30	33
4	Rhodes & 14Th St Bridge Abutments	Both Sides Of Rt. 50 And Sw Corner Of Queens St	25' X 110'	0.06	U	30	44
1	Richmond St - 2306 To Deadend	Both Sides Row Easements	6' X 335'	0.05	U	30	32
5	Richmond St - Old Glebe Rd To 41St St	East Row easement	6' X 300'	0.04	U	30	12
3	Roberts Lane - 3525 To 3469	East And North Of Monroe St	6' X 100'	0.01	U	30	22
1	Rolfe St - 2126 To Dead End	West Row Easement	6' X 190'	0.03	U	30	34
0	Rolfe Street - 1307 To 1321	East Side Right Of Way Easement	6' X 375'	0.05	U	30	44
)	Scott St - 21St Rd To Dead End		12' X 185'	0.05	U	30	34
7_	Strafford Park Hillside	Steep Bank Around Upper Field	30' X 725'	0.50	Р	30	42
2	Sw Corner Lorcom Lane At Edgewood St.	Roadway Nub To Include Area Behind Leyland Cypress Trees	40' X 80'	0.07	U	30	43
4	Upshur Street - South Of 26Th	East Side	6' X 120'	0.02	U	30	32
5	Upton St. @ Old Dominion Dr.	West Side Of Upton From Old Dominion Dr. End Of Fence	4' X 175'	0.02	U	30	42
9	Utah St - Vacation Lane To Deadend	Row Easement	20' X 350'	0.16	U	30	32
9_	Utah St - 2420 To Taylor St	Row Easements	6' X 290'	0.04	U	30	32
7	Vacation Lane & Taylor St.	Triangular Corner Plot In The 2300 Blk. Vacation Ln.	100' X 200'	0.40	U	30	32
0	Vermont St - House At 3725 To Ditmar St	U-Strip	6' X 268'	0.04	U	30	22
4	Vietch St. @ Lee Highway	U-Strips From Lee Highway To I-66 Both Sides		0.16	U	30	44
32	W&L High School - Under Stadium Bleachers	Also Outside Stafford Street Fence		0.80	S	30	53
io	Dawson Terrace Center - Taft St & 21St St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.52	P	AF	
52	Dorothy Hamm School 4100 N Vacation Ln- (HB Woodlawn)	Athletic Field - Rectangle - Bermuda Grass - Irrigation		1.45	Р	AF	1

Arlington County Government Department of Parks and Recreation

NORTHEAST MOWING LOCATIONS

01/19/21

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAXMAI
263	Key Elementary School	Athletic Field - Rectangle - Cool Season Grass - Irrigation		0.66	P	AF	
261	Long Branch School/Fillmore Park	Athletic Field - Combo - Diamond - Cool Season Grass - No Irrigation		0.46	P	AF	
264	Oak Grove Park	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.81	Р	AF	
265	Quincy Park - 1021 N. Quincy St	Athletic Field #1, 2 and Aux - Bermuda Grass - Irrigation		3.98	P	AF	
267	Quincy Park - 1021 N. Quincy St	Athletic Field #3 - Diamond - Bermuda Grass - Irrigation		1.34	Р	AF	
269	Stratford Park - 4321 Old Dominion Dr.	Athletic Field - Diamond - Cool Season Grass - Irrigation		0.78	Р	AF	
271	Taylor Elementary School	Athletic Field #1 - Combo Diamond - Cool Season Grass - No Irrigation		0.64	P	AF	
272	Taylor Elementary School	Athletic Field #2 - Combo Diamond - Cool Season Grass - No Irrigation		0.64	Р	AF	
270	Washington Liberty High School	Athletic Field - Combo Diamond - Bermuda Grass - Irrigation		1.56	Р	AF	
273	Woodmont Center - N Of 24Th St On Filmore	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.28	P	AF	
275	Donaldson Run - 2929 Military Rd	Lift Station			DES	14	
276	Dover Run - 2801 N Quebec St.	Lift Station			DES	14	
277	Gulf Run - 3611 Military Rd	Lift Station			DES	14	
278	Kirkwood Rd - 1616 Kirkwood Rd	Lift Station			DES	14	
279	Windy Run - 2500 N. Kenmore	Lift Station			DES	14	
280	Riverwood - 2770 N Nelson St	Lift Station			DES	14	
281	Marcey Creek - 2685 N Marcey Rd	Lift Station			DES	14	
282	River Estates - 3533 36th Rd N	Lift Station			DES	14	
283	River Crest - 3560 36th Rd N	Lift Station			DES	14	
	Palasades - 2141 Scott ST	Lift Station			DES	14	
				1			

TYPES: U=Utility Strip; P=Parks; S=Schools; DES=Dept of Environmental Services; DHS=Dept of Human Services; L=Libraries

Revised Exhibit F – Pricing Sheet, 5/13/2022

		dated	<i></i>	1.5	7 20			_			
							Contract Price	until 6/30/2022	Contrac	t Renewal Price	effective 7/1/2022
ocation ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months	FY23 Annual Mowing Price
262	Dorothy Hamm School 4100 N Vacation Ln- (HB Woodlawn)	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	s 350.00	\$ 7,700.00	8.5%	\$ 379.75	s 8,354.5
264	Oak Grove Park	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.00	\$ 4,400.00		\$ 217.00	\$ 4,774.0
265	Quincy Park - 1021 N. Quincy St	Athletic Field #1, 2 and Aux - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 1,000.00	\$ 22,000.00		\$ 1,085.00	\$ 23,870.0
267	Quincy Park - 1021 N. Quincy St	Athletic Field #3 - Diamond - Bermuda Grass - Irrigation - Reel Mower	P	AF	22	Weeks	\$ 320.00	\$ 7,040.00		\$ 347.20	\$ 7,638.4
270	Washington Liberty High School	Athletic Field - Combo Diamond - Bermuda Grass - Irrigation - Reel Mower	P	AF	22	Weeks	\$ 375.00	s 8,250.00		\$ 406.88	s 8,951.2
	Lump Sum To	otal for Athletic Fields with Berm	nuda	a Gra	iss			\$ 49,390.00			\$ 53,588.1
		Athletic Field - Rectangle - Cool Season	Р								
263	Key Elementary School Stratford Park - 4321 Old Dominion	Grass - Irrigation Athletic Field - Diamond - Cool Season	P	AF	31	Weeks	\$ 90.00			\$ 97.65	\$ 3,027.1
269	Dr. Lump Sum Total Fo	Grass - Irrigation r Athletic Fields Cool Season Gra	L	AF Vith	31 Irrigati	Weeks	\$ 100.00	\$ 3,100.00 \$ 5,890.00		\$ 108.50	\$ 3,363.5 \$ 6,390.6
	•							5, 5			7,55
260	Dawson Terrace Center - Taft St & 21St St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 75.00	\$ 2,325.00		\$ 81.38	\$ 2,522.6
261	Long Branch School/Fillmore Park	Athletic Field - Combo - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 73.00	\$ 2,263.00		\$ 79.21	\$ 2,455.3
271	Taylor Elementary School	Athletic Field #1 - Combo Diamond - Cool Season Grass - No Irrigation	P	AF	31	Weeks	\$ 75.00	\$ 2,325.00		s 81.38	\$ 2,522.6
272	Taylor Elementary School Woodmont Center - N Of 24Th St On	Athletic Field #2 - Combo Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 75.00	\$ 2,325.00		s 81.38	\$ 2,522.6
273	Filmore Fort Ethan Allen/Madison Comm.	Athletic Field - Rectangle - Cool Season Grass - No Irrigation Athletic Field - Rectangle - Cool Season	P	AF	31	Weeks	\$ 40.00	\$ 1,240.00		\$ 43.40	\$ 1,345.4
274	Center - 3829 N. Stafford St	Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$ 3,720.00		\$ 130.20	\$ 4,036.2
	Lump Sum Total Fo	r Athletic Fields Cool Season Gra	155 -	No	Irrigatio	on		\$ 14,198.00			\$ 15,404.8
	40Th & Upland St 41St Street & Upland St.	Row Easement Street Island	_	7-14		Weeks Weeks				\$ 8.68 \$ 6.51	
2	Glebe Park - Old Glebe Rd East Of	All Areas: Woods Edge & Steps, Fence	-	/-14	25	weeks	\$ 0.00	\$ 130.00		\$ 6.51	\$ 149.
8	Tazwell St Fort Ethan Allen/Madison Comm.	Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along		7-14		Weeks				\$ 119.35	
-	Center - 3829 N. Stafford St St.	All Areas	-	7-14		Weeks Weeks	\$ 150.00 \$ 35.00			\$ 162.75 \$ 37.98	\$ 3,743.2 \$ 873.4
13	Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N.	Center Island With Stop Sign	U	7-14		Weeks	\$ 8.00	\$ 184.00		\$ 8.68	\$ 199.6
15	Military Rd	Mow Along Entrance Drive, Around Base Of Building And Parking Lot		7-14	23	Weeks	\$ 12.00	\$ 276.00		\$ 13.02	\$ 299.4
	38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah	Utility Strip And Easement North Of 35Th St On Utah Both Sides Of		7-14		Weeks	\$ 12.00	\$ 276.00		\$ 13.02	\$ 299.4
	St.	Street	-	7-14		Weeks	\$ 125.00			s 135.63	\$ 3,119.3
	Rd 33Rd St - Thomas St To Randolph St	Open Areas	U	7-14		Weeks	\$ 125.00 \$ 12.00	\$ 2,875.00 \$ 276.00		\$ 135.63 \$ 13.02	\$ 3,119.3 \$ 299.4
25 26	36Th & Glebe Rd	Island	-	7-14	_	Weeks	\$ 8.00	\$ 184.00		\$ 8.68	\$ 299.4 \$ 199.6
27	Donaldson Run Park - 4020 N. 30Th St.	Along 30Th From Military Rd To Pollard St	Р	7-14	23	Weeks	\$ 15.00	\$ 345.00		\$ 16.28	\$ 374-3
28	Stafford St - Dead End East Of 31 St	Island Area	U	_		Weeks	\$ 8.00	\$ 184.00		s 8.68	\$ 199.6
30	Marcey Rd Park 2700 Marcy Road	Located Inside Regional Park Area	-	7-14		Weeks				\$ 81.38	and the second s
33	Rockspring Rd. @ Wakefield St. Taylor Park 5000 Military Rd @ 30th St	Triangular Island At Intersection Area Along Military Rd.		7-14		Weeks				\$ 5.43 \$ 81.38	
	Vermont Bike Trail - At N. Vernon St	2547 N. Vernon St To 2501 N Upton St 60' X 15'		7-14		Weeks				s 8.68	
	Taylor Elementary School - 2600 N. Stuart St	All Areas Except Inside Building Sidewalks And Parking Lots		7-14		Weeks	\$ 200.00			\$ 217.00	
41	Old Dominion & Glebe Rd	2 Islands & Adj. Utility Strips		7-14		Weeks				\$ 5.43	
	Yorktown Blvd. @ Glebe Rd.	Overpass	U	7-14		Weeks	\$ 5.00	200		\$ 5.43	\$ 124.7
	4722 N 26Th Street Leaf Dump Lot 26Th St @ Yorktown	House Lot Property		7-14		Weeks				\$ 35.81	
	Blvd Utah St & Taylor St. Park	Open Area East Side Of Leaf Dump Site Fenced In Area And Adj. Areas		7-14		Weeks Weeks	\$ 40.00 \$ 26.00			\$ 43.40 \$ 28.21	\$ 998.2 \$ 648.8
48	24Th St @ Old Dominion Dr - 4655										
	To 4711	Row Easement From 4655 To 4711	_	7-14		Weeks	\$ 18.00			\$ 19.53	\$ 449.1
60 61	Military Road & 25Th Rd N - 2 areas Ridgeview Rd North Of Nellie Custis	Corners Of Intersection & Medians Cul-De-Sac Island At Dead End	U	7-14 7-14		Weeks Weeks	\$ 5.00 \$ 5.00			\$ 5.43 \$ 5.43	\$ 124.7 \$ 124.7
62	Windy Run Park - Nellie Custis Drive	Mow To End Of Kenmore St	_	7-14		Weeks				s 162.75	
63	Woodmont Center - N Of 24Th St On Filmore	All Areas: Surrounding Fields, Fence Areas, Playground, Driveways. Mechanical edging along entrance way	s	7-14	23	Weeks				\$ 10.85	
	Fort Smith Park - 2411 24Th St North	Street Row, House Grounds, Fort Area,	P	7-14	23	Waake	\$ 260.00			\$ 282.10	
99	rort Smith Park - 2411 241h St North	Open Spaces	Р	/-14	23	Weeks	\$ 260.00	\$ 5,980.00		\$ 282.10	» 6, <i>i</i>

							Contract Price	until 6/30/2022	Contrac	ct Renewal Price	effective 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months	FY23 Annual Mowing Price
125	Herndon St 1401	Utility Strip In Front Of House	_	7-14	23	Weeks	\$ 4.00	-		\$ 4.34	
126	17Th St. & N. Hartford St	Island	U	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34	
127	Key Blvd & Highland St	7 Corner Areas	U	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34	
128	Edgewood St & N. Franklin St	Island	U	7-14	23	Weeks	\$ 4.00			\$ 4.34	
129	Danville & Franklin St	Four Islands @ Intersection	U	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34	\$ 99.82
130	Clarendon Blvd - Adam St To Danville St Mccoy Park - N Vetch St & North	Vacant Lot, U-Strips And Right Of Ways	U	7-14	23	Weeks	\$ 22.00	\$ 506.00		\$ 23.87	\$ 549.01
132	20Th St	All Areas Except The Drainage Basin	Р	7-14	23	Weeks	\$ 34.00	\$ 782.00		\$ 36.89	s 848.47
7.500	Key Blvd. Garden Plots	Open Area On 19Th St. Side	P	7-14	23	Weeks	\$ 4.00	\$ 92.00			\$ 99.82
137	Lee Highway - Nash St To Lynn St	Islands Adjacent To Gateway Park	P	7-14	23	Weeks	\$ 20.00			\$ 4.34 \$ 21.70	
140	Gateway Park - 1300 Lee Highway	All Grass Panels	P	7-14	23	Weeks	\$ 90.00	\$ 2,070.00		s 97.65	
	Potomac Tower Park 1955 N. Lynn St	Adj. To Parkway Entrance Ramp	-	7-14	23	Weeks	\$ 90.00	\$ 2,0/0.00		3,3	
141	Child Care Center -1915 N. Uhle St @ Lee Hwy	Building Perimeter, Parking Lot, Inside And Outside Fenced Areas		7-14		Weeks	\$ 12.00 \$ 4.00			\$ 13.02 \$ 4.34	\$ 299.46 \$ 99.82
		All Areas And Adj. Street Islands,								,,,,	
145	Fire Station # 10 - 1559 Wilson Blvd	Mechanical edging along entrance way	-	7-14	23	Weeks	\$ 8.00	\$ 184.00		\$ 8.68	\$ 199.64
147	Argus House - 1527 Clarendon Blvd. Kent St Vacant Lot - South Of 19Th St	Small Picnic Area At Rear Of Building Lot At Beginning Of Ramp Buildings On 3 Sides		7-14	23	Weeks	\$ 5.00 \$ 7.00			\$ 5.43 \$ 7.60	
150	Kent & 19Th Street	Triangle Island	P	7-14	23	Weeks	\$ 5.00	\$ 115.00		\$ 5.43	\$ 124.78
151	Wilson Blvd - Lynn St To Ridge Road	Island	P	7-14	23	Weeks	\$ 6.00			\$ 6.51	
153	Key School - 2300 Key Blvd	All Areas Except Inside Building Sidewalks And Parking Lots		7-14	23	Weeks	s 18.00			\$ 19.53	
154	Key Boulevard - At N. Bryan St		U	7-14	23	Weeks	\$ 5.00			s 5.43	\$ 124.78
155	Rhodes & Clarendon Blvd.	Street Islands	U	7-14	23	Weeks	\$ 12.00	\$ 276.00		\$ 13.02	
	Fairfax Drive House 1727 E. Of Pierce St	Mow Front And Rear Area And Perimeters		7-14	23	Weeks	\$ 9.00	\$ 207.00		\$ 9.77	\$ 224.60
158	Hillside Park - 1601 N. Pierce Street	All Areas Including Perimeters To All Streets	Р	7-14	23	Weeks	\$ 25.00	s 575.00		s 27.13	s 623.88
161	Dark Star Park - Ft Myer Dr @ Fairfax Drive	Island Areas With Balls	P	7-14	23	Weeks	\$ 18.00	\$ 414.00		\$ 19.53	\$ 449.19
162	Meade St. Park - 1550 N. Meade St.	Sw Corner Island At Rt.50 To Service Rd.	Р	7-14	23	Weeks	\$ 22.00			\$ 23.87	erant erantentalluranduranduran
	Clarendon Park - Wilson Blvd & Highland St	All Turf Areas		7-14	23	Weeks	\$ 25.00			\$ 27.13	
164	Rt. 50 East Entryway	Islands	U	7-14	23	Weeks	\$ 5.00			\$ 5.43	
169	Courthouse Building - 15Th St & Courthouse Rd	All Areas: Around Building, Utility Strips & Interior Courtyard	0	7-14	23	Weeks	\$ 25.00			\$ 27.13	
172	Ft Myer Heights Park - 1400 N Ft Myer Dr	South Of Rt. 50 Adj. To Apts.	Р	7-14	23	Weeks	\$ 35.00	\$ 805.00		s 37.98	s 873.43
175	Meade St South @ S 14Th St	Island Adj. To Iwo Jima Memorial	U	7-14	23	Weeks	\$ 5.00	\$ 115.00		\$ 5.43	\$ 124.78
176	Clarenford Station Park - 1300 N. Vermont St.	From G. Mason Drive Behind Motel To Playground At Vermont St	Р	7-14	23	Weeks	\$ 130.00	\$ 2,990.00		\$ 141.05	

							Contract Price	until 6/30/2022	Contra	ct Renewal Price	effective 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months	FY23 Annual Mowing Price
	Fairfax Drive - Wilson Blvd. To Glebe						20 1000000			No. 10 Property access	
	Rd.	All Islands	-	7-14	23	Weeks	\$ 20.00			\$ 21.70	\$ 499.10
	Wilson Blvd & Fairfax Drive	Mowing At Ls Maintenance Areas	_	7-14	23	Weeks	\$ 6.00	\$ 138.00		\$ 6.51	s 149.73
	Glebe Rd & Fairfax Drive	10 Street Islands	U	7-14	23	Weeks	\$ 18.00	\$ 414.00		\$ 19.53	\$ 449.19
	W & L High School - 1300 N. Quincy St	All Areas Except Inside Building Sidewalks And Parking Lots		7-14	23	Weeks	\$ 320.00	\$ 7,360,00		\$ 347.20	200560
	Aps Education Center-1426 N. Quincy	Outside Perimeter Of Parking Lot & 15	3	/-14	23	vveeks	\$ 320.00	\$ 7,360.00		\$ 347.20	\$ 7,985.60
	St.	St. Utility Strip	5	7-14	23	Weeks	\$ 50.00	\$ 1,150.00		\$ 54.25	s 1,247.75
103	51.	Washington Blvd To Lee Hwy. All Public	Ť	1 24	2.5	TTCCRS	30.00	2,230.00		34.23	2/24/-/3
186	Kirkwood Rd - Islands & Open Areas	Open Spaces Both Sides	U	7-14	23	Weeks	\$ 196.00	\$ 4,508.00		\$ 212.66	s 4,891.18
	13Th Street -Jackson To Harrtford St	Row Easements	U	7-14	23	Weeks	\$ 16.00	\$ 368.00		s 17.36	\$ 399.28
191	Fairfax Drive - Danville To Barton St	Row Easements Both Sides	U	7-14	23	Weeks	\$ 16.00	\$ 368.00		s 17.36	\$ 399.28
	Utility Strip In Front Of 1222 N.				1						
192	Cleveland St	Row Easement	U	7-14	23	Weeks	\$ 5.00	\$ 115.00		\$ 5.43	s 124.78
		Utility Strip & Area Surrounded By Brick									****
193	Clarendon Blvd. @ Danville St.	Paver Walkway	U	7-14	23	Weeks	\$ 5.00	\$ 115.00		\$ 5.43	\$ 124.78
194	11Th & Danville St. Park	Open Lot Along 11Th St. From Danville To Fillmore St.	P	7-14	23	Weeks	s 50.00	s 1,150.00		s 54.25	s 1,247.75
196	Central Library - 1015 N. Quincy St.	All Areas, Parking Lots, U-Strips, Adjacent to Tennis Courts, Mechanical Edging along entrance way	L	7-14	23	Weeks	\$ 45.00	\$ 1,035.00		s 48.83	s 1,122.98
197	Quincy Park - 1021 N. Quincy St	Playground, Tennis Courts, Picnic Area, U-Strips	Р	7-14	23	Weeks	\$ 200.00	s 4,600.00		\$ 217.00	s 4,991.00
198	Washington Blvd & N Quincy St	Islands	U	7-14	23	Weeks	\$ 6.00	\$ 138.00		s 6.51	s 149.73
199	Kenmore St - 1919 @ Wilson Blvd	932	U	7-14	23	Weeks	\$ 6.00	\$ 138.00		\$ 6.51	s 149.73
202	Fire Station #4 - 3121 N. 10Th St.	All Areas And Adj. Street Islands, Mechanical edging along entrance way	F	7-14	23	Weeks	s 6.00	\$ 138.00		\$ 6.51	\$ 149.73
203	Clarendon House - 3141 N. 10Th St.	All Areas And Adj. Street Islands	<u> </u>	7-14	23	Weeks	\$ 12.00	\$ 276.00		\$ 13.02	s 299.46
		iviedians/oitility islands wilson bivd to	-			-					-33-1-
0.525.000		Wash Blvd & East & West Ramp Of Rt.									
204	10Th St - Wilson Blvd To Rt. 50	50	U	7-14	23	Weeks	\$ 96.00	\$ 2,208.00		\$ 104.16	\$ 2,395.68
	Herselle Milliken Park 820 N. Lincoln	All Areas Between House And Store Building	P	7-14	23	Weeks	\$ 20.00				
205	St. Maury Art Center - 3550 N. Wilson		P	/-14	23	weeks	\$ 20.00	\$ 460.00		\$ 21.70	\$ 499.10
206	Blvd	All Areas: Curbs, Sculpture Garden, Playground, Fence Edges	P	7-14	23	Weeks	\$ 75.00	\$ 1,725.00		\$ 81.38	s 1,871.63
207	Oakland Park 3701 Wilson Blvd.	All Areas	-	7-14	23	Weeks	\$ 50.00	\$ 1,150.00		\$ 54.25	\$ 1,0/1.03 \$ 1,247.75
	MANAGEMENT AND A STREET OF THE	BermudaGrass	P	7-12	23	Weeks	\$ 150.00			\$ 162.75	s 3,743.25
208	Zit kala-Sa Park - 3011 7th St N	Regular grass mowing	P	7-13	23	Weeks	\$ 200.00	\$ 4,600.00		\$ 217.00	\$ 4,991.00
209	Mosaic Park - 544 N Pollard st	All areas including adjacent utility strips		7-14	23	Weeks	\$ 25.00	s 575.00		\$ 27.13	s 623.88
	7Th. Street - Nelson St To Oakland St	and a cos manang adjacent atmey strips	<u> </u>	7-14	23	Weeks	\$ 8.00	\$ 184.00		s 8.68	s 199.64
	6Th St & Monroe St	Street Island	-	7-14	23	Weeks	\$ 4.00			\$ 4.34	s 99.82
	4Th St & Fillmore St 300 Blk Of						4.00	52.00		4-54	33.02
	Filmore		U	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34	\$ 99.82
218	Rocky Run Park 1200 Barton St	All Areas	Р	7-14	23	Weeks	\$ 150.00	\$ 3,450.00		s 162.75	\$ 3,743.25

							Contract Price	until 6/30/2022	Contra	ct Renewal Pric	e effec	tive 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months	Anr	FY23 nual Mowing Price
		Between Gardens & Street And Adj.										
221	10Th & Barton St Garden Area	Areas	P	7-14	23	Weeks	\$ 40.00	\$ 920.00		\$ 43.40	\$	998.20
	Washington Blvd - Highland St To Rt.											
223	50	All Island And Utility Some Utility Strips	U	7-14	23	Weeks	\$ 120.00	\$ 2,760.00		\$ 130.20	\$	2,994.60
	Oakland Street Mini Park 122 S	South Of N 2Nd St And Oakland St										
	Oakland St	Intersection	-	7-14	23	Weeks	\$ 5.00	\$ 115.00		\$ 5.43	\$	124.78
225	St	Washington Blvd. North To Fillmore St.	P	7-14	23	Weeks	\$ 110.00	\$ 2,530.00		\$ 119.35	5	2,745.05
	Long Branch School - 33 N. Fillmore	All Areas Except Inside Building				22						
226	St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 50.00	\$ 1,150.00		\$ 54.25	5	1,247.75
228	N. Barton & Bryan St.	Median At Intersection	U	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34	s	99.82
	011770700000000000000000000000000000000	Utility Strips Between N Glebe Rd And	U		50000							
229	N. Randolph Street	Wilson Blvd.		7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34		99.82
		Median At The Intersection Of N. 16Th	U		10700	20000000000	- Vess	25000000		100		
230	N. 16Th Street & Custis Rd.	& Custis Rd.		7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34	_	99.82
231	Glebe & Randolph Park		p	7-14	23	Weeks	\$ 58.00	\$ 1,334.00		\$ 62.93	\$	1,447.39
		Utility Strips Both Sides Of Street	U									
232	N. Monroe St.	Between I-66 & N. 17Th St.		7-14	23	Weeks	\$ 4.00			\$ 4.34	_	99.82
233	Sunburst Triangle	Parcel Of Land At Rt.50 & Fairfax Drive	-	7-14	23	Weeks	\$ 25.00	\$ 575.00		\$ 27.13	100	623.88
234	Rt 50 East-Service Road	Utility Strip From N. Queen To Rolfe St.	U	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34		99.82
		Median At N. Farifax Dr. & Washington	U									
235	Petco-N. Fairfax Dr.	Blvd.		7-14	23	Weeks	\$ 6.00	\$ 138.00		s 6.51	. \$	149.73
		Utility Strip Between N. 11Th & 12Th	U	_							1	
	N. Barton St.	St. (West Side Of St.)	-	7-14	23	Weeks	- 400			\$ 4.34		99.82
238	N. Jackson St. & Rt. 50	Area Surrounding Foot Bridge	P	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34		99.82
239	Fire Station #3-4100 Old Dominion Dr	All Areas, Parking Lots, U-Strips, Adjacent Park Area, Mechanical Edging along entrance way	F	7-14	23	Weeks	s 6.00	s 138.00		s 6.51	s	149.73
240	N. Woodstock & 20Th Rd. N	Median At Intersection	11	7-14	23	Weeks	\$ 4.00				5	99.82
240							-			7.5		
241	Vacation Lane & 25Th St N.	Row At Corner Of Vacation & 25Th St N	U	7-14	23	Weeks	-	\$ 92.00		\$ 4.34	_	99.82
242	Pershing Drive	Median From Rt. 50 To N. Barton St.	-	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34		99.82
244	Johnson St N- 1504	1504	_	7-14	23	Weeks	\$ 8.00	\$ 184.00		\$ 8.68	S	199.64
		Utility Strips Between Wilson & 16Th Rd	U				20 (Same)			500 F 500 600 600 600 600 600 600 600 600 600		2000
245	N Oak St	N All Areas & IVy Perimeter Of All	-	7-14	23	Weeks	\$ 4.00	\$ 92.00		\$ 4.34		99.82
246	The Buck Property-N Quincy & 14Th St		DES	7-14	23	Weeks	\$ 125.00	\$ 2,875.00		\$ 135.63	s	3,119.38
		3 Medians & Utility Strips From Glebe										
247	Wilson Blvd- Ballston	to just past Stuart St.	U	7-14	23	Weeks	\$ 3.00	\$ 69.00		\$ 3.26	5	74.87
250	1617 N Garfield St	House	U	7-14	23	Weeks	\$ 3.00	\$ 69.00		\$ 3.26		74.87
251	Roberts Lane & N Lincoln St	Utility Strip From Lincoln To Monroe St	-	7-14	23	Weeks	\$ 3.00	-		\$ 3.26	_	74.87
252	Clarendon Blvd & Veitch St	Median In Fron Of 2100 Clarendon Blvd.	-	7-14	23	Weeks	\$ 3.00			\$ 3.26	_	74.87
253	Wilson Blvd & N Stuart St		-	7-14	23	Weeks	\$ 75.00	\$ 1,725.00		s 81.38	_	1,871.63
254	N Quebec St & LorcomLn		-	7-14	23	Weeks	\$ 75.00	\$ 1,725.00		\$ 81.38		1,871.63
			DES				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
275	Donaldson Run - 2929 Military Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$ 206.15	5	3,298.40

							Contract Price	until 6/30/2022	Contra	ct Renewal Pric	e effe	ective 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months		FY23 nnual Mowing Price
276	Dover Run - 2801 N Quebec St.	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$ 206.1	5 \$	3,298.40
277	Gulf Run - 3611 Military Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$ 206.1	5 \$	3,298.40
278	Kirkwood Rd - 1616 Kirkwood Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$ 206.1	5 \$	3,298.40
279	Windy Run - 2500 N. Kenmore	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$ 206.1	5 \$	3,298.40
280	Riverwood - 2770 N Nelson St	Lift Station	DES	14	16	Weeks	\$ 135.00	\$ 2,160.00		\$ 146.4	8 \$	2,343.60
281	Marcey Creek - 2685 N Marcey Rd	Lift Station	DES	14	16	Weeks	\$ 135.00	\$ 2,160.00		\$ 146.4	8 \$	2,343.60
282	River Estates - 3533 36th Rd N	Lift Station	DES	14	16	Weeks	\$ 135.00	\$ 2,160.00		\$ 146.4	8 \$	2,343.60
283	River Crest - 3560 36th Rd N	Lift Station	DES	14	16	Weeks	\$ 135.00	s 2,160.00		s 146.4	8 \$	2,343.60
284	Palasades - 2141 Scott ST	Lift Station	DES	14	16	Weeks	\$ 165.00	\$ 2,640.00		\$ 179.0	3 \$	2,864.40
	Lui	mp Sum Total For 7- 14 day Cycle	_					\$ 172,070.00			\$	186,695.95
	Randolph St - 23Rd St To Lorcom										+	
3	Lane	Row easement	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.4	3 \$	37.98
	41St - Glebe Rd To Dead End Both										T	
4	Sides	Row easements Also Under Parkway	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.4	3 \$	37.98
5	41St Street - Off Richmond St	At Dead End Of 41St St	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
	Richmond St - Old Glebe Rd To 41St											127
6	St	East Row easement	U	30	7	Months	\$ 4.00	\$ 28.00		\$ 4.3	4 \$	30.38
	Ft Ethan Allen Park - 4311 Old Glebe		0		7202	1000 1000						92
7	Rd	House Grounds Adj. To Glebe Park	P	30	7	Months	-				4 \$	30.38
10	Monroe St - 3655 To 3671	Vacant Lot	U	30	7	Months					5 \$	22.79
11	Dittmar St - 4746 To Glebe Road	South Right Of Way easement	U	30	7	Months				Total 1877	4 \$	30.38
14	37Th St To End Of Randolph St	Right Of Way Easement Both Sides	U	30	7	Months	4			\$ 4.3		30.38
16	Military Rd - 3730 To 37Th St	Row Easement	U	30	7	Months	\$ 7.00	\$ 49.00		\$ 7.6	5	53.17
17	Kenmore St - 3445	Bank Across From And In Front Of Location	U	30	7	Months	s 4.00	\$ 28.00		\$ 4.3	4 \$	30.38
18	Roberts Lane - 3525 To 3469	East And North Of Monroe St	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
	Vermont St - House At 3725 To										\top	
20	Ditmar St	U-Strip	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
21	Dittmar St - 4618 @ Wakefield St	South Right Of Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
24	36Th St. & Woodstock St 3600 Block	Row Easement	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
29	31St St - Military Rd To Quincy St	U-Strips Both Sides	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
	Deadend N. Quebec St. Off N.	Utility Strip & 4' Back Of Walkway From										
31	Randolph St.	2827 To 2810	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
32	32Nd St & Abingdon St	Across From 3139 Abingdon St	U	30	7	Months	\$ 21.00	\$ 147.00		\$ 22.7	9 \$	159.50
34	Upshur Street - South Of 26Th	East Side	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.2	5 \$	22.79
	Military Rd - 2707 To Beachwood											
36	Circle	Across From Taylor Park	U	30	7	Months	\$ 16.00	\$ 112.00		\$ 17.3	5 \$	121.52
37	26Th Street - 4514 To 4555	North Right Of Way Easement	U	30	7	Months		\$ 56.00		\$ 8.6	3 \$	60.76
39	Utah St - Vacation Lane To Deadend	Row Easement	U	30	7	Months	\$ 11.00	\$ 77.00		\$ 11.9	4 5	83.55

							Contract Price	until 6/30/2022	Contra	ct Renewal Price	effective 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months	FY23 Annual Mowing Price
43	26Th Street - 4624 To 4712	Glebe & 26Th St	U	30	7	Months	\$ 17.00	\$ 119.00		\$ 18.45	\$ 129.12
45	Old Dominion Drive - 25Th St To 26Th St	Right Of Way Easement Both Sides	U	30	7	Months	s 6.00	\$ 42.00		\$ 6.51	\$ 45.57
47	26Th Street Bike Trail-Yorktown Blvd To Vermont St	6 Ft Back On Each Side Of Trail	Р	30	7	Months	1	\$ 280.00		\$ 43.40	s 303.80
49	Utah St - 2420 To Taylor St	Row Easements	U	30	7	Months		\$ 21.00		\$ 3.26	\$ 22.79
50	25Th St - Richmond St To Vacant Lot	Large Open Areas	U	30	7	Months		\$ 112.00		\$ 17.36	\$ 121.52
51	Richmond St - 2306 To Deadend	Both Sides Row Easements	U	30	7	Months				\$ 4.34	
52	25Th Rd & Old Dominion	Sw Corner Lot	U	30	7	Months		\$ 21.00		\$ 3.26	
53	Old Dominion Dr 25Th To 26Th St	Vacant Lot East Side Adj. To Salt Tank	U	30	7	Months		\$ 168.00		\$ 26.04	
54	23Rd St - At Old Dominion Drive	Northwest Corner Lot	U	30	7	Months		\$ 21.00		\$ 3.26	
56	Randolph St - 2756 To 2736	Row Easement	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	\$ 22.79
57	Vacation Lane & Taylor St.	Triangular Corner Plot in 2300 Blk. Vacation Ln	U	30	7	Months	\$ 28.00	s 196.00		s 30.38	\$ 212.66
58	Randolph St - 4101 To 4020	Both Sides Row Easements	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.43	\$ 37.98
59	Rd	U- Strips	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.43	\$ 37.98
64	24Th St & Fillmore St.	Roadside From Drive On 24Th To Drive On Fillmore St.	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.43	\$ 37.98
65	Edgewood St 2440 To 24Th St	North Right Of Way Easement	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.43	\$ 37.98
70	Scott St - 21St Rd To Dead End		U	30	7	Months	\$ 4.00	\$ 28.00		\$ 4.34	\$ 30.38
71	Rolfe St - 2126 To Dead End	West Row Easement	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	
72	Oak St - 22Nd St To Lee Highway	Also Behind Barrier East Right Of Way Easement	U	30	7	Months				\$ 5.43	
73	23Rd St & Albemarle St	Across From 4716 N Ablemarle St	U	30	7	Months		\$ 70.00		\$ 10.85	
75	Upton St. @ Old Dominion Dr.	West Side Of Upton From Old Dominion Dr. End Of Fence	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	
77	Strafford Park Hillside	Steep Bank Around Upper Field	Р	30	7	Months	\$ 35.00	\$ 245.00		\$ 37.98	\$ 265.83
83	2100 Pollard St.	Power Box Area Next To 2114 Pollard St.	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	\$ 22.79
84	Nelson Street - 21St To 22Nd Street	Right Of Way Areas	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	\$ 22.79
85	Quincy St @ 2244 To Quebec St @ 4016	Right Of Way Areas	U	30	7	Months	\$ 6.00	\$ 42.00		s 6.51	\$ 45.57
88	Kenmore St @ 23Rd Rd	Nw Side Utility Strip	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	
89	Fillmore St - 3442 To 2342 (@ Lorcom Lane)	West Right Of Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3.26	
90	Filmore St & Custis St To Custis Trail	Thrifton Hill Footpath	U	30	7	Months		\$ 63.00		\$ 9.77	-
91	Lorcom Lane - Edgewood To Parkway	N Side Cut To Sign, S Side Cut To Pkway	-	30	7	Months				\$ 8.68	
	Sw Corner Lorcom Lane At Edgewood	Roadway Nub To Include Area Behind	Ť	-	-			, jeiee			
92	St.	Leyland Cypress Trees	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.43	\$ 37.98
	Invine St. And 22Nd St	To Dead End At Old Dominion & Cul-De- Sac		20	7	Month		. ,			
93	Irving St. And 22Nd St.		U	30	7	Months		\$ 42.00		\$ 6.51	
96	20Th Rd - 3219 To Johnson St	U-Strips Both Sides	U	30	7	Months		\$ 112.00		\$ 17.36	
97	Kenmore St - 2121 To Lee Highway	Both Sides	_	30	7	Months				\$ 13.02	
99	Harvard St & 20Th St	U-Strip To 3121 Harvard St	U			Months				\$ 3.26	
102	Bryan St - 18Th St To Lee Highway	Both Sides	U	30	7	Months	\$ 5.00	\$ 35.00		\$ 5.43	\$ 37.98

							Contract Price	until 6/30/2022	Contra	ct Renewal P	rice	effective 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months		FY23 Annual Mowing Price
103	Calvert St - 1995 To Lee Hwy	Both Sides To Dead End East U-Strip	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3	.26	\$ 22.7
104	Lee Highway-Cleveland To Calvert St	Service Rd Island	U	30	7	Months	\$ 23.00	s 161.00		\$ 24	.96	s 174.6
106	Nelson St. Alley	Alley Behind 1702 - 1710 Nelson St. To 18Th St.	U	30	7	Months	\$ 3.00	\$ 21.00		s 3	.26	\$ 22.7
107	18Th St, - 3400 Block	Right Of Way North Side	U	30	7	Months	\$ 4.00	\$ 28.00		s 4	-34	s 30.3
108	Johnson St - 1909 To 18Th St	South Right Of Way Easement	U	30	7	Months	\$ 9.00	s 63.00		\$ 9	9.77	s 68.3
110	1700 Blk. Adams St. Alley	Alley Behind Houses Between Key Blvd & 18Th St	U	30	7	Months	\$ 8.00	s 56.00		s 8	.68	s 60.7
111	1700 Blk. Barton St. Alley	Alley Behind Houses Between Key Blvd & 18Th St	U	30	7	Months	s 8.00	s 56.00		s 8	.68	s 60.7
112	Highland St. Alley 1800 Blk.	Alley Behind Houses Between Edgewood St. & Danville St.		30	7	Months	s 6.00	\$ 42.00		s 6	.51	\$ 45.5
117	17Th St. @ Pollard St.	Utility Strip From 3811 To Deadend Of 17Th St.	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3	.26	\$ 22.7
119	15Th St - Quincy St To Taylor St	South U-Strips All Areas Adj. To I-66	U	30	7	Months	\$ 14.00	\$ 98.00		\$ 15	.19	s 106.3
120	Nw Corner Stafford St. & 15Th St.	Nw Corner Lot Between House #4207 15Th St. And Stafford St.	U	30	7	Months	\$ 7.00	s 49.00		s 7	.60	s 53.1
121	15Th Street - Quincy St To Rear Home Lot	Cut Steep Bank	U	30	7	Months	s 9.00	s 63.00		s 9	9-77	s 68.3
131	Cleveland St. Utility Strip	West Side Of Street Between Clarendon & Wilson Blvd.	_	30	7	Months	\$ 3.00	\$ 21.00		s 3	.26	\$ 22.7
133	21St St - Courthouse Rd To Vietch St	U-Strips Both Sides	U	30	7	Months	\$ 4.00	\$ 28.00		\$ 4	-34	\$ 30.3
134	Quinn St - 21St Rd To 21 St	Right Of Ways And Island	U	30	7	Months	\$ 10.00	\$ 70.00			.85	s 75-9
135	20Th St & N. Troy St	Along North Side Of Lee Highway	U	30	7	Months	\$ 63.00	\$ 441.00		\$ 68	.36	s 478.4
136	Quinn St - Key Blvd To Lee Highway	East Right Of Way Easement	U	30	7	Months	\$ 23.00	\$ 161.00		\$ 24	.96	s 174.6
142	Nash St - 20Th St To Key Blvd	West Right Of Way Easement U-Strips From Lee Highway To I-66 Both	U	30	7	Months	\$ 5.00	\$ 35.00		s 5	.43	\$ 37.9
144	Vietch St. @ Lee Highway	Sides	U	30	7	Months	\$ 11.00	\$ 77.00		\$ 11	.94	s 83.5
148	Key Blvd - Oak St To Ode St.	West Side U-Strip	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3	.26	\$ 22.7
152	17Th Street Row @ Lynn St.	Hillside & Island Both Sides Of Overpass Roadside From Rhodes St To & Down	U	30	7	Months	\$ 3.00	\$ 21.00		\$ 3	.26	\$ 22.7
156	16Th St. & Quinn St.	Quinn St To 1St Dr	U	30	7	Months	\$ 3.00	\$ 21.00		s 3	.26	\$ 22.7
159	16Th St - 1701 To Quinn St	U Strip North Side	U	30	7	Months	\$ 3.00	\$ 21.00			.26	\$ 22.7
160	Fairfax Dr. @ Ft. Myer Dr.	Parking Meter Area South Side Of Fairfax Dr.	U	30	7	Months	s 3.00	\$ 21.00			.26	\$ 22.7
167	14Th St. & Adams St. Lot	Se Corner Lot To Include Walkway On 14Th Street	P	30	7	Months					.17	\$ 372.1
170	Rolfe Street - 1307 To 1321	East Side Right Of Way Easement	U	30	7	Months	- 12				-34	\$ 30.3
171	15Th St & Scott St	Corner Vacant Lot		30	7	Months	-			-	.26	- Tomobe
173	Quinn St - 1230 To 1240	U-Strip South Of Rt. 50, West Of Queen And Quinn St		30	7	Months		15.			.26	51 103
	Rhodes & 14Th St Bridge Abutments	Both Sides Of Rt. 50 And Sw Corner Of Queens St		30	7	Months		100			-43	
-/4	modes a 14111 of bridge Abutilletits	daccino at		30	,		- 5.00	35.00		- 5	***3	3/-9

							Contract Price	unt	til 6/30/2022	Contra	ct Ren	ewal Price	effect	ive 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	,	Annual Mowing Price	March 2022 CPI-U 8.5%	W	rice per eeks or Months	Ann	FY23 ual Mowing Price
182	W&L High School-Under Stadium Bleachers	Also Outside Stafford Street Fence	s	30	7	Months	s 56.00	s	392.00		s	60.76	s	425.32
185	Lincoln St. @ 12Th Rd.	Utility Strip On Lincoln Next To House At 3444 12Th Rd.	U	30	7	Months	\$ 3.00	s	21.00		s	3.26	s	22.79
188	13Th Street - Johnson To Jackson St	Both Sides Row Easements	U	30	7	Months	\$ 4.00	s	28.00		\$	4.34	s	30.38
189	Johnson St @ Washington Blvd	100' Past 13Th St Both Sides Right Of Way Easement	U	30	7	Months	\$ 3.00	s	21.00		s	3.26	s	22.79
195	11Th St Roadside	Northside Of St From Danville St To Danville St	U	30	7	Months	\$ 3.00	s	21.00		s	3.26	s	22.79
200	Blvd	West Side Utility Strip And Center Island	U	30	7	Months	\$ 3.00	s	21.00		\$	3.26	\$	22.79
201	Fairfax Dr. Alley	Alley Between 3440 & 3444 Fairfax Dr.	U	30	7	Months		_	21.00		s	3.26	s	22.79
215	500 Block N. Irving St.	Utlity Strip On Nw Corner At 5Th St.	U	30	7	Months		_	21.00		s	3.26	s	22.79
216	Highland St - 414 To Pershing Dr	West Right Of Way Easement	U	30	7	Months	\$ 3.00	s	21.00		s	3.26	s	22.79
		Row At Parking Meters Across From												
219	Fairfax Dr Rt.50 To Barton St.	Rocky Run	U	30	7	Months	\$ 3.00	s	21.00		s	3.26	s	22.79
	Fairfax Dr @ Rt 50-Rolf St To	Row Easements & Embankment @												
220	Courthouse Rd	Courthouse Rd	U	30	7	Months	\$ 21.00	s	147.00		s	22.79	s	159.50
222	4Th St. Roadside	Roadside Adjacent To 400 Barton St.	U	30	7	Months	\$ 3.00	s	21.00		\$	3.26	s	22.79
227	Bedford St. Alley	Behind Houses On Wash Blvd. From Rt. 50 To Brookside Dr.	U	30	7	Months		s	77.00		s	11.94	s	83.55
	N 17Th St3400 Blk Dead End	Fire Hydrant & Guardrail		30	7	Months		_	21.00		s	3.26	5	22.79
	Li	ump Sum Total For 30-day Cycle		-			3.00	\$	5,922.00		-	5.20	\$	6,425.37
	There Are N	lo Designated Leaf Removal/Collection	Loca	ations	For Thi	s Quadra	nt							
Total	For Northeast Mowing and	Related Services						s	247,470.00				\$	268,504.95
										Contract R				
					Con	tract I	Jnit Prices			effectiv	/e 7/1/2	2022		
		Mowing per Acre, Athletic Field-Bern	nuda	Gras			s 98.00	Г		8.5%		106.33		
		Mowing per Acre, Athletic Field-Cool				2.000	s 88.00			0.570	s	95.48		
		3. Mowing Per Acre					s 78.00				s	84.63		
		4. Grass Clipping Removal Per Acre					\$ 150.00				5	162.75		
		5. Fertilization per Acre					\$ 300.00				\$	325.50		
		6. Weed Control per Acre					\$ 300.00	-			\$	325.50		
		7. Overseeding per Acre					\$ 600.00	-			\$	651.00		
		Removal per Acre Mechanical Edging per linear Foot					\$ 500.00				\$	542.50		
		9. Mechanical Edging per linear Foot					\$ 0.25	_			\$	0.27	l	

204 205	Location	Description			and the second		74.0	and the second second		B. Branch annual	Price per		
			Type	Freq.	Estimated	Weeks or Months	Pric	e per Week or Month	Annual Mowing Price	March 2022	The second second		FY23
		Athletic Field - Rectangle - Bermuda	-		Quantity	Wiontris		Month	DELEGICATION AND AND AND AND AND AND AND AND AND AN	CPI-U	Weeks or	Annual	Mowing Price
	Benamin Banneker Park	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	300.00	\$ 6,600.00	8.50%	\$ 325.50	s	7,161.00
205	bendinin banneker Fark	Athletic Field - Rectangle - Bermuda	-	Ar	22	WCCK3	,	300.00	\$ 0,000.00	0.5070	\$ 325.50	,	/,101.00
	Bluemont Junction Park	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	s	320.00	\$ 7,040.00		\$ 347.20	s	7,638.40
	Didemone sunction Fark	Athletic Field - Rectangle - Bermuda		- Ai		WEEKS	-	320.00	7,040.00		34/.20	-	7,030.40
210	Charles A. Stewart Park	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	s	200.00	\$ 4,400.00		\$ 217.00	s	4,774.00
220			<u> </u>	7.0		Treens	-	200.00	4,400.00		22,.00	-	4,774.00
212	Blvd	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	220.00	\$ 4,840.00		\$ 238.70	s	5,251.40
		Athletic Field - Rectangle - Bermuda				1100	-	220.00	4/040.00		230.70	1	3/-3-40
213	Glebe School - 1700 N. Glebe Rd	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	180.00	\$ 3,960.00		\$ 195.30	s	4,296.60
5	Greenbrier Park /Yorktown School-	Athletic Field #1 - Diamond - Bermuda				1100	-		3/300.00		35.50	-	41-3
214	2800 Greenbrier St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	s	175.00	\$ 3,850.00		\$ 189.88	s	4,177.25
	Greenbrier Park /Yorktown School-	Athletic Field #2 - Diamond - Bermuda	<u> </u>	- 1		1100.00	-	2/3.00	4 3/030.00		- 103.00	1	41-11-3
215	2800 Greenbrier St	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	200.00	\$ 4,400.00		\$ 217.00	s	4,774.00
	Greenbrier Park /Yorktown School-	Athletic Field #3 - Diamond - Bermuda	-			11000	-		4,400.00			1	41/14:00
216	2800 Greenbrier St	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	500.00	\$ 11,000.00		\$ 542.50	s	11,935.00
		Athletic Field - Diamond - Bermuda	Ė			1100	1	Jeenee			342.50	-	/333
217	Highview Park - 1900 N. Cameron St	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	159.00	\$ 3,498.00		\$ 172.52	s	3,795-33
	Madison Manor Park - 1201 N.	Athletic Field - Combo - Bermuda Grass -						-55	3/13				3173333
222	Quantico St	Irrigation - Reel Mower	P	AF	22	Weeks	s	400.00	\$ 8,800.00		\$ 434.00	s	9,548.00
	Powhatan Springs Park 6020 Wilson	Athletic Field - Rectangle - Bermuda						-			131		3134
225	Blvd.	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	225.00	\$ 4,950.00		\$ 244.13	s	5,370.75
	Swanson Middle School - 5800 Wash.	Athletic Field - Rectangle - Bermuda							1133		,,,,,		3/3/-73
226	Blvd	Grass - Irrigation - Reel Mower	P	AF	22	Weeks	s	425.00	\$ 9,350.00		\$ 461.13	\$	10,144.75
	-	Athletic Field #1 - Combo Diamond -							3133				
227	Tuckahoe Park - 2400 N.Svcamore St.	Bermuda Grass - Irrigation - Reel Mower	P	AF	22	Weeks	5	575.00	\$ 12,650.00		\$ 623.88	s	13,725.25
/		Athletic Field - Rectangle - Bermuda	_				1	3/3.00				-	-311-33
231	Westover Park - 1011 N. Kennebec St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	s	180.00	\$ 3,960.00		\$ 195.30	\$	4,296.60
	Williamsburg School - 36Th & N.	Athletic Field - Combo Diamond -							313			-	
227	Harrison St	Bermuda Grass - Irrigation -Reel Mower	P	AF	22	Weeks	s	400.00	\$ 8,800.00		\$ 434.00	s	9,548.00
234						VVEEK3		400.00			\$ 434.00		
	Lump Sum	Total for Athletic Fields with Be	rmu	da Grass					\$ 98,098.00			\$ 1	06,436.33
		Athletic Field #3 - Combo Diamond -											
208	Bluemont Park	Cool Season Grass - Irrigation	Р	AF	31	Weeks	5	120.00	\$ 3,720.00		\$ 130.20	s	4,036.20
		Athletic Field #1 - Diamond - Cool							3,,				
232	Westover Park - 1011 N. Kennebec St		Р	AF	31	Weeks	5	80.00	\$ 2,480.00		\$ 86.80	s	2,690.80
		Athletic Field #2- Diamond - Cool											, ,
233	Westover Park - 1011 N. Kennebec St	Season Grass - Irrigation	Р	AF	31	Weeks	\$	30.00	\$ 930.00		\$ 32.55	\$	1,009.05
	Lump Sum Total for	Athletic Fields with Cool Season	Gra	ass with	Irrigatio	on			\$ 7,130.00			\$	7,736.05

							Co	ntract	Price until	6/30/2022	Contrac	t Renewal P	rice e	ffectiv	e 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimate			ce per Wi		nnual Mowing Price	March 2022 CPI-U 8.5%	Price per Weeks or Months		Annua	FY23 al Mowing Price
	Arlington Traditional School - 850 N.	Athletic Field #1 - Diamond - Cool											140,140,00	100000	
202	George Mason Dr.	Season Grass - No Irrigation	Р	A	F	31	Weeks	\$	65.00	\$ 2,015	.00	\$ 7	0.53	\$	2,186.28
	Arlington Traditional School - 850 N.	Athletic Field #2 - Diamond - Cool	P	١.	.	24		١.							- 00-0
203	George Mason Dr.	Season Grass - No Irrigation	Р	A	F	31	Weeks	\$	65.00	\$ 2,015	.00	\$ 7	0.53	\$	2,186.28
	0	Athletic Field #1 - Diamond - Cool	P	١.	.								•		220000
206	Bluemont Park	Season Grass - No Irrigation	P	A	F	31	Weeks	\$	220.00	\$ 6,820	.00	\$ 23	8.70	\$	7,399.70
2022	BI	Athletic Field #2 - Combo Diamond -	P	١.	_	24		١.	1220100					0.20	
207	Bluemont Park	Cool Season Grass - No Irrigation	Р	A	IF.	31	Weeks	\$	220.00	\$ 6,820	.00	\$ 23	8.70	\$	7,399.70
	Diversion to Device	Athletic Field Aux - Open Grass - Cool	P	١.	F	31	Masks	s					0		
209	Bluemont Park	Season Grass - No Irrigation	P	A	IF.	31	Weeks	-	220.00	\$ 6,820	.00	\$ 23	8.70	\$	7,399.70
	East Falls church Park - 1730 N.	Athletic Field - Open Grass - Cool	P	١.	F	31	Maska								
211	Roosevelt St.	Season Grass - No Irrigation	P	A	ur	31	Weeks	\$	90.00	\$ 2,790	.00	\$ 9	7.65	\$	3,027.15
218	Jamestown Park Back- 3618 N. Dickerson St.	Athletic Field - Combo Rectangle - Cool	P	١.	F	31	Weeks	s				\$ 27			0 0
210		Season Grass - No Irrigation	P	A	AF.	31	weeks	,	250.00	\$ 7,750	.00	\$ 27	1.25	5	8,408.75
	Jamestown Elementary School Front - 37Th & Delaware St	Athletic Field - Combo Diamond - Cool	Р	١.	F	31	Weeks	١.							
219		Season Grass - No Irrigation	P	A	AF .	31	weeks	\$	150.00	\$ 4,650	.00	\$ 16	2.75	\$	5,045.25
220	Lacey Woods Park - George Mason Dr @ Wash, Blvd	Athletic Field - Rectangle - Cool Season	Р		F.	31	Weeks		****						
220		Grass - No Irrigation	P	A	AF.	31	weeks	\$	120.00	\$ 3,720	.00	\$ 13	0.20	\$	4,036.20
	Nottingham School - Ohio St & Little Falls Rd	Athletic Field #1 - Combo Diamond -	P	١.	F	31	Weeks								
223	1.000.700	Cool Season - No Irrigation	P	A	AF.	31	weeks	\$	150.00	\$ 4,650	.00	\$ 16	2.75	\$	5,045.25
615707	Nottingham School - Ohio St & Little	Athletic Field #2 - Combo Diamond -	P	١.	-	24			50000						8272122222
224	Falls Rd	Cool Season - No Irrigation	P	A	F	31	Weeks	\$	150.00	\$ 4,650	.00	\$ 16	2.75	\$	5,045.25
	Walter Reed School - 1644 N McKinley	Athletic Field - Diamond - Cool Season	P	١.	F				7770700	121					
228	Rd	Grass - No Irrigation	P	A	IF.	31	Weeks	s	140.00	\$ 4,340	.00	\$ 15	1.90	\$	4,708.90
	Walter Reed School - 1644 N McKinley	Athletic Field - Lower - Rectangle - Cool		١.	-			١.							
229	Rd	Season Grass - No Irrigation	Р	A	F	31	Weeks	\$	75.00	\$ 2,325	.00	\$ 8	1.38	\$	2,522.63
		Athletic Field - Upper - Rectangle - Cool		١.	.			١.							
230	Rd	Season Grass - No Irrigation	Р	A	F	31	Weeks	\$	120.00	\$ 3,720	.00	\$ 13	0.20	\$	4,036.20
	Woodlawn Park - Buchanan & 14Th	Athletic Field - Rectangle - Cool Season		١.	_					1924 54100000				5000	
235	St Las Castas Las Michael 8 Laviantes	Grass - No Irrigation	Р	A	F	31	Weeks	\$	120.00	\$ 3,720	.00	\$ 13	0.20	\$	4,036.20
		Athletic Field - Diamond - Cool Season	P	١.	_					1020				Sales	
221	St	Grass - No Irrigation	·		F	31	Weeks	\$	42.00	15	_	\$ 1	+5-57	\$	1,412.67
	Lump Sum Total for	Athletic Fields with Cool Season	n Gr	ass -	No Irr	igatio	on	_		\$ 68,107.	00			\$	73,896.10
					_										
	Jamestown Elementary School - 37Th			2222											
1	& Delaware St	Sidewalks And Parking Lots	S	7-	14	23	Weeks	\$	180.00	\$ 4,140	.00	\$ 19	5.30	\$	4,491.90
	Jamestown Park - 3618 N. Dickerson			20.00											
2	St.		Р	_	14	23	Weeks	_	16.00				7.36	\$	399.28
5	36Th & N. Glebe Rd - Street Island		U	7-	14	23	Weeks	\$	16.00	\$ 368	.00	\$:	7.36	\$	399.28
	Edison St & 37Th St - At Dead End Of														
6	N. 37Th St		U	7-	14	23	Weeks	5	16.00	\$ 368	.00	\$:	17.36	\$	399.28
	36Th & Potomac St - 6200 Block Of														
8	36Th St		U	7-	14	23	Weeks	\$	16.00	\$ 368	.00	s :	7.36	\$	399.28

							Cor	tract	Price until	6/30/2022	Contract	Renev	val Price e	ffective	7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated		eks or Prio	e per We Month	ek or Ar	nnual Mowing Price	March 2022 CPI-U 8.5%	Wee	e per eks or nths	Annua	FY23 Mowing Price
	35Th St & Pocomoke - 3500 Block Of					-	T					1			
9	Potomac St		U	7-	14	23	Weeks	\$	16.00	\$ 36	3.00	\$	17.36	\$	399.28
	Minor Hill & Sharp Park-Wimsburg & Powhattan	All Areas Around Tanks & Gardens	P	7-		23		١.							
10	Williamsburg Blvd - Little Falls Rd To	All Islands Including Large Islands At	P	/	14	23	Weeks	\$	51.00	\$ 1,17	3.00	\$	55-34	\$	1,272.71
11	Glebe	Little Falls	U	7-	14	23	Weeks	\$	88.00	\$ 2,02	.00	s	95.48	\$	2,196.04
12	Little Falls Road	Street Median From Williamsburg Blvd. To Nottingham St.	U	7-	14	23	Weeks	s	16.00	\$ 36	3.00	s	17.36	s	399.28
12	Williamsburg School - 36Th & N.	All Areas Except Inside Building	-	-	-	23	VVCCKS	-	10.00	300	,.00	,	1/.30	,	399.20
15	Harrison St	Sidewalks And Parking Lots	s	7-	14	23	Weeks	\$	900.00	\$ 20,700	0.00	5	976.50	s	22,459.50
16	George Mason Dr - Old Dominion To Little Falls		U	7-:	14	23	Weeks	s	16.00	\$ 360	3.00	s	17.36	s	399.28
	John Marshall Dr - Little Falls To				903	1919	1000 10								
19	Williamsburg	Island & West Row easement	U	7-:	-	23	Weeks	s	30.00		0.00	\$	32.55		748.65
21	Yorktown Blvd - Lexington To Edison	Islands	U	7-	14	23	Weeks	\$	16.00	\$ 36	3.00	\$	17.36	\$	399.28
1220	Rock Springs Park - 5000 Little Falls Rd.	Park Goes To Yorktown Blvd @ G.M. Drive All Areas		7-:		23		١.	552/02				000000		10000000
22			р	1-	14	23	Weeks	\$	110.00	\$ 2,53	0.00	\$	119.35	5	2,745.05
22	George Mason Dr - Yorktown Blvd To Route 50	All Islands & Lg. Open Areas At Lee Highway	U	7-	14	23	Weeks	s	200.00	\$ 6,90		s	225.50	s	7,486.50
23	Nottingham School - Ohio St & Little	All Areas Except Inside Building	-	/	14	23	Weeks	,	300.00	\$ 0,90	,,,,,	3	325.50	•	7,486.50
24	Falls Rd	Sidewalks And Parking Lots	s	7-	14	23	Weeks	s	100.00	\$ 2,300		s	108.50	s	2,495.50
24	Chestnut Hills Park - 2723 N Harrison	Backs Up To Greenbriar Stadium To	,	,	4	23	VVCCKS	-	100.00	2,30	7.00	,	100.50	•	2,495.50
25	St	Include Garden Plots	P	7-	14	23	Weeks	s	166.80	\$ 3,83	5.40	5	180.98	5	4,162.49
	Greenbrier Park /Yorktown School-	All Slopes, Adj. U-Strips, Parking Lots,						1		3,-3				-	4,43
26	2800 Greenbrier St	And Fence Lines	P	7-	14	23	Weeks	s	660.00	\$ 15,180	0.00	5	716.10	s	16,470.30
	Yorktown Blvd - Under Old Dominion	Islands And Easements West Side Of													
27	Overpass	Bridge	U	7-	14	23	Weeks	5	16.00	\$ 36	3.00	\$	17.36	\$	399.28
	Birch Cemetery - N.28Th St. &														
28	Sycamore St.	All Areas	P	7-	14	23	Weeks	\$	16.00	\$ 361	3.00	\$	17.36	\$	399.28
	Andrew Ellicot Park - Arizona St,	S. Of Williamsburg Blvd Park And Adj.										0.000		1995	900000000
29	Western Corner	Rows	Р	7-	14	23	Weeks	s	16.00	\$ 36	3.00	\$	17.36	\$	399.28
120	Tuckahoe School - 6550 N. 26Th St, @	All Areas Except Inside Building	s	٠,,		23			52000						
31	Sycamore St	Sidewalks And Parking Lots	2	7-	14	23	Weeks	\$	420.00	\$ 9,66	0.00	\$	455.70	\$	10,481.10
22	Sycamore St - 26Th St To Williamsburg Blvd.	All Islands And Utility Strips & N. Bank @ I-66 Exit Ramp	U	7-	14	23	Weeks	s	00.00			s	07.65	s	22/505
33	Fairfax Drive -From Westmoreland To	Islands , Utility Strip & Row @	0	/	14	23	weeks	,	90.00	\$ 2,07	5.00	,	97.65	,	2,245.95
34	Little Falls	Winchester St.	U	7-	14	23	Weeks	s	16.00	\$ 36	3.00	s	17.36	\$	399.28
34		All Areas Fences, Rear Areas, Curbs,	-	,-,	-	23	VVCCKS	-	10.00	301	5.00	•	1/.30	•	399.20
37	St & 24Th	Playground,	P	7-	14	23	Weeks	s	160.00	\$ 3,68	0.00	\$	173.60	s	3,992.80
31		All Areas From Lee Highway To 26Th St,	_				- ITCCAS	1	200.00	3,000		1	-, 5.50	-	31332.00
38	Tuckahoe Park - 2400 N.Sycamore St.		P	7-	14	23	Weeks	\$	300.00	\$ 6,90	0.00	\$	325.50	\$	7,486.50
41	St		P	7-		23	Weeks	-	8.00	,,,,	.00	\$	8.68		199.64
		All Areas Including Outside Fence Lines													
	Lee Center - Lee Highway & Lexington	And Adj. To Streets, Mechanical Edging													
42	St	along Entry way	P	7-	14	23	Weeks	\$	60.00	\$ 1,38	0.00	\$	65.10	\$	1,497.30

							Co	ntract	Price until	6/30/2	1022	Contract	Renev	val Price e	ffective	7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Week		ce per W Monti		nnual Mov	wing Price	March 2022 CPI-U 8.5%	Wee	e per ks or nths	Annua	FY23 I Mowing Price
	John Marshall Greenway - 2200 N.	N 20Th To Lee Hwy And Field At Lee										1				
44	John Marshall Dr.	Hwy	U	7-	14	23	Weeks	\$	140.00	\$	3,220.0	10	\$	151.90	\$	3,493.70
		Roadside Adjacent To House #6101														
45	Ohio St @ N. 20Th St.	20Th St.	U	7-	14	23	Weeks	\$	8.00	\$	184.0	00	\$	8.68	\$	199.64
	Patrick Henry Dr - 20Th St. George		١										1000		Sektor.	
46	Mason Dr.		U	_		23	Weeks	-	25.00	_	575.0	_	\$	27.13		623.88
47	22Nd & N. Potomac St Street Island		U	7-	14	23	Weeks	\$	16.00	\$	368.0	0	\$	17.36	\$	399.28
48	Parkhurst Park - 5820 N. 20Th St.	Park Loops Behind 20Th & 21St Houses All Areas	P	7	14	23	Weeks	s	200.00	s	6,670.0		s	20165		7 226 05
40	Parknurst Park - 5820 N. 2011 St.		P	/-	14	23	vveeks	,	290.00	,	0,070.0	10	•	314.65	3	7,236.95
		All Areas Fences, Rear Areas, Curbs, Playground, Mechanical Edging along														
52	Langston Center - 4854 Lee Highway	entrance way	P	7.	14	23	Weeks	s	65.00		1,495.0		s	70.53		1,622.08
- 54	cangston center - 4054 cee riighway	All Areas includes Utility Strips,	·	-/-		23	VVCCKS	,	05.00	-	*,495.	-	-	/0.53	,	1,022.00
53	Fire Station #8 - 4845 Lee Highway	Mechanical Edging along entrance way	F	7-	14	23	Weeks	s	8.00		184.0		s	8.68		199.64
- 33	Cameron St & Lee Highway - Large	internation capiting along criticalies way	i i	-		2.5	TTCCRS	+	0.00	-	204.0		1	0.00	-	199.04
54	Islands	Totem Pole Areas And Adj. U-Strips	P	7-	14	23	Weeks	s	8.00		184.0	10	s	8.68	5	199.64
57	Big Walnut Park - 1901 N. Harrison St		P			23	Weeks	-	90.00	-	2,070.0		5	97.65	10000	2,245.95
58	Highview Park - 1900 N. Cameron St	All Areas And All Perimeters	P	7-	14	23	Weeks	s	110.00	s	2,530.0		5	119.35		2,745.05
	Slater Tract Park - N. 19Th & N.	Both Sides And Wooded Areas In						+			-,,,,-			5-55		-11433
59	Culpeper St.	Middle	P	7-	14	23	Weeks	s	12.00	s	276.0	00	\$	13.02	\$	299.46
- 55	19Th & Culpeper St - Next To 1827										-					
60	Culpeper St		U	7-	14	23	Weeks	5	8.00	\$	184.0	00	\$	8.68	\$	199.64
		All Areas Except Inside Building														
62	Glebe School - 1700 N. Glebe Rd	Sidewalks And Parking Lots	S	7-	14	23	Weeks	\$	70.00	\$	1,610.0	00	\$	75.95	5	1,746.85
65	Dinwiddie St - 17Th St To Edison St.	South Side Utility Strip	U	7-	14	23	Weeks	\$	8.00	\$	184.0	00	\$	8.68	\$	199.64
	17Th & Culpeper St - Next To 1717															
66	Culpepper	Also Along Fence On Sw Corner 60' X 6'	U	7-	14	23	Weeks	\$	8.00	\$	184.0	00	\$	8.68	\$	199.64
	Benjamin Bannaker Park - 6620 N.	All Areas - Fences, Wooded Areas,														
70	18Th St.	Stream Edges	P	7-	14	23	Weeks	\$	735.00	\$	16,905.0	0	\$	797.48	\$	18,341.93
	East Fallschurch Park - 1730 N.	All Areas - Fences, Wooded Areas,														
71	Roosevelt St.	Stream Edges	P	-	-	23	Weeks	-	100.00	\$	2,300.0	0	\$	108.50	\$	2,495.50
77	21St & N. Potomac St Street Island		U	_		23	Weeks	\$	16.00	\$	368.0	00	\$	17.36	\$	399.28
81	26Th St & Potomac St - 2500 Block		U	7-	14	23	Weeks	\$	16.00	\$	368.0	00	\$	17.36	\$	399.28
	Ohio St. & N.18Th St Corner															
84	Location		U	7-	14	23	Weeks	\$	8.00	\$	184.0	00	\$	8.68	\$	199.64
0.000	Ohio St. & 14Th St - I-66 Entrance To		200		5050											81087
85	Bike Trail		Р	7-	14	23	Weeks	\$	28.00	\$	644.0	00	\$	30.38	\$	698.74
02020	Kenilworth St. N. & 15Th St - Island		200	1000		8/8			0.20		120			121000		200
86	Areas		U	7-	14	23	Weeks	\$	8.00	\$	184.0	00	\$	8.68	\$	199.64
•	Madison Manor Park - 1201 N.	All Areas - Fences, Wooded Areas,									2		135	-	220	
87	Quantico St	Stream Edges	P	-	_	23	Weeks	_	422.00	_	9,706.0	_	\$	457.87		10,531.01
88	Four Mile Run Drive & Madison St	West To Cul De Sac	Р	/-	14	23	Weeks	\$	8.00	\$	184.0	00	\$	8.68	5	199.64
1222	Ohio St @ Mckinley Rd - St Row By	To Include Utility Strip Adjacent To		_		22			- 0							6-6
90	Bike Trail	6107 12Th Rd.	P	7-	14	23	Weeks	\$	28.00	\$	644.0	00	\$	30.38	\$	698.74

							Cor	ntract	Price until	6/30/	2022	Contract	Rene	wal Price e	ffective	7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated	Weel		e per W Month		nnual Mo	wing Price	March 2022 CPI-U 8.5%	We	eks or onths	Annua	FY23 Mowing Price
	Swanson Middle School - 5800 Wash.	Sports Field Area And Street Median @			52-077	*****					2=25WcC-					c-retron becomen
93	Blvd	Crosswalk	P	7-:	14	23	Weeks	\$	100.00	\$	2,300	.00	\$	108.50	\$	2,495.50
	Mckinley School - 1030 N. Mckinley	All Areas Except Inside Building									100000					12-010-12-0-10-01-0
94	Rd.	Sidewalks And Parking Lots	S	7-:	14	23	Weeks	\$	300.00	\$	6,900	.00	\$	325.50	\$	7,486.50
	Mace Park - Patrick Henry Dr. To	Also Trail To Arlington Mill Drive And								0.93		50000	0.000			
95	Liberty St.	Along Creek	P	7-:		23	Weeks	-	80.00	-	1,840		\$	86.80	_	1,996.40
97	9Th Rd Cul-De-Sac - Near Lexington St		U	7-:	14	23	Weeks	\$	8.00	\$	184	.00	\$	8.68	\$	199.64
		All Areas Including Slope Areas and	P				l	١.					١			
98	Westover Park - 1011 N. Kennebec St	areas around fields	Р	7-:	14	23	Weeks	\$	210.00	\$	4,830	0.00	\$	227.85	\$	5,240.55
	Woodlawn Park - Buchanan & 14Th	All Areas From 13Th St To Back Of						١.		١.						
100	St	Hospice	P	7-:		23	Weeks	\$	90.00	\$	2,070		\$	97.65	_	2,245.95
101	Glebe Rd & North 13Th St		U	7-:	14	23	Weeks	\$	8.00	\$	184	,.00	\$	8.68	\$	199.64
	Lacey Woods Park - George Mason Dr	Open Areas, Woods Perimeters,	_											•		
102	@ Wash. Blvd	Playground Area, U-Strips	P	7-:		23	Weeks	\$	100.00	\$	2,300		\$	108.50	-	2,495.50
104	Washington Blvd & N. Glebe Rd	Island 50' West Of Glebe Rd	U	7-:	14	23	Weeks	\$	8.00	\$	184	,.00	\$	8.68	\$	199.64
	Aberdeen St & Washington Blvd @ I-							١.		١.			١	0.60		2
105	66	Mow Bank & Trim Bumper Rail	U	7-:		23	Weeks	+	8.00	_		.00	\$	8.68	-	199.64
107	10Th St - At George Mason Dr. & I-66		-	7-:	_	23	Weeks	-	25.00	_		,00	\$	27.13		623.88
108	9Th & Harrison St At I-66	4 Sides Of Bridge & Dead End Area	U	7-:	14	23	Weeks	\$	8.00	\$	184	.00	\$	8.68	\$	199.64
	Connector Trail - Lexington To									١.			١.			
109	Harrison St.	South Of I-66 Trail And Street U-Strips	P	7-:	_	23	Weeks	+	80.00	-	1,840		\$	86.80	-	1,996.40
112	Jacksonville St - 9Th Rd To 9Th St	West Row Easement	U	7-:	14	23	Weeks	s	8.00	\$	184	,.00	\$	8.68	\$	199.64
	Arlington Traditional School - 850 N.	All Areas Except Inside Building											1000			
113	George Mason Dr.	Sidewalks And Parking Lots	S	7-:	14	23	Weeks	s	200.00	\$	4,600	0.00	\$	217.00	\$	4,991.00
	Fields Park - George Mason & Wilson	Area Surrounding Field And Bike Trail To							200			nenn		1.0000000000000000000000000000000000000		
114	Blvd	Fairfax Drive	Р	7-:	14	23	Weeks	\$	320.00	\$	7,360	0.00	\$	347.20	\$	7,985.60
000	8Th St & N. Buchanan St Off Wilson		U	۰.,		22	14/		0	١.	-0			0.00		
115	Blvd		U	7-:	14	23	Weeks	\$	8.00	\$	184	.00	\$	8.68	5	199.64
	5' 5' # 2 # 4045 WEL DL-I	All Areas, mechanical edging along	F	۰.,		22	No. of a	١.	0		-0			0.00	١.	
116	Fire Station # 2 - 4815 Wilson Blvd.	entrance way	1	7-:	14	23	Weeks	5	8.00	\$	184	.00	\$	8.68	\$	199.64
	Bon Air Book Wilson Blad To Lee	All Areas-Playfields, Picnic Gnds, Stream	Р	7-:		23	Marks	١.		١.			١.		١.	0
122	Bon Air Park - Wilson Blvd To I-66	Edges, Parking Lots	P	/	14	23	Weeks	\$	400.00	\$	9,200	0.00	\$	434.00	\$	9,982.00
	Wilson Blvd - From Mckinley To Lexington	All Islands	u	7-:		23	Weeks	s		١.			s	461.13	s	10,605.88
123	Patrick Henry Drive - Wilson Blvd To	All Islands	U	/	14	23	vveeks	5	425.00	\$	9,775	5.00	3	401.13	3	10,605.88
424	N. 10Th	Islands And Some U-Strips	U	7-:		23	Weeks		6.00	s	425	3.00	s	6 50	s	440.73
124	Powhatan Springs Park 6020 Wilson	islands And Some O-Strips	0	/	14	23	weeks	,	6.00	,	130		,	6.51	,	149.73
126	Blvd.	All Grass Areas & Sidewalk Utility Strips	Р	7-:		23	Weeks	s	78.00	s	4 70		s	84.63	١.	10/5/0
120	Bluemont Park - Wilson Blvd To	All Areas-Playfields, Picnic Ground,	-	/	-	23	vveeks	,	/6.00	,	1,794		,	04.03	,	1,946.49
127	Route 50 Bridge	Stream Edges, Parking Lots	P	7-:	14	23	Weeks	s	1,300.00	s	29,900		s	1,410.50		22 //7 50
	800 Block N. Greenbriar St.	Street Island Across From 851	U	7-:		23	Weeks	-	6.00	-		3.00	5	6.51	_	32,441.50
134	Carlin Springs Rd - Kensington To	Street isidily WCIO22 FIGHI 931	U	/		23	vveeks	,	0.00	,	130		,	0.51	2	149.73
136	G.Mason Dr.	Street Islands	u	7-:	14	23	Weeks	s	28.00	s	£	00	s	30.38	s	698.74
130	Granada St - Street Island Near N.	Street Islands	-	,-,	+	23	**CCKS	,	20.00	,	344		,	30.30	,	090./4
	4Th St.	l	U	7-:				1		1					1	

							Contract Price	until 6/30/2022	Contra	ct Ren	ewal Price	effect	tive 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	March 2022 CPI-U 8.5%	w	rice per eeks or Months	Ann	FY23 ual Mowing Price
276	Dover Run - 2801 N Quebec St.	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$	206.15	\$	3,298.40
277	Gulf Run - 3611 Military Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		s	206.15	s	3,298.40
278	Kirkwood Rd - 1616 Kirkwood Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		\$	206.15	s	3,298.40
279	Windy Run - 2500 N. Kenmore	Lift Station	DES	14	16	Weeks	\$ 190.00	\$ 3,040.00		s	206.15	s	3,298.40
280	Riverwood - 2770 N Nelson St	Lift Station	DES	14	16	Weeks	\$ 135.00	\$ 2,160.00		\$	146.48	\$	2,343.60
281	Marcey Creek - 2685 N Marcey Rd	Lift Station	DES	14	16	Weeks	\$ 135.00	s 2,160.00		\$	146.48	\$	2,343.60
282	River Estates - 3533 36th Rd N	Lift Station	DES	14	16	Weeks	\$ 135.00	s 2,160.00		\$	146.48	\$	2,343.60
283	River Crest - 3560 36th Rd N	Lift Station	DES	14	16	Weeks	s 135.00	\$ 2,160.00		s	146.48	s	2,343.60
284	Palasades - 2141 Scott ST	Lift Station	DES	14	16	Weeks	\$ 165.00			\$	179.03	\$	2,864.40
	Lui	mp Sum Total For 7- 14 day Cycle	•					\$ 172,070.00				\$	186,695.95
3	Randolph St - 23Rd St To Lorcom Lane	Row easement	U	30	7	Months	s 5.00	\$ 35.00		s	5-43	s	37.98
	41St - Glebe Rd To Dead End Both	Row easements Also Under Parkway	U	30	7	Months					127127		0
4	Sides 41St Street - Off Richmond St	At Dead End Of 41St St	U	30	7	Months	-			\$	5.43 3.26	\$	37.98
6	Richmond St - Old Glebe Rd To 41St St	East Row easement	U	30	7	Months				5	4:34	5	30.38
7	Ft Ethan Allen Park - 4311 Old Glebe Rd	House Grounds Adj. To Glebe Park	Р	30	7	Months	\$ 4.00	\$ 28.00		s	4.34	\$	30.38
10	Monroe St - 3655 To 3671	Vacant Lot	U	30	7	Months				s	3.26	5	22.79
11	Dittmar St - 4746 To Glebe Road	South Right Of Way easement	U	30	7	Months	\$ 4.00	\$ 28.00		5	4.34	\$	30.38
14	37Th St To End Of Randolph St	Right Of Way Easement Both Sides	U	30	7	Months	\$ 4.00	\$ 28.00		s	4.34	\$	30.38
16	Military Rd - 3730 To 37Th St	Row Easement	U	30	7	Months	\$ 7.00	\$ 49.00		s	7.60	\$	53.17
17	Kenmore St - 3445	Bank Across From And In Front Of Location	U	30	7	Months	\$ 4.00	\$ 28.00		s	4.34	\$	30.38
18	Roberts Lane - 3525 To 3469	East And North Of Monroe St	U	30	7	Months	\$ 3.00	\$ 21.00		\$	3.26	\$	22.79
20	Vermont St - House At 3725 To Ditmar St	U-Strip	U	30	7	Months	\$ 3.00	\$ 21.00		s	3.26	s	22.79
21	Dittmar St - 4618 @ Wakefield St	South Right Of Way Easement	U	30	7	Months				\$	3.26	s	22.79
24	36Th St. & Woodstock St 3600 Block		U	30	7	Months	\$ 3.00			5	3.26	s	22.79
29	31St St - Military Rd To Quincy St	U-Strips Both Sides	U	30	7	Months				\$	3.26	s	22.79
	Deadend N. Quebec St. Off N.	Utility Strip & 4' Back Of Walkway From											
31	Randolph St.	2827 To 2810	U	30	7	Months	\$ 3.00	\$ 21.00		\$	3.26	\$	22.79
32	32Nd St & Abingdon St	Across From 3139 Abingdon St	U	30	7	Months	\$ 21.00	\$ 147.00		\$	22.79	\$	159.50
34	Upshur Street - South Of 26Th	East Side	U	30	7	Months	\$ 3.00	\$ 21.00		\$	3.26	\$	22.79
	Military Rd - 2707 To Beachwood				_			e company					
36	Circle	Across From Taylor Park	U	30	7	Months				\$	17.36	\$	121.52
37	26Th Street - 4514 To 4555	North Right Of Way Easement	U	30	7	Months	\$ 8.00			5	8.68	\$	60.76
39	Utah St - Vacation Lane To Deadend	Row Easement	U	30	7	Months	\$ 11.00	\$ 77.00		5	11.94	\$	83.55

							Cor	tract	Price until	6/30/2022		Contract	Renewa	Price e	ffecti	ve 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks		e per We Month	ek or A	nnual Mowing Price	C	ch 2022 PI-U 1.5%	Price p Weeks Monti	or	Annu	FY23 ual Mowing Price
20220		All Areas Except Inside Building												105000-000		
171	North Fairfax Drive Park	Sidewalk.	P	_		23	Weeks	\$	30.00		0.00		s	32.55		748.65
173	N. 5Th & Jefferson St.	Row Surroudning 502 N. Jefferson St.	U	7-	14	23	Weeks	\$	8.00	\$ 18	34.00		5	8.68	\$	199.64
174	N. Abingdon St.	Row Next To 500 N. Abingdon StFrom Abingdon To Stream	Р	7-	-14	23	Weeks	s	5.00	\$ 11	15.00		s	5-43	\$	124.78
200	Walter Reed School - 1644 N McKinley Rd	Grass areas along 18th st N and N Lexington St - Under Construction	P	7-	-14	23	Weeks	s	20.00	s 46	0.00		s	21.70	\$	499.10
	Walter Reed School															
201	Grounds/Westover Library	Grassy areas along N McKinley Rd	S	7-	-14	23	Weeks	s	35.00	\$ 80	5.00		s	37.98	\$	873.43
		Medians From Randolph St.To Wilson	U													
243	N Glebe	Blvd.	-	7-	-14	23	Weeks	s	8.00	\$ 18	34.00		\$	8.68	\$	199.64
255	11th St. N & N George Mason Dr.		P	7.	14	23	Weeks	s	75.00	\$ 1,72	25.00		s	81.38		1,871.63
256	16th St. N & Patrick Henry Dr		P	_		23	Weeks	s	75.00		25.00		s	81.38	-	1,871.63
250			-					-		3 1,/1	25.00					
244	Upper Pimmit - 3912 N Dumbarton St	Lift Station	DES	1	.4	16	Weeks	\$	190.00	\$ 3,04	0.00		\$	206.15	\$	3,298.40
	ι	.ump Sum Total for 7 - 14 day Cy	rcle							\$ 269,306	.40				\$	292,197.44
	Dumbarton St. Next To 3905 (Upper	Open Lot East Side Of Street - Upper														
3	Pimmit Run)	Pimmit Run	P	3	0	7	Months	s	80.00	\$ 56	0.00		\$	86.80	\$	607.60
	Dumbarton St. West Side (Upper	Open Lot Between 3900 & 3916														
4	Pimmitt Run)	(address for lot is 3912)	P	3	0	7	Months	s	50.00	\$ 35	0.00		s	54.25	\$	379-75
7	Glebe Rd. & Little Falls Rd.	Traffic Island & N. Utility Strip	U	3	0	7	Months	s	10.00	\$ 7	70.00		s	10.85	\$	75.95
13	36Th St - Kensingston St To School Field	North Row Area Adjacent To Street	U	3	0	7	Months	s	10.00	s ;	70.00		s	10.85	\$	75.95
14	Williamsburg School Trail - Field To Harrison St		Р	3	10	7	Months		20.00	\$ 14	0.00		s	21.70	\$	151.90
14	Frederick St. Alley - Behind 3601	Utility Easement Next To 5155	+	-	-	-	WIOTICIIS	-	20.00	3 14	0.00		,	21./0	,	151.90
17	Harrison St.	Williamsburg Blvd.	U	3	0	7	Months	\$	20.00	\$ 14	0.00		s	21.70	\$	151.90
	Old Dominion Access Road - 29Th To															
18	Rock Spring Rd		U	3	0	7	Months	s	20.00	\$ 14	0.00		\$	21.70	\$	151.90
	Harrison St - Little Falls Rd To				_											
20	Yorktown Blvd	East Row easement	U	_	0	_	Months	-	10.00		70.00		\$	10.85	_	75.95
30	Westmoreland St. At N.29Th St.	Sidewalk R-O-W West Side Of Street	U	3	0	7	Months	\$	10.00	\$ 7	70.00		\$	10.85	\$	75.95
32	Little Falls Rd - 6714 To Underwood St	On Side Of House At 2720 North Row easement	U	3	10	7	Months	s	10.00	s ;	70.00		s	10.85	s	75.95
	Westmoreland St - Fairfax Dr To	Row Areas Both Side And Adj. To I-66														
35	Williamsburg Blvd	Bridge	U	3	0	7	Months	\$	10.00	\$ 7	70.00		\$	10.85	\$	75.95
		Sw Corner Lot To Base Of Hill To I-66														***********
36	28Th St. & Westmoreland St.	Bridge	U	3	0	7	Months	\$	10.00	\$ 7	70.00		s	10.85	\$	75.95
39	26Th St. & Lexington St.	Property Fence	U	3	0	7	Months	\$	10.00	\$ 7	70.00		\$	10.85	\$	75.95
40	28Th St. R-O-W	Lexington St.	U	3	0	7	Months	\$	10.00	\$ 7	70.00		\$	10.85	\$	75.95
	22Nd St. From Lexington To Kentucky	North Side Utility Strip Adjacent To														
49	St.	2115 Lexington St.	U	3	0	_	Months	\$	10.00	s ;	70.00		\$	10.85	\$	75-95
50	Dinwiddie St @ 2329 - Dead End	East Row easement	U	_	0	_	Months	\$	10.00	s ;	70.00		\$	10.85	\$	75-95
51	23Rd Rd - Dickerson St To Deadend	South Row easement	U	3	0	7	Months	5	10.00	5 7	70.00		\$	10.85	\$	75-95

							Cor	tract P	rice until	6/30/2022	Contr	act Renewa	l Price e	ffectiv	e 7/1/2022
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks		e per Wee Month	k or A	nnual Mowing Price	March 2022 CPI-U 8.5%	Price Week Mont	s or	Annua	FY23 I Mowing Price
55	23Rd Rd - 5100 To 5123 24Th St	Alley Behind Shopping Center	U	30	0	7	Months	\$	10.00	\$ 70	0.00	\$	10.85	\$	75.95
56	Brandywine St. Alley	Behind Houses From Deadend To 21St St.	U	3(-	Months	_	19.00	\$ 13	3.00	s	20.62	s	144.31
61	Cameron St - Between 1917 & 1927	East Row easement	U	30	0	7	Months	\$	10.00	\$ 70	0.00	\$	10.85	\$	75.95
64	19Th St. R-O-W - 5200 Block	Dead end R-O-W Off George Mason Dr. After House #5231	U	30	0	7	Months	s	10.00	\$ 70	0.00	s	10.85	s	75.95
67	Little Falls Road @ Winchester St	East Row Adj. To Bike Trail On Little Falls	U	30	0	7	Months	s	8.00	\$ 56	5.00	s	8.68	s	60.76
68	Fairfax Drive - Lee Hwy To Vanderpool To 19Th Rd	Row easements Both Sides	U	3(0	7	Months	s	8.00	s 56	5.00	s	8.68	s	60.76
69	Isaac Crossman Park-Westmoreland St 19Th To Van Buren St	East Side Row All Along Woods	U	3(0	7	Months	s	19.00	\$ 13	3.00	s	20.62	s	144.31
72	Roosevelt St 1709 To Bike Trail Entrance	East Side Row All Along Woods	U	3(0	7	Months	s	19.00	s 13	3.00	s	20.62	s	144.31
78	Quantico St - 1918 To Washington Blvd.	Both Side Of Street	U	3(0	7	Months	s	20.00	\$ 140	0.00	s	21.70	s	151.90
82	Potomac St @ Pomomoke St - Open Area	Also West Row Of Potomac St To Bike Trail	U	3(_	Months	s	10.00	s 70	0.00	\$	10.85	s	75.95
83	Corner	Vacant Lot Area	U	30	0	7	Months	\$	10.00	\$ 70	0.00	s	10.85	\$	75-95
89	Madison St. @ Four Mile Run Dr.	Sidewalk Island & 2' Behind Sidewalk From 1023 To Corner	U	3(0	7	Months	s	10.00	\$ 70	0.00	s	10.85	\$	75.95
	Dead-End Mckinley Rd. North Side Of I-		0.0	1000	.				54455				1000000	10000	7000-1100
91	66	Entrance To House #1321	U	3(_	-	Months	-	8.00		5.00	\$	8.68	\$	60.76
92	Livingston St @ 1222. Trail	To Swanson School & 15Th Street	U	30	-	7	Months	\$	8.00	\$ 50	5.00	\$	8.68	\$	60.76
96	Kentucky St @ 966 - Vacant Lot	Area Between Houses And I-66 To Patrick Henry Drive	U	30		_	Months	-	55.00		5.00	s	59.68		417.73
99	5506	Roadside Between Fence And Curbline	U	30)	7	Months	\$	8.00	\$ 50	5.00	5	8.68	\$	60.76
103	Evergreen St. @ Washington Blvd. Row Areas	All Rows On The Evergreen G.M. Block 4 Sides	U	3(0	7	Months	s	15.00	\$ 10	5.00	s	16.28	s	113.93
106	Frederick St. 1100 Block	East Side Between 11Th St. And 11Th Rd.	Р	30	0	7	Months	s	8.00	\$ 50	5.00	s	8.68	s	60.76
100000	Fairfax Drive - Harrison St To	South Row easement & Deadend E Of	١			_		100			10.00		Sections	1728	
110	N.W. Corner Harrison & Fairfax Dr.	Harrison St Corner Lot Next To 5409	U	30		\rightarrow	Months Months	_	8.00		0.00	s	43.40 8.68	_	303.80
111	Rd.	East Row Easement	U	30		\rightarrow	Months	-	8.00		5.00	5	8.68	-	60.76 60.76
117	Wilson Blvd @ 4617 - Across From	Lot Behind Restaurant, Field &	-	- 31	-		11.0111115	,	0.00	5		-	0.00	,	00.76
118	Abington St	Perimeters	Р	30	0	7	Months	\$	50.00	\$ 350	0.00	s	54.25	\$	379-75
		Hillside Area East Side Of St. From													
119	700 Block Of N. Abingdon St.	Wilson To House #733	U	30	0	7	Months	\$	8.00	\$ 50	5.00	\$	8.68	\$	60.76
100	Rt. 50 Service Road - Henderson To	s			.	,			0 -				0.60		
120	Park Drive	South Row Easement	U	3(_	Months	_	8.00	-	0.00	\$	8.68	\$	60.76
121	Wakefield St - Wilson Blvd To Deadend Madison St - Wilson Blvd. To 934			30			Months		8.00		5.00	\$			60.76
125	Madison St.	Also Corner Lot @ Wilson Blvd	U	30	J	7	Months	\$	25.00	\$ 17	5.00	\$	27.13	\$	189.88

							Con	tract	Price until	6/30/2022		Contract F	Renewal Price e	ffecti	ve 7/1/2022
1 727 12	Location				Estimated	Weeks	or Pric	e per We	eek or		1000	arch 2022	Price per		FY23
Location ID	Location	Description	Тур	e Freq.	Quantity	Monti		Month		nnual Mowing Pr	rice	CPI-U 8.5%	Weeks or Months	Annu	ual Mowing Price
	8Th Rd & Lexington St - Road In	5-1 5-1		٠,					0				. 0.00		CC
129	8Th Rd - North Of Manchester St	Entrance Gate To Soccer Field North Row Easement To Dead End	P	-	0		Months Months	_	8.00		56.00 56.00	-	s 8.68	s	60.76 60.76
130	Livingston St - Wilson Blvd To 5Th	West Utility Strip	U	_	_	$\overline{}$	Months	-	8.00	s	56.00		s 8.68	5	60.76
131	Wilson Blvd & N Harrison St-Nw	8' Area Behind Sidewalk From Harrison	-	-			WOILLIS	-	0.00	-	50.00		0.00	-	00.70
132	Corner Along Wilson Blvd.	St. To Drive Of 5411	U	3	0	7	Months	s	8.00	s	56.00		s 8.68	s	60.76
	•	Dead End And Planter Area Along									-				
133	Kensington St At N. 8Th Road	Wilson Blvd	U	3	0	7	Months	s	8.00	s	56.00		s 8.68	\$	60.76
	7Th Street - Deadend Off Kensington														
135	St		U	3	0	7	Months	\$	8.00	\$	56.00		s 8.68	\$	60.76
272	4Th St & Four Mile Run Dr	West Side Row Adj. To Woods To Dead	U	١,	0	7	Months	s	0		-6		s 8.68	s	66
141	41h St & Four Mile Run Dr	End 6' Both Sides Of Trail To Carlin Springs	U	3	10	/	Months	S	8.00	s	56.00		s 8.68	\$	60.76
142	Jefferson St. Nature Trail	Rd.	P	3	0	7	Months		15.00	s	105.00		\$ 16.28	s	113.93
	Kensington St Berms @ 340	Enter At Vepco Gate On Lower	Ė			_	11101111111	-	23.00	-	203.00		20.20	-	~~3.33
146	Kensington Cul-De-Sac	Kensington St All Areas Behind Berms	P	3	0	7	Months	s	25.00	s	175.00		s 27.13	\$	189.88
153	Corners		U	3	0		Months		8.00		56.00		\$ 8.68	s	60.76
	Kensington St - 4Th St-Carlin Springs														
155	Rd	West Row easement	U	3	0	7	Months	s	8.00	s	56.00		s 8.68	s	60.76
	energy and the company of the compan	Area Between Soundwall And Curb And		0.00											
158	Madison St. Deadend At Rt. 50	Along Walk To Rt. 50	U	_		_	Months	_	8.00		56.00		\$ 8.68	s	60.76
160	N. Patrick Henry Dr- Medians	Street	U	3	0	7	Months	\$	8.00	\$	56.00		s 8.68	\$	60.76
169	N Harrison St. Community Garden	Community Garden Next To 2909 N. Harrison St.	P	١,	0	7	Months	s	25.00	s	175.00		\$ 27.13	5	189.88
171	N. 16Th & Patrick Henry Dr.	Row Next To 1543 N. Patrick Henry Dr.	U	_	0	-	Months	-	8.00		56.00	-	s 8.68	_	60.76
250	Washington Blvd. & 27th St. N	NOW NEXT TO 1343 H. Father Helly Dr.	P	_	0	$\overline{}$	Months	_	125.00	s	875.00	_	s 135.63	5	949.38
251	Washington Blvd. & 25th St. N		P	-	0	_	Months	_	25.00		175.00	_	\$ 27.13	_	189.88
		Lump Sum Total for 30 day Cyc	le								,217.00			\$	7,830.45
81	Cherrydale Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15		_	-		Months	-	900.00		2,700.00	_	\$ 976.50		2,929.50
196 201	Central Library Walter Reed/Westover Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15 Leaf Collection- Oct. 30, Nov. 30, Dec. 15	-		-		Months Months	-	1,900.00		5,700.00	-	\$ 2,061.50 \$ 976.50	_	6,184.50
201						3	iviontns	5	900.00		2,700.00	1	\$ 976.50	\$	2,929.50
		Lump Sum Total for Leaf Collecti	on							\$ 11,	,100.00			\$	12,043.50
	Total Fo	or Northwest Mowing and Relate	4 6	onde							0.00 1.0	1		s	500 430 96
L	Total Fo	r Northwest Mowing and Relate	a S	ervic	es					\$ 460,	958.40		Renewal Price	•	500,139.86
					Co	ntra	ct Uni	t Pri	CAS			effecti	ve 7/1/2022		
			-	_				_							
		Mowing per Acre, Athletic Field-Berr			s-Reel M	ow		s	98.00			8.5%			
		2. Mowing per Acre, Athletic Field-Coo	Sea	son				\$	88.00			8.5%			
		3. Mowing Per Acre						\$	78.00			8.5%			
		Grass Clipping Removal Per Acre						\$	150.00			8.5%			
		5. Fertilization per Acre						\$	300.00			8.5%			
		6. Weed Control per Acre						\$	300.00			8.5%	-		
		7. Overseeding per Acre						\$	600.00			8.5%			
		8. Leaf Removal per Acre						\$	500.00			8.5%			
		9. Mechanical Edging per linear Foot						\$	0.25			8.5%	\$ 0.27		

EXHIBIT F

Estimated Number of Weeks of Mowing Season

Mowing Season for 2021	7-14 Day Locations	Fields - Cool Season	Fields - Bermuda	Mor	nths
Week containing April 1	1	1			
April	4	4		April	1
May	4	4		May	1
June	5	5	5	June	1
July*	2	4	4	July	1
Aug	2	4	4	Aug	1
Sept	3	5	5	Sept	1
Oct	2	4	4	Oct	1
Total	23	31	22		7

^{*} Changes from 7-day to 14-day cycle.

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Prlo	ce per Week or Month	Ar	nnual Mowing Price
	Dorothy Hamm School 4100 N	Athletic Field - Rectangle - Bermuda	Р							
262	Vacation Ln- (HB Woodlawn)	Grass - Irrigation - Reel Mower		AF	22	Weeks	\$	350.00	\$	7,700.00
		Athletic Field - Rectangle - Bermuda	Р							
264	Oak Grove Park	Grass - Irrigation - Reel Mower		AF	22	Weeks	\$	200.00	\$	4,400.00
245	Outros Park 1021 N. Outros St	Athletic Field #1, 2 and Aux - Bermuda	Р	, -	22	VA /	φ.	1 000 00	φ.	22 222 22
265	Quincy Park - 1021 N. Quincy St	Grass - Irrigation - Reel Mower		AF	22	Weeks	\$	1,000.00	\$	22,000.00
		Athletic Field #3 - Diamond - Bermuda	Р							
267	Quincy Park - 1021 N. Quincy St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$	320.00	ф	7.040.00
207	Quility Fack - 1021 N. Quility St	Ü		Аг	22	vveeks	Ф	320.00	\$	7,040.00
		Athletic Field - Combo Diamond -	Р							
270	Washington Liberty High School	Bermuda Grass - Irrigation - Reel Mower		AF	22	Weeks	\$	375.00	\$	8,250.00
	Lump Sum To	tal for Athletic Fields with Bern	nuc	la Gr	ass				\$	49,390.00
	·									
		Athletic Field - Rectangle - Cool Season	Р							
263	Key Elementary School	Grass - Irrigation		AF	31	Weeks	\$	90.00	\$	2,790.00
	Stratford Park - 4321 Old Dominion	Athletic Field - Diamond - Cool Season	Р							
269	Dr.	Grass - Irrigation	Υ	AF	31	Weeks	\$	100.00	\$	3,100.00
	Lump Sum Total For	Athletic Fields Cool Season Gra	ass '	With	n Irriga	tion			\$	5,890.00
-	·									
	Dawson Terrace Center - Taft St &	Athletic Field - Rectangle - Cool Season	Р							
260	21St St	Grass - No Irrigation	Р	AF	31	Weeks	\$	75.00	\$	2,325.00
		Athletic Field - Combo - Diamond - Cool	Р							
261	Long Branch School/Fillmore Park	Season Grass - No Irrigation	٢	AF	31	Weeks	\$	73.00	\$	2,263.00
		Athletic Field #1 - Combo Diamond -	Р							
271	Taylor Elementary School	Cool Season Grass - No Irrigation	Г	AF	31	Weeks	\$	75.00	\$	2,325.00
		Athletic Field #2 - Combo Diamond -	Р							
272	Taylor Elementary School	Cool Season Grass - No Irrigation	Г	AF	31	Weeks	\$	75.00	\$	2,325.00
	Woodmont Center - N Of 24Th St On	Athletic Field - Rectangle - Cool Season	Р							
273	Filmore	Grass - No Irrigation	<u>'</u>	AF	31	Weeks	\$	40.00	\$	1,240.00
	Fort Ethan Allen/Madison Comm.	Athletic Field - Rectangle - Cool Season	Р							
274	Center - 3829 N. Stafford St	Grass - No Irrigation	'	AF	31	Weeks	\$	120.00	\$	3,720.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Prlo	ce per Week or Month	Ar	nnual Mowing Price
	Lump Sum Total For	Athletic Fields Cool Season Gra	ass	- No	Irrigat	tion			\$	14,198.00
1	40Th & Upland St	Row Easement	U	7-14	23	Weeks	\$	8.00	\$	184.00
2	41St Street & Upland St.	Street Island	U	7-14	23	Weeks	\$	6.00	\$	138.00
8	Glebe Park - Old Glebe Rd East Of Tazwell St	All Areas: Woods Edge & Steps, Fence Lines Playground	Р	7-14	23	Weeks	\$	110.00	\$	2,530.00
9	Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St	All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way	P	7-14	23	Weeks	\$	150.00	\$	3,450.00
	center 3027 N. Starrord St	critianice way	-	7-14	23	VVCCR3	Ψ	130.00	Ψ	3,430.00
12	Holmberg Park - 38Th & N. Upland St.	All Areas	Р	7-14	23	Weeks	\$	35.00	\$	805.00
		Center Island With Stop Sign	U	7-14		Weeks	\$	8.00	\$	184.00
15		Mow Along Entrance Drive, Around Base Of Building And Parking Lot	Р	7-14	23	Weeks	\$	12.00	\$	276.00
19	38Th St. & N. Wakefield St.	Utility Strip And Easement	U	7-14	23	Weeks	\$	12.00	\$	276.00
	Broyhill Forest Park - 3510 N. Utah St.	North Of 35Th St On Utah Both Sides Of		7-14		Weeks	\$	125.00	\$	2,875.00
23	36Th St - 3632 To 3837 At Military Rd	Open Areas	U	7-14	23	Weeks	\$	125.00	\$	2,875.00
25	33Rd St - Thomas St To Randolph St	N 4107 To N 4133 33Rd St	U	7-14		Weeks	\$	12.00	\$	276.00
26	36Th & Glebe Rd	Island	U	7-14	23	Weeks	\$	8.00	\$	184.00
27	Donaldson Run Park - 4020 N. 30Th St.	Along 30Th From Military Rd To Pollard St	Р	7-14	23	Weeks	\$	15.00	\$	345.00
	Stafford St - Dead End East Of 31 St		U	7-14		Weeks	\$	8.00	\$	184.00
	Marcey Rd Park 2700 Marcy Road	Located Inside Regional Park Area	Р	7-14		Weeks	\$	75.00	\$	1,725.00
33	Rockspring Rd. @ Wakefield St.	Triangular Island At Intersection	U	7-14	23	Weeks	\$	5.00	\$	115.00
35	Taylor Park 5000 Military Rd @ 30th St	Area Along Military Rd.	Р	7-14	23	Weeks	\$	75.00	\$	1,725.00
38		2547 N. Vernon St To 2501 N Upton St 60' X 15'	Р	7-14	23	Weeks	\$	8.00	\$	184.00
40	Taylor Elementary School - 2600 N. Stuart St	All Areas Except Inside Building Sidewalks And Parking Lots	S	7-14	23	Weeks	\$	200.00	\$	4,600.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
41	Old Dominion & Glebe Rd	2 Islands & Adj. Utility Strips	U	7-14	23	Weeks	\$ 5.00	\$ 115.00
		Street Median East Of Glebe Rd.						
42	Yorktown Blvd. @ Glebe Rd.	Overpass	U	7-14	23	Weeks	\$ 5.00	\$ 115.00
44	4722 N 26Th Street	House Lot Property	Р	7-14	23	Weeks	\$ 33.00	\$ 759.00
	Leaf Dump Lot 26Th St @ Yorktown							
46	Blvd	Open Area East Side Of Leaf Dump Site	U	7-14	23	Weeks	\$ 40.00	\$ 920.00
48	Utah St & Taylor St. Park	Fenced In Area And Adj. Areas	Р	7-14	23	Weeks	\$ 26.00	\$ 598.00
	24Th St @ Old Dominion Dr - 4655							
55	To 4711	Row Easement From 4655 To 4711	U	7-14	23	Weeks	\$ 18.00	\$ 414.00
60	Military Road & 25Th Rd N - 2 areas	Corners Of Intersection & Medians	U	7-14	23	Weeks	\$ 5.00	\$ 115.00
61	Ridgeview Rd North Of Nellie Custis	Cul-De-Sac Island At Dead End	U	7-14	23	Weeks	\$ 5.00	\$ 115.00
62	Windy Run Park - Nellie Custis Drive	Mow To End Of Kenmore St	Р	7-14	23	Weeks	\$ 150.00	\$ 3,450.00
63	Woodmont Center - N Of 24Th St On Filmore	All Areas: Surrounding Fields, Fence Areas, Playground, Driveways. Mechanical edging along entrance way	S	7-14	23	Weeks	\$ 10.00	\$ 230.00
03	T III TOTO	Street Row, House Grounds, Fort Area,		, , ,	20	VVCCKS	Ψ 10.00	ψ 230.00
66	Fort Smith Park - 2411 24Th St North	Open Spaces	Р	7-14	23	Weeks	\$ 260.00	\$ 5,980.00
	Dawson Terrace Center - Taft St & 21St St	All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way		7-14		Weeks	\$ 110.00	\$ 2,530.00
	Lee Highway - Albemarle St To	6 Islands & Old Dominion Intersection						
74	Wakefield St	Area	U	7-14	23	Weeks	\$ 12.00	\$ 276.00
	Stratford Park - 4321 Old Dominion							
76	Dr.	All Areas	Р	7-14	23	Weeks	\$ 23.00	\$ 529.00
	Dorothy Hamm School 4100 N	All Areas Except Inside Building						
78	Vacation Ln-Frmly HB Woodlawn	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 65.00	\$ 1,495.00
	Woodstock Park - 2000 Block Of							
79	Woodstock	All Areas 20Th Rd & Woodstock St	Р	7-14	23	Weeks	\$ 55.00	\$ 1,265.00
80	21St St. & N. Stafford St.	Sidewalk Island & Lot Behind Sidewalk On 21St @2045 Stafford St.	U	7-14	23	Weeks	\$ 8.00	\$ 184.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annua	al Mowing Price
	Cherrydale Library - N. Military Rd @	All Areas: Building Perimeter, Hillside,							
81	22Nd St	Mechanical edging along entrance way	L	7-14	23	Weeks	\$ 23.00	\$	529.00
		Enter From Behind 7/11 West Of							
82	Cherrydale Park 2100 N. Quincy St.	Pollard On Old Dominion	Р	7-14	23	Weeks	\$ 42.00	\$	966.00
	Thrifton Hill Park - 23Rd & N.	All Areas: Rear Woods Edge & Steps,							
86	Edgewood St	Fence Lines Playground	Р	7-14	23	Weeks	\$ 165.00	\$	3,795.00
87	Maywood Mini Park - 3210 N 22Nd St	All Areas	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	Quincy Street - 20Th Rd To Lee								
94	Highway	All Islands And U-Strips	U	7-14		Weeks	\$ 12.00	\$	276.00
95	Lee Highway & N. Quincy St	3 Islands Mowing At Ls Areas	U	7-14	23	Weeks	\$ 5.00	\$	115.00
98	Lee Highway - Lincoln St To Monroe	Islands In 3500 Block	U	7-14	23	Weeks	\$ 22.00	\$	506.00
	Spout Run Pkway - Lee Highway To I-								
100	66 Overpass	Islands	U	7-14	23	Weeks	\$ 5.00	\$	115.00
	Lee Highway - Spout Run Pkway To								
101	Lincoln St	Islands	U	7-14	23	Weeks	\$ 30.00	\$	690.00
		Access Also From Nelson & 17th (Area							
105	Cherry Valley Park - 1700 Quincy St.	has expanded since Tax Map)	Р	7-14	23	Weeks	\$ 530.00	\$	12,190.00
		All Areas: Steps, Fence Lines,							
109	Lyon Village Park - 1800 Highland St	Playground, U-Strips	Р	7-14	23	Weeks	\$ 80.00	\$	1,840.00
113	18Th St. & Cleveland St.	Traffic Island	U	7-14	23	Weeks	\$ 5.00	\$	115.00
	Nelly Custis Drive - Military Rd To								
114	Lorcum L.	All Islands	U	7-14	23	Weeks	\$ 12.00	\$	276.00
		Area Surrounding Field, Fence Edges,							
115	Oakgrove Park - 1500 N. Quincy St	Embankment, Perimeter Areas	Р	7-14	23	Weeks	\$ 215.00	\$	4,945.00
		Open Lot Across Quincy St From							
116	Vacant Lot 1601 N. Quincy St	Oakgrove Park	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	Hayes Park - 1400 Lincoln St At 15Th	All Areas Including Row Easement Along							
122	St	15Th St	Р	7-14	23	Weeks	\$ 160.00	\$	3,680.00
	Arlington Science Focus School - 1500	All Areas Except Inside Building							
123	N. Lincoln St.	Sidewalks, Parking Lots	S	7-14	23	Weeks	\$ 80.00	\$	1,840.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ann	ual Mowing Price
124	James Hunter Park (1230 N Hartford)	Grass areas and utility strips	Р	7-14	23	Weeks	\$ 4.00	\$	92.00
	Herndon St 1401	Utility Strip In Front Of House	U	7-14	23	Weeks	\$ 4.00	\$	92.00
	17Th St. & N. Hartford St	Island	U	7-14		Weeks	\$ 4.00	\$	92.00
127	Key Blvd & Highland St	7 Corner Areas	U	7-14	23	Weeks	\$ 4.00	\$	92.00
128	Edgewood St & N. Franklin St	Island	U	7-14	23	Weeks	\$ 4.00	\$	92.00
129	Danville & Franklin St	Four Islands @ Intersection	U	7-14	23	Weeks	\$ 4.00	\$	92.00
	Clarendon Blvd - Adam St To Danville								
130	St	Vacant Lot, U-Strips And Right Of Ways	U	7-14	23	Weeks	\$ 22.00	\$	506.00
	Mccoy Park - N Vetch St & North								
132	20Th St	All Areas Except The Drainage Basin	Р	7-14	23	Weeks	\$ 34.00	\$	782.00
137	Key Blvd. Garden Plots	Open Area On 19Th St. Side	Р	7-14	23	Weeks	\$ 4.00	\$	92.00
138	Lee Highway - Nash St To Lynn St	Islands Adjacent To Gateway Park	Р	7-14	23	Weeks	\$ 20.00	\$	460.00
140	Gateway Park - 1300 Lee Highway	All Grass Panels	Р	7-14	23	Weeks	\$ 90.00	\$	2,070.00
141	Potomac Tower Park 1955 N. Lynn St	Adj. To Parkway Entrance Ramp	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	Child Care Center -1915 N. Uhle St @	Building Perimeter, Parking Lot, Inside							
143	Lee Hwy	And Outside Fenced Areas	Р	7-14	23	Weeks	\$ 4.00	\$	92.00
		All Areas And Adj. Street Islands,							
145	Fire Station # 10 - 1559 Wilson Blvd	Mechanical edging along entrance way	F	7-14	23	Weeks	\$ 8.00	\$	184.00
	Wilson Center - Wilson Blvd & N.	All Areas: Sports Field, Playground, U-					, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	
	Quinn St	Strips, Fence Areas	Р	7-14	23	Weeks	\$ 118.00	\$	2,714.00
147	Argus House - 1527 Clarendon Blvd.	Small Picnic Area At Rear Of Building	D	7-14	23	Weeks	\$ 5.00	\$	115.00
	9	Lot At Beginning Of Ramp Buildings On							
149	Kent St Vacant Lot - South Of 19Th St	3 Sides	Р	7-14	23	Weeks	\$ 7.00	\$	161.00
150	Kent & 19Th Street	Triangle Island	Р	7-14	23	Weeks	\$ 5.00	\$	115.00
		<u> </u>							
151	Wilson Blvd - Lynn St To Ridge Road	Island	Р	7-14	23	Weeks	\$ 6.00	\$	138.00
	-	All Areas Except Inside Building							
153	Key School - 2300 Key Blvd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 18.00	\$	414.00
154	Key Boulevard - At N. Bryan St	5	U	7-14	23	Weeks	\$ 5.00	\$	115.00
155	Rhodes & Clarendon Blvd.	Street Islands	U	7-14	23	Weeks	\$ 12.00	\$	276.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	ce
	Fairfax Drive House 1727 E. Of Pierce	Mow Front And Rear Area And							
157	St	Perimeters	D	7-14	23	Weeks	\$ 9.00	\$ 207	.00
		All Areas Including Perimeters To All							
158	Hillside Park - 1601 N. Pierce Street	Streets	Р	7-14	23	Weeks	\$ 25.00	\$ 575.	.00
	Dark Star Park - Ft Myer Dr @ Fairfax								
161	Drive	Island Areas With Balls	Р	7-14	23	Weeks	\$ 18.00	\$ 414	.00
162	Meade St. Park - 1550 N. Meade St.	Sw Corner Island At Rt.50 To Service Rd.	Р	7-14	23	Weeks	\$ 22.00	\$ 506.	.00
	Clarendon Park - Wilson Blvd &								
163	Highland St	All Turf Areas	Р	7-14	23	Weeks	\$ 25.00	\$ 575.	.00
164	Rt. 50 East Entryway	Islands	U	7-14	23	Weeks	\$ 5.00	\$ 115	.00
	Courthouse Building - 15Th St &	All Areas: Around Building, Utility Strips							
169	Courthouse Rd	& Interior Courtyard	0	7-14	23	Weeks	\$ 25.00	\$ 575.	.00
	Ft Myer Heights Park - 1400 N Ft Myer								
172	Dr	South Of Rt. 50 Adj. To Apts.	Р	7-14	23	Weeks	\$ 35.00	\$ 805	.00
175	Meade St South @ S 14Th St	Island Adj. To Iwo Jima Memorial	U	7-14	23	Weeks	\$ 5.00	\$ 115	.00
	Clarenford Station Park - 1300 N.	From G. Mason Drive Behind Motel To							
176	Vermont St.	Playground At Vermont St	Р	7-14	23	Weeks	\$ 130.00	\$ 2,990	.00
	Fairfax Drive - Wilson Blvd. To Glebe								
178	Rd.	All Islands	U	7-14	23	Weeks	\$ 20.00	\$ 460	.00
179	Wilson Blvd & Fairfax Drive	Mowing At Ls Maintenance Areas	U	7-14	23	Weeks	\$ 6.00	\$ 138	.00
180	Glebe Rd & Fairfax Drive	10 Street Islands	U	7-14	23	Weeks	\$ 18.00	\$ 414	.00
		All Areas Except Inside Building							
181	W & L High School - 1300 N. Quincy St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 320.00	\$ 7,360	.00
	Aps Education Center-1426 N. Quincy	Outside Perimeter Of Parking Lot & 15							
183	St.	St. Utility Strip	S	7-14	23	Weeks	\$ 50.00	\$ 1,150	.00
		Washington Blvd To Lee Hwy. All Public							
186	Kirkwood Rd - Islands & Open Areas	Open Spaces Both Sides	U	7-14	23	Weeks	\$ 196.00	\$ 4,508	.00
187	13Th Street -Jackson To Harrtford St	Row Easements	U	7-14	23	Weeks	\$ 16.00	\$ 368	.00
191	Fairfax Drive - Danville To Barton St	Row Easements Both Sides	U	7-14	23	Weeks	\$ 16.00	\$ 368	.00
	Utility Strip In Front Of 1222 N.								
192	Cleveland St	Row Easement	U	7-14	23	Weeks	\$ 5.00	\$ 115	.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	nnual Mowing Price
193	Clarendon Blvd. @ Danville St.	Utility Strip & Area Surrounded By Brick Paver Walkway	U	7-14	23	Weeks	\$ 5.00	\$	115.00
194	11Th & Danville St. Park	Open Lot Along 11Th St. From Danville To Fillmore St.	Р	7-14	23	Weeks	\$ 50.00	\$	1,150.00
196	Central Library - 1015 N. Quincy St.	All Areas, Parking Lots, U-Strips, Adjacent to Tennis Courts, Mechanical Edging along entrance way	L	7-14	23	Weeks	\$ 45.00	\$	1,035.00
197	Quincy Park - 1021 N. Quincy St	Playground, Tennis Courts, Picnic Area, U-Strips		7-14	23	Weeks	\$ 200.00	\$	4,600.00
198	Washington Blvd & N Quincy St	Islands	U	7-14	23	Weeks	\$ 6.00	\$	138.00
199	Kenmore St - 1919 @ Wilson Blvd	Utility Strip Nw Corner & In Front Of 932	U	7-14	23	Weeks	\$ 6.00	\$	138.00
202	Fire Station #4 - 3121 N. 10Th St.	All Areas And Adj. Street Islands, Mechanical edging along entrance way	F	7-14	23	Weeks	\$ 6.00	\$	138.00
203	Clarendon House - 3141 N. 10Th St.	All Areas And Adj. Street Islands	DES	7-14	23	Weeks	\$ 12.00	\$	276.00
204	10Th St - Wilson Blvd To Rt. 50 Herselle Milliken Park 820 N. Lincoln	IVIEGIANS/UITIIITY ISIANGS VVIISON BIVG TO Wash Blvd & East & West Ramp Of Rt. 50 All Areas Between House And Store	U	7-14	23	Weeks	\$ 96.00	\$	2,208.00
205	St.	Building	Р	7-14	23	Weeks	\$ 20.00	\$	460.00
206	Maury Art Center - 3550 N. Wilson Blvd	All Areas: Curbs, Sculpture Garden, Playground, Fence Edges	Р	7-14	23	Weeks	\$ 75.00	\$	1,725.00
207	Oakland Park 3701 Wilson Blvd.	All Areas	P	7-14	23	Weeks	\$ 50.00	\$	1,150.00
208	Clay Park - 3011 N. 7Th St	All Areas	Р	7-14	23	Weeks	\$ 75.00	\$	1,725.00
209	Mosaic Park - 544 N Pollard st	All areas including adjacent utility strips	Р	7-14	23	Weeks	\$ 25.00	\$	575.00
213 214	7Th. Street - Nelson St To Oakland St 6Th St & Monroe St	Street Island	U	7-14 7-14	23 23	Weeks Weeks	\$ 8.00 \$ 4.00	\$	184.00 92.00
217 218	4Th St & Fillmore St 300 Blk Of Filmore Rocky Run Park 1200 Barton St	All Areas	U P	7-14 7-14	23 23	Weeks Weeks	\$ 4.00 \$ 150.00	\$	92.00 3,450.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	An	nual Mowing Price
		Between Gardens & Street And Adj.							
221	10Th & Barton St Garden Area	Areas	Р	7-14	23	Weeks	\$ 40.00	\$	920.00
	Washington Blvd - Highland St To Rt.								
223	50	All Island And Utility Some Utility Strips	U	7-14	23	Weeks	\$ 120.00	\$	2,760.00
	Oakland Street Mini Park 122 S	South Of N 2Nd St And Oakland St							
224	Oakland St	Intersection	Р	7-14	23	Weeks	\$ 5.00	\$	115.00
225	Fillmore Park & Trail 33 N. Filmore St	Washington Blvd. North To Fillmore St.	Р	7-14	23	Weeks	\$ 110.00	\$	2,530.00
		All Areas Except Inside Building							
	Long Branch School - 33 N. Fillmore St	•		7-14	23	Weeks	\$ 50.00	\$	1,150.00
228	N. Barton & Bryan St.	Median At Intersection	U	7-14	23	Weeks	\$ 4.00	\$	92.00
		Utility Strips Between N Glebe Rd And	U						
229	N. Randolph Street	Wilson Blvd.		7-14	23	Weeks	\$ 4.00	\$	92.00
		Median At The Intersection Of N. 16Th	U						
	N. 16Th Street & Custis Rd.	& Custis Rd.	Ŭ	7-14	23	Weeks	\$ 4.00	\$	92.00
231	Glebe & Randolph Park		р	7-14	23	Weeks	\$ 58.00	\$	1,334.00
		Utility Strips Both Sides Of Street	U						
232	N. Monroe St.	Between I-66 & N. 17Th St.	Ŭ	7-14	23	Weeks	\$ 4.00	\$	92.00
233	Sunburst Triangle	Parcel Of Land At Rt.50 & Fairfax Drive	U	7-14	23	Weeks	\$ 25.00	\$	575.00
			U						
234	Rt 50 East-Service Road	Utility Strip From N. Queen To Rolfe St.	U	7-14	23	Weeks	\$ 4.00	\$	92.00
		Median At N. Farifax Dr. & Washington	U						
235	Petco-N. Fairfax Dr.	Blvd.	U	7-14	23	Weeks	\$ 6.00	\$	138.00
		Utility Strip Between N. 11Th & 12Th	U						
	N. Barton St.	St. (West Side Of St.)	U	7-14	23	Weeks	\$ 4.00	\$	92.00
238	N. Jackson St. & Rt. 50	Area Surrounding Foot Bridge	Р	7-14	23	Weeks	\$ 4.00	\$	92.00
		All Areas, Parking Lots, U-Strips,							
		Adjacent Park Area, Mechanical Edging	F						
	Fire Station #3-4100 Old Dominion Dr	along entrance way		7-14		Weeks	\$ 6.00	\$	138.00
240	N. Woodstock & 20Th Rd. N	Median At Intersection	U	7-14	23	Weeks	\$ 4.00	\$	92.00
241	Vacation Lane & 25Th St N.	Row At Corner Of Vacation & 25Th St N	U	7-14	23	Weeks	\$ 4.00	\$	92.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	nnual Mowing Price
242	Pershing Drive	Median From Rt. 50 To N. Barton St.	U	7-14	23	Weeks	\$ 4.00	\$	92.00
244	Johnson St N- 1504	Both Sides Of Sidewalk Adjacent To 1504	U	7-14	23	Weeks	\$ 8.00	\$	184.00
245	N Oak St	Utility Strips Between Wilson & 16Th Rd N	U	7-14	23	Weeks	\$ 4.00	\$	92.00
246	The Buck Property-N Quincy & 14Th St	All Areas & Ivy Perimeter Of All Buildings	DES	7-14	23	Weeks	\$ 125.00	\$	2,875.00
247	Wilson Blvd- Ballston	3 Medians & Utility Strips From Glebe to just past Stuart St.	U	7-14	23	Weeks	\$ 3.00	\$	69.00
250	1617 N Garfield St	Utility Strips Around Perimeter Of House	U	7-14	23	Weeks	\$ 3.00	\$	69.00
251	Roberts Lane & N Lincoln St	Utility Strip From Lincoln To Monroe St	U	7-14	23	Weeks	\$ 3.00	\$	69.00
252	Clarendon Blvd & Veitch St	Median In Fron Of 2100 Clarendon Blvd.	U	7-14	23	Weeks	\$ 3.00	\$	69.00
Lump Sum Total For 7- 14 day Cycle								\$	138,529.00

	Randolph St - 23Rd St To Lorcom							
3	Lane	Row easement	U	30	7	Months	\$ 5.00	\$ 35.00
	41St - Glebe Rd To Dead End Both							
4	Sides	Row easements Also Under Parkway	U	30	7	Months	\$ 5.00	\$ 35.00
5	41St Street - Off Richmond St	At Dead End Of 41St St	U	30	7	Months	\$ 3.00	\$ 21.00
	Richmond St - Old Glebe Rd To 41St							
6	St	East Row easement	U	30	7	Months	\$ 4.00	\$ 28.00
	Ft Ethan Allen Park - 4311 Old Glebe							
7	Rd	House Grounds Adj. To Glebe Park	Р	30	7	Months	\$ 4.00	\$ 28.00
10	Monroe St - 3655 To 3671	Vacant Lot	U	30	7	Months	\$ 3.00	\$ 21.00
11	Dittmar St - 4746 To Glebe Road	South Right Of Way easement	U	30	7	Months	\$ 4.00	\$ 28.00
14	37Th St To End Of Randolph St	Right Of Way Easement Both Sides	U	30	7	Months	\$ 4.00	\$ 28.00
16	Military Rd - 3730 To 37Th St	Row Easement	U	30	7	Months	\$ 7.00	\$ 49.00
		Bank Across From And In Front Of						
17	Kenmore St - 3445	Location	U	30	7	Months	\$ 4.00	\$ 28.00
18	Roberts Lane - 3525 To 3469	East And North Of Monroe St	U	30	7	Months	\$ 3.00	\$ 21.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
	Vermont St - House At 3725 To							
20	Ditmar St	U-Strip	U	30	7	Months	\$ 3.00	\$ 21.00
21	Dittmar St - 4618 @ Wakefield St	South Right Of Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00
24	36Th St. & Woodstock St 3600 Block	Row Easement	U	30	7	Months	\$ 3.00	\$ 21.00
29	31St St - Military Rd To Quincy St	U-Strips Both Sides	U	30	7	Months	\$ 3.00	\$ 21.00
	Deadend N. Quebec St. Off N.	Utility Strip & 4' Back Of Walkway From						
31	Randolph St.	2827 To 2810	U	30	7	Months	\$ 3.00	\$ 21.00
32	32Nd St & Abingdon St	Across From 3139 Abingdon St	U	30	7	Months	\$ 21.00	\$ 147.00
34	Upshur Street - South Of 26Th	East Side	U	30	7	Months	\$ 3.00	\$ 21.00
	Military Rd - 2707 To Beachwood							
36	Circle	Across From Taylor Park	U	30	7	Months	\$ 16.00	\$ 112.00
37	26Th Street - 4514 To 4555	North Right Of Way Easement	U	30	7	Months	\$ 8.00	\$ 56.00
39	Utah St - Vacation Lane To Deadend	Row Easement	U	30	7	Months	\$ 11.00	\$ 77.00
43	26Th Street - 4624 To 4712	Glebe & 26Th St	U	30	7	Months	\$ 17.00	\$ 119.00
	Old Dominion Drive - 25Th St To 26Th							
45	St	Right Of Way Easement Both Sides	U	30	7	Months	\$ 6.00	\$ 42.00
	26Th Street Bike Trail-Yorktown Blvd							
47	To Vermont St	6 Ft Back On Each Side Of Trail	Р	30	7	Months	\$ 40.00	\$ 280.00
49	Utah St - 2420 To Taylor St	Row Easements	U	30	7	Months	\$ 3.00	\$ 21.00
50	25Th St - Richmond St To Vacant Lot	Large Open Areas	U	30	7	Months	\$ 16.00	\$ 112.00
51	Richmond St - 2306 To Deadend	Both Sides Row Easements	U	30	7	Months	\$ 4.00	\$ 28.00
52	25Th Rd & Old Dominion	Sw Corner Lot	U	30	7	Months	\$ 3.00	\$ 21.00
53	Old Dominion Dr 25Th To 26Th St	Vacant Lot East Side Adj. To Salt Tank	U	30	7	Months	\$ 24.00	\$ 168.00
54	23Rd St - At Old Dominion Drive	Northwest Corner Lot	U	30	7	Months	\$ 3.00	\$ 21.00
56	Randolph St - 2756 To 2736	Row Easement	U	30	7	Months	\$ 3.00	\$ 21.00
		Triangular Corner Plot in 2300 Blk.						
57	Vacation Lane & Taylor St.	Vacation Ln	U	30	7	Months	\$ 28.00	\$ 196.00
58	Randolph St - 4101 To 4020	Both Sides Row Easements	U	30	7	Months	\$ 5.00	\$ 35.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
59	25Th St House At 4006 To Military Rd	U- Strips	U	30	7	Months	\$ 5.00	\$ 35.00
	-	Roadside From Drive On 24Th To Drive						
64	24Th St & Fillmore St.	On Fillmore St.	U	30	7	Months	\$ 5.00	\$ 35.00
65	Edgewood St 2440 To 24Th St	North Right Of Way Easement	U	30	7	Months	\$ 5.00	\$ 35.00
70	Scott St - 21St Rd To Dead End	-	U	30	7	Months	\$ 4.00	\$ 28.00
71	Rolfe St - 2126 To Dead End	West Row Easement	U	30	7	Months	\$ 3.00	\$ 21.00
		Also Behind Barrier East Right Of Way						
72	Oak St - 22Nd St To Lee Highway	Easement	U	30	7	Months	\$ 5.00	\$ 35.00
73	23Rd St & Albemarle St	Across From 4716 N Ablemarle St	U	30	7	Months	\$ 10.00	\$ 70.00
		West Side Of Upton From Old Dominion						
75	Upton St. @ Old Dominion Dr.	Dr. End Of Fence	U	30	7	Months	\$ 3.00	\$ 21.00
77	Strafford Park Hillside	Steep Bank Around Upper Field	Р	30	7	Months	\$ 35.00	\$ 245.00
83	2100 Pollard St.	Power Box Area Next To 2114 Pollard St.	U	30	7	Months	\$ 3.00	\$ 21.00
84	Nelson Street - 21St To 22Nd Street	Right Of Way Areas	U	30	7	Months	\$ 3.00	\$ 21.00
	Quincy St @ 2244 To Quebec St @							
85	4016	Right Of Way Areas	U	30	7	Months	\$ 6.00	\$ 42.00
88	Kenmore St @ 23Rd Rd	Nw Side Utility Strip	U	30	7	Months	\$ 3.00	\$ 21.00
	Fillmore St - 3442 To 2342 (@ Lorcom	-						
89	Lane)	West Right Of Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00
90	Filmore St & Custis St To Custis Trail	Thrifton Hill Footpath	U	30	7	Months	\$ 9.00	\$ 63.00
91	Lorcom Lane - Edgewood To Parkway	N Side Cut To Sign, S Side Cut To Pkway	U	30	7	Months	\$ 8.00	\$ 56.00
	Sw Corner Lorcom Lane At Edgewood	Roadway Nub To Include Area Behind						
92	St.	Leyland Cypress Trees	U	30	7	Months	\$ 5.00	\$ 35.00
		To Dead End At Old Dominion & Cul-De-						
93	Irving St And 22Nd St.	Sac	U	30	7	Months	\$ 6.00	\$ 42.00
96	20Th Rd - 3219 To Johnson St	U-Strips Both Sides	U	30	7	Months		\$ 112.00
97	Kenmore St - 2121 To Lee Highway	Both Sides	U	30	7	Months	\$ 12.00	\$ 84.00
	Harvard St & 20Th St	U-Strip To 3121 Harvard St	U	30	7	Months	\$ 3.00	\$ 21.00
102	Bryan St - 18Th St To Lee Highway	Both Sides	U	30	7	Months	\$ 5.00	\$ 35.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price	ce
103	Calvert St - 1995 To Lee Hwy	Both Sides To Dead End East U-Strip	U	30	7	Months	\$ 3.00	\$ 21.	.00
104	Lee Highway-Cleveland To Calvert St	Service Rd Island	U	30	7	Months	\$ 23.00	\$ 161.	.00
		Alley Behind 1702 - 1710 Nelson St. To							
	Nelson St. Alley	18Th St.	U	30	7	Months		\$ 21.	
107	18Th St, - 3400 Block	Right Of Way North Side	U	30	7	Months	\$ 4.00	\$ 28.	
108	Johnson St - 1909 To 18Th St	South Right Of Way Easement	U	30	7	Months	\$ 9.00	\$ 63.	.00
		Alley Behind Houses Between Key Blvd &							
110	1700 Blk. Adams St. Alley	18Th St	U	30	7	Months	\$ 8.00	\$ 56.	.00
		Alley Behind Houses Between Key Blvd &							
111	1700 Blk. Barton St. Alley	18Th St	U	30	7	Months	\$ 8.00	\$ 56.	.00
		Alley Behind Houses Between Edgewood							
112	Highland St. Alley 1800 Blk.	St. & Danville St.	U	30	7	Months	\$ 6.00	\$ 42.	.00
	-	Utility Strip From 3811 To Deadend Of							
117	17Th St. @ Pollard St.	17Th St.	U	30	7	Months	\$ 3.00	\$ 21.	.00
119	15Th St - Quincy St To Taylor St	South U-Strips All Areas Adj. To I-66	U	30	7	Months	\$ 14.00	\$ 98.	.00
		Nw Corner Lot Between House #4207							
120	Nw Corner Stafford St. & 15Th St.	15Th St. And Stafford St.	U	30	7	Months	\$ 7.00	\$ 49.	.00
	15Th Street - Quincy St To Rear								
121	Home Lot	Cut Steep Bank	U	30	7	Months	\$ 9.00	\$ 63.	.00
		West Side Of Street Between Clarendon							
131	Cleveland St. Utility Strip	& Wilson Blvd.	U	30	7	Months	\$ 3.00	\$ 21.	.00
					<u> </u>		* 0.00	·	
133	21St St - Courthouse Rd To Vietch St	U-Strips Both Sides	U	30	7	Months	\$ 4.00	\$ 28.	.00
134	Quinn St - 21St Rd To 21 St	Right Of Ways And Island	U	30	7	Months		\$ 70.	
	20Th St & N. Troy St	Along North Side Of Lee Highway	U	30	7	Months		\$ 441.	
136	Quinn St - Key Blvd To Lee Highway	East Right Of Way Easement	U	30	7	Months	\$ 23.00	\$ 161.	
142	Nash St - 20Th St To Key Blvd	West Right Of Way Easement	U	30	7	Months	\$ 5.00		.00
	20 31 20 31 10 10 10 100	U-Strips From Lee Highway To I-66 Both			,		+ 0.00	+ 00.	
144	Vietch St. @ Lee Highway	Sides	U	30	7	Months	\$ 11.00	\$ 77.	.00
	Key Blvd - Oak St To Ode St.	West Side U-Strip	U	30	7	Months		\$ 21.	
	,			30	7				
152	17Th Street Row @ Lynn St.	Hillside & Island Both Sides Of Overpass	U	3U	1	Months	\$ 3.00	\$ 21.	.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
		Roadside From Rhodes St To & Down						
156	16Th St. & Quinn St.	Quinn St To 1St Dr	U	30	7	Months	\$ 3.00	\$ 21.00
159	16Th St - 1701 To Quinn St	U Strip North Side	U	30	7	Months	\$ 3.00	\$ 21.00
		Parking Meter Area South Side Of						
160	Fairfax Dr. @ Ft. Myer Dr.	Fairfax Dr.	U	30	7	Months	\$ 3.00	\$ 21.00
		Se Corner Lot To Include Walkway On						
167	14Th St. & Adams St. Lot	14Th Street	Р	30	7	Months	\$ 49.00	\$ 343.00
170	Rolfe Street - 1307 To 1321	East Side Right Of Way Easement	U	30	7	Months	\$ 4.00	\$ 28.00
171	15Th St & Scott St	Corner Vacant Lot	U	30	7	Months	\$ 3.00	\$ 21.00
		U-Strip South Of Rt. 50, West Of Queen						
173	Quinn St - 1230 To 1240	And Quinn St	U	30	7	Months	\$ 3.00	\$ 21.00
		Both Sides Of Rt. 50 And Sw Corner Of						
174	Rhodes & 14Th St Bridge Abutments	Queens St	U	30	7	Months	\$ 5.00	\$ 35.00
	W&L High School-Under Stadium							
	Bleachers	Also Outside Stafford Street Fence	S	30	7	Months	\$ 56.00	\$ 392.00
		Utility Strip On Lincoln Next To House At						
185	Lincoln St. @ 12Th Rd.	3444 12Th Rd.	U	30	7	Months	\$ 3.00	\$ 21.00
188	13Th Street - Johnson To Jackson St	Both Sides Row Easements	U	30	7	Months	\$ 4.00	\$ 28.00
		100' Past 13Th St Both Sides Right Of						
189	Johnson St @ Washington Blvd	Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00
		Northside Of St From Danville St To						
195	11Th St Roadside	Danville St	U	30	7	Months	\$ 3.00	\$ 21.00
200	Lincoln St - South Of Washington Blvd	West Side Utility Strip And Center Island	U	30	7	Months	\$ 3.00	\$ 21.00
201	Fairfax Dr. Alley	Alley Between 3440 & 3444 Fairfax Dr.	U	30	7	Months	\$ 3.00	\$ 21.00
215	500 Block N. Irving St.	Utlity Strip On Nw Corner At 5Th St.	U	30	7	Months	\$ 3.00	\$ 21.00
216	Highland St - 414 To Pershing Dr	West Right Of Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00
		Row At Parking Meters Across From						
219	Fairfax Dr Rt.50 To Barton St.	Rocky Run	U	30	7	Months	\$ 3.00	\$ 21.00
	Fairfax Dr @ Rt 50-Rolf St To	Row Easements & Embankment @						
220	Courthouse Rd	Courthouse Rd	U	30	7	Months	\$ 21.00	\$ 147.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity		Price per Week or Month	Ann	ual Mowing Price
222	4Th St. Roadside	Roadside Adjacent To 400 Barton St.	U	30	7	Months	\$ 3.00	\$	21.00
		Behind Houses On Wash Blvd. From Rt.							
227	Bedford St. Alley	50 To Brookside Dr.	U	30	7	Months	\$ 11.00	\$	77.00
236	N 17Th St3400 Blk Dead End	Fire Hydrant & Guardrail	U	30	7	Months	\$ 3.00	\$	21.00
	Lump Sum Total For 30-day Cycle								5,922.00

There Are No Designated Leaf Removal/Collection Locations For This Quadrant

Total For Northeast Mowing and Related Services

\$ 213,929.00

Contract Unit Prices								
1. Mowing per Acre, Athletic Field-Bermuda Grass-Reel Mow	\$	98.00						
2. Mowing per Acre, Athletic Field-Cool Season	\$	88.00						
3. Mowing Per Acre	\$	78.00						
4. Grass Clipping Removal Per Acre	\$	150.00						
5. Fertilization per Acre	\$	300.00						
6. Weed Control per Acre	\$	300.00						
7. Overseeding per Acre	\$	600.00						
8. Leaf Removal per Acre	\$	500.00						
9. Mechanical Edging per linear Foot	\$	0.25						

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
		Athletic Field - Rectangle - Bermuda						
204	Benamin Banneker Park	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 300.00	\$ 6,600.00
		Athletic Field - Rectangle - Bermuda						
205	Bluemont Junction Park	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 320.00	\$ 7,040.00
		Athletic Field - Rectangle - Bermuda						
210	Charles A. Stewart Park	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.00	\$ 4,400.00
	Fields Park - George Mason & Wilson	Athletic Field - Rectangle - Bermuda						
212	Blvd	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 220.00	\$ 4,840.00
		Athletic Field - Rectangle - Bermuda						
213	Glebe School - 1700 N. Glebe Rd	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 180.00	\$ 3,960.00
	Greenbrier Park /Yorktown School-	Athletic Field #1 - Diamond - Bermuda						
214	2800 Greenbrier St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 175.00	\$ 3,850.00
215	Greenbrier Park /Yorktown School- 2800 Greenbrier St	Athletic Field #2 - Diamond - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.00	\$ 4,400.00
216	Greenbrier Park /Yorktown School- 2800 Greenbrier St	Athletic Field #3 - Diamond - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 500.00	\$ 11,000.00
		Athletic Field - Diamond - Bermuda						
217	Highview Park - 1900 N. Cameron St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 159.00	\$ 3,498.00
222	Madison Manor Park - 1201 N. Quantico St	Athletic Field - Combo - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 400.00	\$ 8,800.00
225	Powhatan Springs Park 6020 Wilson Blvd.	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 225.00	\$ 4,950.00
	Swanson Middle School - 5800 Wash.	Athletic Field - Rectangle - Bermuda					-	,
226	Blvd	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 425.00	\$ 9,350.00
227	Tuckahoe Park - 2400 N.Sycamore St.	Athletic Field #1 - Combo Diamond - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 575.00	\$ 12,650.00
231	Westover Park - 1011 N. Kennebec St	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 180.00	\$ 3,960.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ar	nnual Mowing Price	
234	Williamsburg School - 36Th & N. Harrison St	Athletic Field - Combo Diamond - Bermuda Grass - Irrigation -Reel Mower	Р	AF	22	Weeks	\$ 400.00	\$	8,800.00	
	Lump Sum To	tal for Athletic Fields with Berr	nud	a Gı	ass			\$	98,098.00	
208	3									
232	Westover Park - 1011 N. Kennebec St	Athletic Field #1 - Diamond - Cool Season Grass - Irrigation Athletic Field #2- Diamond - Cool	Р	AF	31	Weeks	\$ 80.00	\$	2,480.00	
233	Westover Park - 1011 N. Kennebec St		Р	AF	31	Weeks	\$ 30.00	\$	930.00	
	Lump Sum Total for At	hletic Fields with Cool Season (Gras	SS W	ith Irriç	gation		\$	7,130.00	
202	Arlington Traditional School - 850 N. George Mason Dr.	Athletic Field #1 - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 65.00	\$	2,015.00	
203	Arlington Traditional School - 850 N. George Mason Dr.	Athletic Field #2 - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 65.00	\$	2,015.00	
206	Bluemont Park	Athletic Field #1 - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 220.00	\$	6,820.00	
207	Bluemont Park	Athletic Field #2 - Combo Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 220.00	\$	6,820.00	
209	Bluemont Park	Athletic Field Aux - Open Grass - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 220.00	\$	6,820.00	
211	East Falls church Park - 1730 N. Roosevelt St.	Athletic Field - Open Grass - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 90.00	\$	2,790.00	
218	Jamestown Park Back- 3618 N. Dickerson St.	Athletic Field - Combo Rectangle - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 250.00	\$	7,750.00	
219	Jamestown Elementary School Front - 37Th & Delaware St	Athletic Field - Combo Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 150.00	\$	4,650.00	
220	Lacey Woods Park - George Mason Dr @ Wash. Blvd	Athletic Field - Rectangle - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$	3,720.00	
	Nottingham School - Ohio St & Little	Athletic Field #1 - Combo Diamond -								

AF

31

Weeks \$

150.00 \$

4,650.00

Cool Season - No Irrigation

Bidder Name: McDonnell Landscape, Inc.

Falls Rd

223

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Anr	nual Mowing Price
	Nottingham School - Ohio St & Little	Athletic Field #2 - Combo Diamond -							
224	Falls Rd	Cool Season - No Irrigation	Р	AF	31	Weeks	\$ 150.00	\$	4,650.00
	Walter Reed School - 1644 N McKinley	Athletic Field - Diamond - Cool Season							
228	Rd	Grass - No Irrigation	Р	AF	31	Weeks	\$ 140.00	\$	4,340.00
	Walter Reed School - 1644 N McKinley	Athletic Field - Lower - Rectangle - Cool							
229	Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 75.00	\$	2,325.00
	Walter Reed School - 1644 N McKinley	Athletic Field - Upper - Rectangle - Cool							
230	Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$	3,720.00
	Woodlawn Park - Buchanan & 14Th	Athletic Field - Rectangle - Cool Season							
	St	Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$	3,720.00
	Lee Center - Lee Highway & Lexington	Athletic Field - Diamond - Cool Season							
221	St	Grass - No Irrigation	Р	AF	31	Weeks	\$ 42.00	\$	1,302.00
	Lump Sum Total for Athletic Fields with Cool Season Grass - No Irrigation \$								68,107.00

	Jamestown Elementary School - 37Th	All Areas Except Inside Building						
1	& Delaware St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 180.00	\$ 4,140.00
	Jamestown Park - 3618 N. Dickerson							
2	St.		Р	7-14	23	Weeks	\$ 16.00	\$ 368.00
5	36Th & N. Glebe Rd - Street Island		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	Edison St & 37Th St - At Dead End Of							
6	N. 37Th St		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	36Th & Potomac St - 6200 Block Of							
8	36Th St		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	35Th St & Pocomoke - 3500 Block Of							
9	Potomac St		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	Minor Hill & Sharp Park-Wlmsburg &							
10	Powhattan	All Areas Around Tanks & Gardens	Р	7-14	23	Weeks	\$ 51.00	\$ 1,173.00
	Williamsburg Blvd - Little Falls Rd To	All Islands Including Large Islands At						
11	Glebe	Little Falls	U	7-14	23	Weeks	\$ 88.00	\$ 2,024.00
		Street Median From Williamsburg Blvd.			·			
12	Little Falls Road	To Nottingham St.	U	7-14	23	Weeks	\$ 16.00	\$ 368.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
	Williamsburg School - 36Th & N.	All Areas Except Inside Building						
15	Harrison St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 900.00	\$ 20,700.00
	George Mason Dr - Old Dominion To							
16	Little Falls		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	John Marshall Dr - Little Falls To							
19	Williamsburg	Island & West Row easement	U	7-14	23	Weeks	\$ 30.00	\$ 690.00
21	Vanistavina Divide et la California de Ta Ediados	Jalan da	١.,	7 1 1	22	Maala	ф 1/ OO	ф 2/0.00
21	Yorktown Blvd - Lexington To Edison	Islands Park Goes To Yorktown Blvd @ G.M.	U	7-14	23	Weeks	\$ 16.00	\$ 368.00
22	Dook Springs Dork FOOO Little Falls Dd	Drive All Areas		7 1 1	22	Modro	¢ 110.00	ф 2 F20 00
22	Rock Springs Park - 5000 Little Falls Rd. George Mason Dr - Yorktown Blvd To	All Islands & Lg. Open Areas At Lee	р	7-14	23	Weeks	\$ 110.00	\$ 2,530.00
23	Route 50	Highway	U	7-14	23	Mooko	\$ 300.00	¢ 4,000,00
23	Nottingham School - Ohio St & Little	All Areas Except Inside Building	U	7-14	23	Weeks	\$ 300.00	\$ 6,900.00
24	Falls Rd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 100.00	\$ 200.00
24	Chestnut Hills Park - 2723 N Harrison	Backs Up To Greenbriar Stadium To	3	7-14	23	vveeks	\$ 100.00	\$ 2,300.00
25	St	Include Garden Plots	Р	7-14	23	Weeks	\$ 166.80	\$ 3,836.40
20	Greenbrier Park /Yorktown School-	All Slopes, Adj. U-Strips, Parking Lots,	Г	7-14	23	weeks	\$ 100.00	\$ 3,030.40
26	2800 Greenbrier St	And Fence Lines	Р	7-14	23	Weeks	\$ 660.00	\$ 15,180.00
20	Yorktown Blvd - Under Old Dominion	Islands And Easements West Side Of	1	7-14	23	VVCCK3	\$ 000.00	φ 13,100.00
27	Overpass	Bridge	U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	Birch Cemetery - N.28Th St. &	bridge	0	7-14	23	VVCCK3	ψ 10.00	φ 300.00
	Sycamore St.	All Areas	Р	7-14	23	Weeks	\$ 16.00	\$ 368.00
20	Andrew Ellicot Park - Arizona St,	S. Of Williamsburg Blvd Park And Adj.	+ '-	7-14	23	VVCCK3	ψ 10.00	ψ 300.00
29	Western Corner	Rows	Р	7-14	23	Weeks	\$ 16.00	\$ 368.00
		All Areas Except Inside Building	<u> </u>			1100110	7 .0.00	+ 555.55
31	Sycamore St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 420.00	\$ 9,660.00
	Sycamore St - 26Th St To	All Islands And Utility Strips & N. Bank					, , , , , ,	+ 1/222122
33	Williamsburg Blvd.	@ I-66 Exit Ramp	U	7-14	23	Weeks	\$ 90.00	\$ 2,070.00
	O .	Islands, Utility Strip & Row @						,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
34	Little Falls	Winchester St.	U	7-14	23	Weeks	\$ 16.00	\$ 368.00
		All Areas Fences, Rear Areas, Curbs,						
37	St & 24Th	Playground,	Р	7-14	23	Weeks	\$ 160.00	\$ 3,680.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
		All Areas From Lee Highway To 26Th St,						
38	Tuckahoe Park - 2400 N.Sycamore St.	Woods, U-Strips	Р	7-14	23	Weeks	\$ 300.00	\$ 6,900.00
	Ohio St & 26Th - Next To 2507 Ohio							
41	St		Р	7-14	23	Weeks	\$ 8.00	\$ 184.00
		All Areas Including Outside Fence Lines						
	Lee Center - Lee Highway & Lexington	And Adj. To Streets, Mechanical Edging						
42	St	along Entry way	Р	7-14	23	Weeks	\$ 60.00	\$ 1,380.00
	John Marshall Greenway - 2200 N.	N 20Th To Lee Hwy And Field At Lee						
44	John Marshall Dr.	Hwy	U	7-14	23	Weeks	\$ 140.00	\$ 3,220.00
		Roadside Adjacent To House #6101						
45	Ohio St @ N. 20Th St.	20Th St.	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Patrick Henry Dr - 20Th St. George							
46	Mason Dr.		U	7-14	23	Weeks	\$ 25.00	\$ 575.00
47	22Nd & N. Potomac St Street Island		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
		Park Loops Behind 20Th & 21St Houses						
48	Parkhurst Park - 5820 N. 20Th St.	All Areas	Р	7-14	23	Weeks	\$ 290.00	\$ 6,670.00
		All Areas Fences, Rear Areas, Curbs,						
		Playground, Mechanical Edging along						
52	Langston Center - 4854 Lee Highway	entrance way	Р	7-14	23	Weeks	\$ 65.00	\$ 1,495.00
	-							
		All Areas includes Utility Strips,						
53	Fire Station # 8 - 4845 Lee Highway	Mechanical Edging along entrance way	F	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Cameron St & Lee Highway - Large							
54	Islands	Totem Pole Areas And Adj. U-Strips	Р	7-14	23	Weeks	\$ 8.00	\$ 184.00
57	Big Walnut Park - 1901 N. Harrison St		Р	7-14	23	Weeks	\$ 90.00	\$ 2,070.00
58	Highview Park - 1900 N. Cameron St	All Areas And All Perimeters	Р	7-14	23	Weeks	\$ 110.00	\$ 2,530.00
	Slater Tract Park - N. 19Th & N.	Both Sides And Wooded Areas In						
59	Culpeper St.	Middle	Р	7-14	23	Weeks	\$ 12.00	\$ 276.00
	19Th & Culpeper St - Next To 1827							
60	Culpeper St		U	7-14	23	Weeks	\$ 8.00	\$ 184.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	nnual Mowing Price
		All Areas Except Inside Building							
62	Glebe School - 1700 N. Glebe Rd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 70.00	\$	1,610.00
65	Dinwiddie St - 17Th St To Edison St.	South Side Utility Strip	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	17Th & Culpeper St - Next To 1717								
66	Culpepper	Also Along Fence On Sw Corner 60' X 6'	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Benjamin Bannaker Park - 6620 N.	All Areas - Fences, Wooded Areas,							
70	18Th St.	Stream Edges	Р	7-14	23	Weeks	\$ 735.00	\$	16,905.00
	East Fallschurch Park - 1730 N.	All Areas - Fences, Wooded Areas,							
71	Roosevelt St.	Stream Edges	Р	7-14	23	Weeks	\$ 100.00	\$	2,300.00
77	21St & N. Potomac St Street Island		U	7-14	23	Weeks	\$ 16.00	\$	368.00
81	26Th St & Potomac St - 2500 Block		U	7-14	23	Weeks	\$ 16.00	\$	368.00
	Ohio St. & N.18Th St Corner								
84	Location		U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Ohio St. & 14Th St - I-66 Entrance To								
85	Bike Trail		Р	7-14	23	Weeks	\$ 28.00	\$	644.00
	Kenilworth St. N. & 15Th St - Island								
86	Areas		U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Madison Manor Park - 1201 N.	All Areas - Fences, Wooded Areas,							
87	Quantico St	Stream Edges	Р	7-14	23	Weeks	\$ 422.00	\$	9,706.00
88	Four Mile Run Drive & Madison St	West To Cul De Sac	Р	7-14	23	Weeks	\$ 8.00	\$	184.00
	Ohio St @ Mckinley Rd - St Row By	To Include Utility Strip Adjacent To 6107							
90	Bike Trail	12Th Rd.	Р	7-14	23	Weeks	\$ 28.00	\$	644.00
	Swanson Middle School - 5800 Wash.	Sports Field Area And Street Median @							
93	Blvd	Crosswalk	Р	7-14	23	Weeks	\$ 100.00	\$	2,300.00
	Mckinley School - 1030 N. Mckinley	All Areas Except Inside Building							
94	Rd.	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 300.00	\$	6,900.00
	Mace Park - Patrick Henry Dr. To	Also Trail To Arlington Mill Drive And							
95	Liberty St.	Along Creek	Р	7-14	23	Weeks	\$ 80.00	\$	1,840.00
97	9Th Rd Cul-De-Sac - Near Lexington St	U-Strip And Bank	IJ	7-14	23	Weeks	\$ 8.00	\$	184.00
		All Areas Including Slope Areas and							
98	Westover Park - 1011 N. Kennebec St	areas around fields	Р	7-14	23	Weeks	\$ 210.00	\$	4,830.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
	Woodlawn Park - Buchanan & 14Th	All Areas From 13Th St To Back Of						
100	St	Hospice	Р	7-14	23	Weeks	\$ 90.00	\$ 2,070.00
101	Glebe Rd & North 13Th St		U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Lacey Woods Park - George Mason Dr	Open Areas, Woods Perimeters,						
102	@ Wash. Blvd	Playground Area, U-Strips	Р	7-14	23	Weeks	\$ 100.00	\$ 2,300.00
104	Washington Blvd & N. Glebe Rd	Island 50' West Of Glebe Rd	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Aberdeen St & Washington Blvd @ I-							
105	66	Mow Bank & Trim Bumper Rail	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
107	10Th St - At George Mason Dr. & I-66	Nw & Sw Corners	U	7-14	23	Weeks	\$ 25.00	\$ 575.00
108	9Th & Harrison St At I-66	4 Sides Of Bridge & Dead End Area	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Connector Trail - Lexington To							
109	Harrison St.	South Of I-66 Trail And Street U-Strips	Р	7-14	23	Weeks	\$ 80.00	\$ 1,840.00
112	Jacksonville St - 9Th Rd To 9Th St	West Row Easement	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Arlington Traditional School - 850 N.	All Areas Except Inside Building						
113	George Mason Dr.	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 200.00	\$ 4,600.00
	Fields Park - George Mason & Wilson	Area Surrounding Field And Bike Trail To						
114	Blvd	Fairfax Drive	Р	7-14	23	Weeks	\$ 320.00	\$ 7,360.00
	8Th St & N. Buchanan St Off Wilson							
115	Blvd		U	7-14	23	Weeks	\$ 8.00	\$ 184.00
		All Areas, mechanical edging along						
116	Fire Station # 2 - 4815 Wilson Blvd.	entrance way	F	7-14	23	Weeks	\$ 8.00	\$ 184.00
		All Areas-Playfields, Picnic Gnds, Stream						
122	Bon Air Park - Wilson Blvd To I-66	Edges, Parking Lots	Р	7-14	23	Weeks	\$ 400.00	\$ 9,200.00
	Wilson Blvd - From Mckinley To							
123	Lexington	All Islands	U	7-14	23	Weeks	\$ 425.00	\$ 9,775.00
	Patrick Henry Drive - Wilson Blvd To							
124	N. 10Th	Islands And Some U-Strips	U	7-14	23	Weeks	\$ 6.00	\$ 138.00
	Powhatan Springs Park 6020 Wilson	·						
126	Blvd.	All Grass Areas & Sidewalk Utility Strips	Р	7-14	23	Weeks	\$ 78.00	\$ 1,794.00
	Bluemont Park - Wilson Blvd To Route	All Areas-Playfields, Picnic Ground,						
	50 Bridge	Stream Edges, Parking Lots	Р	7-14	23	Weeks	\$ 1,300.00	\$ 29,900.00
134	800 Block N. Greenbriar St.	Street Island Across From 851	U	7-14	23	Weeks	\$ 6.00	\$ 138.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ann	ual Mowing Price
	Carlin Springs Rd - Kensington To								
136	G.Mason Dr.	Street Islands	U	7-14	23	Weeks	\$ 28.00	\$	644.00
	Granada St - Street Island Near N.								
137	4Th St.		U	7-14	23	Weeks	\$ 28.00	\$	644.00
	Barrett School - 4401 N. Henderson	All Areas Except Inside Building							
138	Rd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 230.00	\$	5,290.00
		Rt. 50 To George Mason Drive Including							
	Lubber Run Rec. Center & Park - 300	All Access Streets, Mechanical Edging							
139	Park Drive	along entrance way	Р	7-14	23	Weeks	\$ 340.00	\$	7,820.00
	Bluemont Junction Trail - Wilson To	All Open Areas, Street Crossings And Cul-							
140	Bluemont Park	De-Sac Access Areas	Р	7-14		Weeks	\$ 260.00	\$	5,980.00
143	2Nd Rd & Columbus St	Islands	U	7-14	23	Weeks	\$ 5.00	\$	115.00
	Glebe Rd N. @ Carlyn Springs Rd -								
144	Island	1St Island South Of Carlyn Springs Rd	U	7-14	23	Weeks	\$ 10.00	\$	230.00
	Carlin Springs Rd & Kensington St -								
145	Bike Trail	Along Bike Trail East Side Of Kensington	Р	7-14	23	Weeks	\$ 70.00	\$	1,610.00
147	Granada St & Arlington Blvd - Corners			7-14		Weeks	\$ 5.00		115.00
148	1St Place - At Carlin Springs Rd.	Hillside Area	U	7-14	23	Weeks	\$ 10.00	\$	230.00
149	Edison Park - 213 N. Edison St.		Р	7-14	23	Weeks	\$ 18.00	\$	414.00
150	Edison & N. Arlington Blvd - Corners		U	7-14	23	Weeks	\$ 10.00	\$	230.00
		Park & Islands At Shopping Center							
151	Park Drive & Arlington Blvd	Entrance & 2 On Rt. 50	U	7-14	23	Weeks	\$ 60.00	\$	1,380.00
	Rte 50 & Glebe Rd - Islands And U-	7 Areas - Ramps, Underpass U-Strips,							
152	Strips	Islands,	U	7-14	23	Weeks	\$ 20.00	\$	460.00
	S	7 Areas - Glebe Rd To North Henderson							
154	& U-Strips	St	U	7-14	23	Weeks	\$ 28.00	\$	644.00
		All Areas Except Inside Building							
156	Ashlawn School - 5950 N. 8Th Rd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 220.00	\$	5,060.00
	Route 50 West Entryway - @ County	Near Nottingham St Intersection Mow							
157	Line	Area Around Sign	U	7-14	23	Weeks	\$ 10.00	\$	230.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	nnual Mowing Price
	Rt. 50 & Manchester St - Rt. 50 Center								
159	Island	West Of Intersection Very Small Island	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Medians Fron N. Tridad To N.							
161	Williamsburg Blvd Medians	Westmoreland St.	U	7-14	23	Weeks	\$ 28.00	\$	644.00
	-	ROW On N. George Mason & Utility Strip							
162	N. George Mason Dr & N. 16Th Street	On 16Th St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	-	Median Strip From N. 16Th St To N.							
163	N. Patrick Henry Dr. Median Strip	Illinois St.	U	7-14	23	Weeks	\$ 34.00	\$	782.00
	·								
164	N Aberdeen St. Row	R-O-W In Fron To 1122 N. Aberdeen St.	U	7-14	23	Weeks	\$ 5.00	\$	115.00
		Island At The Intersection Of 25Th & N.							
165	25Th & N. Florida St.	Florida St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Nw Corner Of N. George Mason Dr &							
166	Buckingham Plaza Mini-Park	Henderson St.	Р	7-14	23	Weeks	\$ 20.00	\$	460.00
		Median From N. Edison To N. Fredrick							
167	N. Wilson BlvdMedian Strip	St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
168	N. Emerson St. Row	Row Adjacent To 1501 N. 25Th Street	Р	7-14	23	Weeks	\$ 10.00	\$	230.00
		Median Fron Washington Blvd. To							
170	N. Ohio St	N.18Th St.	U	7-14	23	Weeks	\$ 5.00	\$	115.00
		All Areas Except Inside Building							
	North Fairfax Drive Park	Sidewalk.	Р	7-14	_	Weeks	\$ 30.00	\$	690.00
173	N. 5Th & Jefferson St.	Row Surroudning 502 N. Jefferson St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Row Next To 500 N. Abingdon StFrom							
174	N. Abingdon St.	Abingdon To Stream	Р	7-14	23	Weeks	\$ 5.00	\$	115.00
	Walter Reed School - 1644 N McKinley	Grass areas along 18th st N and N							
200	Rd	Lexington St - Under Construction	Р	7-14	23	Weeks	\$ 20.00	\$	460.00
	Walter Reed School								
201	Grounds/Westover Library	Grassy areas along N McKinley Rd	S	7-14	23	Weeks	\$ 35.00	\$	805.00
		Medians From Randolph St.To Wilson	U						
243	N Glebe	Blvd.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Lump Sum Total for 7 - 14 day Cycle								

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
	Donale at a Ct. Next To 2005 (Heaves	O	1	ı	ı			
	Dumbarton St. Next To 3905 (Upper	Open Lot East Side Of Street - Upper		20	_	N / = .= + l= =	ф 00.00	ф <u>г/о оо</u>
3	Pimmit Run)	Pimmit Run	Р	30	7	Months	\$ 80.00	\$ 560.00
	Dumbarton St. West Side (Upper	Open Lot Between 3900 & 3916		00	_		Φ 50.00	φ 050.00
4	Pimmitt Run)	(address for lot is 3912)	P	30	7	Months		\$ 350.00
7	Glebe Rd. & Little Falls Rd.	Traffic Island & N. Utility Strip	U	30	7	Months	\$ 10.00	\$ 70.00
10	36Th St - Kensingston St To School	N 11 B A A II 1 T CI 1	١	00	_		40.00	.
13	Field	North Row Area Adjacent To Street	U	30	7	Months	\$ 10.00	\$ 70.00
	Williamsburg School Trail - Field To				_			
14	Harrison St		Р	30	7	Months	\$ 20.00	\$ 140.00
	Frederick St. Alley - Behind 3601	Utility Easement Next To 5155						
17	Harrison St.	Williamsburg Blvd.	U	30	7	Months	\$ 20.00	\$ 140.00
	Old Dominion Access Road - 29Th To							
18	Rock Spring Rd		U	30	7	Months	\$ 20.00	\$ 140.00
	Harrison St - Little Falls Rd To							
20	Yorktown Blvd	East Row easement	U	30		Months		\$ 70.00
30	Westmoreland St. At N.29Th St.	Sidewalk R-O-W West Side Of Street	U	30	7	Months	\$ 10.00	\$ 70.00
		On Side Of House At 2720 North Row						
32	Little Falls Rd - 6714 To Underwood St		U	30	7	Months	\$ 10.00	\$ 70.00
	Westmoreland St - Fairfax Dr To	Row Areas Both Side And Adj. To I-66						
35	Williamsburg Blvd	Bridge	U	30	7	Months	\$ 10.00	\$ 70.00
		Sw Corner Lot To Base Of Hill To I-66						
36	28Th St. & Westmoreland St.	Bridge	U	30	7	Months	\$ 10.00	\$ 70.00
39	26Th St. & Lexington St.	Property Fence	U	30	7	Months	\$ 10.00	\$ 70.00
40	28Th St. R-O-W	Lexington St.	U	30	7	Months	\$ 10.00	\$ 70.00
	22Nd St. From Lexington To Kentucky	North Side Utility Strip Adjacent To	Ť		-		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , ,
49	St.	2115 Lexington St.	lυ	30	7	Months	\$ 10.00	\$ 70.00
50	Dinwiddie St @ 2329 - Dead End	East Row easement	U	30	7	Months	\$ 10.00	\$ 70.00
51	23Rd Rd - Dickerson St To Deadend	South Row easement	Ü	30	7	Months	\$ 10.00	\$ 70.00
55	23Rd Rd - 5100 To 5123 24Th St	Alley Behind Shopping Center	U	30	7	Months	\$ 10.00	\$ 70.00
		Behind Houses From Deadend To 21St	† -		-			, , , , , , , , , , , , , , , , , , , ,
56	Brandywine St. Alley	St.	lυ	30	7	Months	\$ 19.00	\$ 133.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ann	ual Mowing Price
61	Cameron St - Between 1917 & 1927	East Row easement	U	30	7	Months	\$ 10.00	\$	70.00
		Dead end R-O-W Off George Mason Dr.							
64	19Th St. R-O-W - 5200 Block	After House #5231	U	30	7	Months	\$ 10.00	\$	70.00
		East Row Adj. To Bike Trail On Little							
67	Little Falls Road @ Winchester St	Falls	U	30	7	Months	\$ 8.00	\$	56.00
	Fairfax Drive - Lee Hwy To Vanderpool								
68	To 19Th Rd	Row easements Both Sides	U	30	7	Months	\$ 8.00	\$	56.00
	Isaac Crossman Park-Westmoreland St								
69	19Th To Van Buren St	East Side Row All Along Woods	U	30	7	Months	\$ 19.00	\$	133.00
72	Roosevelt St 1709 To Bike Trail Entrance	East Side Row All Along Woods	U	30	7	Months	\$ 19.00	\$	133.00
12	Quantico St - 1918 To Washington	Last Side Now All Along Woods	U	30	/	IVIOTILITS	Φ 19.00	Φ	133.00
78	_	Both Side Of Street	U	30	7	Months	\$ 20.00	\$	140.00
70	Potomac St @ Pomomoke St - Open	Also West Row Of Potomac St To Bike		30	,	WOTTETTS	Ψ 20.00	Ψ	140.00
82	Area	Trail	U	30	7	Months	\$ 10.00	\$	70.00
	Quantico St @ N. 18Th Rd - Ne				,		+ 10.00	*	
83	Corner	Vacant Lot Area	U	30	7	Months	\$ 10.00	\$	70.00
		Sidewalk Island & 2' Behind Sidewalk							
89	Madison St. @ Four Mile Run Dr.	From 1023 To Corner	U	30	7	Months	\$ 10.00	\$	70.00
	Dead-End Mckinley Rd. North Side Of I-	4Ft. Behind Curb From Biketrail							
91	66	Entrance To House #1321	U	30	7	Months		\$	56.00
92	Livingston St @ 1222. Trail	To Swanson School & 15Th Street	U	30	7	Months	\$ 8.00	\$	56.00
		Area Between Houses And I-66 To							
96	Kentucky St @ 966 - Vacant Lot	Patrick Henry Drive	U	30	7	Months	\$ 55.00	\$	385.00
00	14Th Ct. Dotwoon Houses 5404 9 5504	Doodoido Dotugon Force And Curkling		20	_	- حالم م	ф 0.00	ф	F/ 00
99	16Th St. Between Houses 5404 & 5506		U	30	7	Months	\$ 8.00	\$	56.00
103	Evergreen St. @ Washington Blvd. Row Areas	All Rows On The Evergreen G.M. Block 4 Sides	U	30	7	Months	\$ 15.00	\$	105.00
103	11007 / 11 003	East Side Between 11Th St. And 11Th		30	,	1410111113	Ψ 13.00	Ψ	103.00
106	Frederick St. 1100 Block	Rd.	Р	30	7	Months	\$ 8.00	\$	56.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
	Fairfax Drive - Harrison St To	South Row easement & Deadend E Of						
110	Kennebec St	Harrison St	U	30	7	Months	\$ 40.00	\$ 280.00
111	N.W. Corner Harrison & Fairfax Dr.	Corner Lot Next To 5409	U	30	7	Months	\$ 8.00	\$ 56.00
	Buchanan St - Fairfax Dr. To N. 8Th							
117	Rd.	East Row Easement	U	30	7	Months	\$ 8.00	\$ 56.00
	Wilson Blvd @ 4617 - Across From	Lot Behind Restaurant, Field &						
118	Abington St	Perimeters	Р	30	7	Months	\$ 50.00	\$ 350.00
		Hillside Area East Side Of St. From						
119	700 Block Of N. Abingdon St.	Wilson To House #733	U	30	7	Months	\$ 8.00	\$ 56.00
	Rt. 50 Service Road - Henderson To							
120	Park Drive	South Row Easement	U	30	7	Months	\$ 8.00	\$ 56.00
121	Wakefield St - Wilson Blvd To Deadend	East Row Easement	U	30	7	Months	\$ 8.00	\$ 56.00
	Madison St - Wilson Blvd. To 934							
125	Madison St.	Also Corner Lot @ Wilson Blvd	U	30	7	Months	\$ 25.00	\$ 175.00
	8Th Rd & Lexington St - Road In							
129	Bluemont	Entrance Gate To Soccer Field	Р	30	7	Months	\$ 8.00	\$ 56.00
130	8Th Rd - North Of Manchester St	North Row Easement To Dead End	U	30	7	Months	\$ 8.00	\$ 56.00
131	Livingston St - Wilson Blvd To 5Th	West Utility Strip	U	30	7	Months	\$ 8.00	\$ 56.00
	Wilson Blvd & N Harrison St-Nw	8' Area Behind Sidewalk From Harrison						
132	Corner Along Wilson Blvd.	St. To Drive Of 5411	U	30	7	Months	\$ 8.00	\$ 56.00
		Dead End And Planter Area Along						
133	Kensington St At N. 8Th Road	Wilson Blvd	U	30	7	Months	\$ 8.00	\$ 56.00
	7Th Street - Deadend Off Kensington							
135	St		U	30	7	Months	\$ 8.00	\$ 56.00
		West Side Row Adj. To Woods To Dead						
141	4Th St & Four Mile Run Dr	End	U	30	7	Months	\$ 8.00	\$ 56.00
		6' Both Sides Of Trail To Carlin Springs						
142	Jefferson St. Nature Trail	Rd.	Р	30	7	Months	\$ 15.00	\$ 105.00
	Kensington St Berms @ 340	Enter At Vepco Gate On Lower						
146	Kensington Cul-De-Sac	Kensington St All Areas Behind Berms	Р	30	7	Months	\$ 25.00	\$ 175.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
	5Th & Harrison St - Se And Ne							
153	Corners		U	30	7	Months	\$ 8.00	\$ 56.00
	Kensington St - 4Th St-Carlin Springs							
155	Rd	West Row easement	U	30	7	Months	\$ 8.00	\$ 56.00
		Area Between Soundwall And Curb And						
158	Madison St. Deadend At Rt. 50	Along Walk To Rt. 50	U	30	7	Months	\$ 8.00	\$ 56.00
		Medians On Both Sides Of N. 11Th						
160	N. Patrick Henry Dr- Medians	Street	U	30	7	Months	\$ 8.00	\$ 56.00
		Community Garden Next To 2909 N.						
169	N Harrison St. Community Garden	Harrison St.	Р	30	7	Months	\$ 25.00	\$ 175.00
172	N. 16Th & Patrick Henry Dr.	Row Next To 1543 N. Patrick Henry Dr.	U	30	7	Months	\$ 8.00	\$ 56.00
	Lump Sum Total for 30 day Cycle \$							

81	Cherrydale Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15	L	 3	Months	\$ 900.00	\$ 2,700.00
196	Central Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15	L	 3	Months	\$ 1,900.00	\$ 5,700.00
201	Walter Reed/Westover Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15	L	 3	Months	\$ 900.00	\$ 2,700.00
	Lum	p Sum Total for Leaf Collection	า				\$ 11,100.00

Total For Northwest Mowing and Related Services	\$ 453,418.40

Contract Unit Prices	
1. Mowing per Acre, Athletic Field-Bermuda Grass-Reel Mow	\$ 98.00
2. Mowing per Acre, Athletic Field-Cool Season	\$ 88.00

Location ID Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Pric	ce per Week or Month	Annual Mowing Price
	3. Mowing Per Acre					\$	78.00	
	4. Grass Clipping Removal Per Acre					\$	150.00	
	5. Fertilization per Acre					\$	300.00	
	6. Weed Control per Acre					\$	300.00	
	7. Overseeding per Acre					\$	600.00	
	8. Leaf Removal per Acre					\$	500.00	
	9. Mechanical Edging per linear Foot					\$	0.25	

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	An	nual Mowing Price
		Athletic Field - Rectangle - Bermuda							
92	Eads St. Park - Eads St & Ft Scott Dr	Grass - Irrigation -Reel Mower	Р	AF	22	Weeks	\$ 200.00	\$	4,400.00
99	Thomas Jefferson Comm Center & School - 3501 2Nd St	Athletic Field Upper - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 575.00	\$	12,650.00
	St	Athletic Field #2 - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 225.00	\$	4,950.00
	Gunston Park - 1401 28Th St @ Lang	Athletic Field - Rectangle - Bermuda	_						
94	St	Grass - Irrigation -Reel Mower	Р	AF	22	Weeks	\$ 450.00	\$	9,900.00
	Lump Sum Tot	tal for Athletic Fields with Bern	nud	a Gr	ass			\$	31,900.00
97	Thomas Jefferson Comm Center & School - 3501 2Nd St	Athletic Field Aux - Open grass - Cool Season Grass - Irrigation	Р	AF	31	Weeks	\$ 130.00	\$	4,030.00
	Thomas Jefferson Comm Center &	Athletic Field - Diamond - Cool Season							
98	School - 3501 2Nd St	Grass - Irrigation	Р	AF	31	Weeks	\$ 100.00	\$	3,100.00
	Lump Sum Total for Ath	nletic Fields with Cool Season (Gras	SS W	ith Irrio	gation		\$	7,130.00
91	Hoffman Boston School/ Carver Comm Ctr - 1415 Queen St	Athletic Field - Rectangle - Cool Season - No Irrigation	Р	AF	31	Weeks	\$ 275.00	\$	8,525.00
71	1110 24001101	Athletic Field - Diamond - Cool Season -		711	01	VVCCKS	Ψ 273.00	Ψ	0,020.00
93	Fort Scott Park - 2800 Ft Scott Drive	No Irrigation	Р	AF	31	Weeks	\$ 125.00	\$	3,875.00
		Athletic Field - Rectangle - Cool Season					, , , ,	-	272.2.2
95	Oakridge School - 1414 24Th St.	Grass - No Irrigation	Р	AF	31	Weeks	\$ 150.00	\$	4,650.00
96	Montessori Public School - 701 Walter Reed Dr	Athletic Field - Combo (diamond) - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 65.00	\$	2,015.00
7.0	Virginia Highlands Park - 1600 Hayes	Athletic Field #3 - Diamond - Cool		- "	01	110010	Ψ 00.00	Ψ	27010100
101	St	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 200.00	\$	6,200.00
	Virginia Highlands Park - 1600 Hayes	Athletic Field #4 - Diamond - Cool							·
102	St	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 175.00	\$	5,425.00
	Lump Sum Total fo	r Athletic Fields with Cool Gras	s - 1	No I	rrigatio	on		\$	30,690.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annu	ual Mowing Price
	Arlington Blvd Bike Trail - 3402 Arl								
1	Blvd To S. Irving St		U	7-14	23	Weeks	\$ 30.00	\$	690.00
		Open Lot Between Biketrail And Parking							
2	Rt. 50 And Garfield St.	Lot	Р	7-14	23	Weeks	\$ 10.00	\$	230.00
		Between Rt. 50 & Service Road South							
3	Island - Arl. Blvd. 3510 To 3704	Row East Of Glebe	U	7-14	23	Weeks	\$ 16.00	\$	368.00
		All Areas, Building Area, Parking Islands,							
	Thomas Jefferson Comm Center &	Perimeters, Mechanical Edging along							
4	School - 3501 2Nd St	entrance way	Р	7-14	23	Weeks	\$ 540.00	\$	12,420.00
6	Butler Holmes Park - 101 Barton St	All Areas	Р	7-14	23	Weeks	\$ 125.00	\$	2,875.00
	Island-S 2Nd St. & Wayne St. & Strip								
9	in front of 2311 2nd st S	Island & Adj. Utility Strips	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	U-Strip - S. 6Th St. & Fillmore St. To								
10	Courthouse Rd.	Island And North Utility Strip	U	7-14	23	Weeks	\$ 22.00	\$	506.00
	Arlington Heights Playground - 2200	All Areas, & Utility Strips At End Of							
11	6Th St	Vetch St	Р	7-14	23	Weeks	\$ 50.00	\$	1,150.00
		All Areas Including Fence Perimeters,							
13	Towers Park - 801 S. Scott St	Curb Lines	Р	7-14	23	Weeks	\$ 230.00	\$	5,290.00
	Foxcroft Heights Park - 801 S.Oak St.	All Areas,	Р	7-14		Weeks	\$ 12.00	\$	276.00
	U-Strip - 9Th St & S. Irving St	North East Corner & Island	U	7-14	23	Weeks	\$ 12.00	\$	276.00
	Open Space - S. 1212 Irving Street	All Areas Front, Rear And Utility Strip	D	7-14	23	Weeks	\$ 12.00	\$	276.00
	Montessori Public School - 701	All Areas Except Inside Building							
18	Walter Reed Dr	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 125.00	\$	2,875.00
	Fenwick Center - 800 South Walter	Building Area From Entrance Drive To							
19	Reed Drive	School Prop.	S	7-14	23	Weeks	\$ 16.00	\$	368.00
	Carver Mini Park - 12Th St & S Queen								
21	St	All Areas	Р	7-14	23	Weeks	\$ 8.00	\$	184.00
25	Cleveland Park - 1030 S. Cleveland St.	All Areas	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	Hoffman Boston School/ Carver	All Areas, Building Perimeters,							
	Comm Ctr - 1415 Queen St	Fencelines, Playground	S	7-14	23	Weeks	\$ 250.00	\$	5,750.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ar	nual Mowing Price
		All Street Islands, Glebe To Rt. 50 + 8Th							
30	Islands - S. Walter Reed Dr	St Islands	U	7-14	23	Weeks	\$ 55.00	\$	1,265.00
		Area surrounding Fields, Building Area,							
31	Walter Reed Center - 2909 16Th St	Parking Islands, Perimeters,	Р	7-14	23	Weeks	\$ 100.00	\$	2,300.00
	Island - S. Hayes St Army Navy To S.	All Islands And Utility Strips Adj. To							
33	Eads St.	Public Property	U	7-14	23	Weeks	\$ 120.00	\$	2,760.00
	Islands-S Eads-Army Navy Dr To Ft	Street Medians And West Side Utility							
34	Scott Dr	Strips	U	7-14	23	Weeks	\$ 30.00	\$	690.00
		Street Median On Clark St. Between Old							
36	S. Clark St. & S. 6Th St.	Jeff. Davis Hwy. & S. 6Th St.	U	7-14	23	Weeks	\$ 40.00	\$	920.00
	Island - S. Fern St Army Navy Dr To	Islands & All U-Strips Adj. To Public							
38	12Th St	Property	U	7-14	23	Weeks	\$ 12.00	\$	276.00
	Hume School Museum - 1805 S Arl.	All Areas And Rear Bank Area And							
39	Ridge Rd	Walkway	Р	7-14	23	Weeks	\$ 25.00	\$	575.00
	Island - S. 15Th St. Joyce St. To	All Street Islands And Utility Strips Adj.							
40	Hayes St.	To Public Areas	U	7-14	23	Weeks	\$ 12.00	\$	276.00
	Virginia Highlands Park - 1600 Hayes	All Areas surrounding Fields, Building							
41	St	Perimeters, Fencelines, Playground	Р	7-14	23	Weeks	\$ 750.00	\$	17,250.00
		All Areas Surrounding Fields, Building							
	Aurora Hills Center Complex - 735	Perimeters, Fencelines, Playground,							
43	18Th St.	Mechanical Edging along entrance way	Р	7-14	23	Weeks	\$ 40.00	\$	920.00
	Nauck Mini Park - 2551 19Th St.	All Areas, Fencelines, Playground, U-							
45	South	Strips	Р	7-14	23	Weeks	\$ 22.00	\$	506.00
		All Areas, Fencelines, Playground, U-							
46	Fraser Park - 1800 S. 28Th St.	Strips, Woods Edges	Р	7-14	23	Weeks	\$ 75.00	\$	1,725.00
		All Areas Except Inside Building							
47	Oakridge School - 1414 24Th St.	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 100.00	\$	2,300.00
	U-Strip - S. 23Rd St 2302 Nash To								
48	23Rd St		U	7-14	23	Weeks	\$ 8.00	\$	184.00
		25Th St. To Jeff Davis Hwy & Nash St							
49	Islands - Army Navy Drive	Island	U	7-14	23	Weeks	\$ 120.00	\$	2,760.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Anr	nual Mowing Price
		All Areas Except Inside Building							
50	Gunston School - 1401 28Th St.	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 125.00	\$	2,875.00
	Gunston Park - 1401 28Th St @ Lang	All Areas Surrounding Fields, Fencelines,							
51	St	Playground, U-Strips		7-14		Weeks	\$ 720.00	\$	16,560.00
54	U-Strip - Glebe Rd Service Rd	S Troy St To W. Glebe Rd	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		All Areas, Woods Edge, U-Strips,							
55	Troy St. Park - 2629 Troy St	Playground & 26Th St Island	Р	7-14	23	Weeks	\$ 16.00	\$	368.00
	Nellie Custis Park - S. Grant & 24Th	All Areas, Fencelines, Playground, U-							
57	St.	Strips	Р	7-14	23	Weeks	\$ 100.00	\$	2,300.00
	Haley Park - 2400 Meade St @ 24Th	All Areas, Fencelines, Woods Edges, U-							
58	St	Strip On Arl. Ridge Rd	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
		All Areas, Fencelines, Playground, U-							
59	Nina Park - 800 S. 24Th St.	Strips	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	Islands - S. 26Th St Eads St To Ives								
60	St		U	7-14	23	Weeks	\$ 12.00	\$	276.00
		All Areas, Woods Edge, Fencelines,							
65	Kent St	Playground, U-Strips	Р	7-14	23	Weeks	\$ 22.00	\$	506.00
		All Areas, Fencelines, Playground, U-							
66	Eads St. Park - Eads St & Ft Scott Dr	Strips	Р	7-14	23	Weeks	\$ 200.00	\$	4,600.00
		All Areas, Fencelines, Playground, U-							
68	Fort Scott Park - 2800 Ft Scott Drive	Strips	Р	7-14	23	Weeks	\$ 90.00	\$	2,070.00
	Four Mile Run Park & Glebe Rd Bike								
70	Trail	27Th Rd @ 4 Mile Run To 395 Bridges	Р	7-14	23	Weeks	\$ 475.00	\$	10,925.00
	Islands - Route 1 County Line To S								
71	23Rd St	All Island Areas And Adjacent U-Strips	U	7-14	23	Weeks	\$ 100.00	\$	2,300.00
		R-O-W From 1727 To 1745 S. Army							
72	S. Army Navy Drive	Navy Drive	U	7-14	23	Weeks	\$ 8.00	\$	184.00
73	Median On S. 15Th St. & S. Eads St.	Two Medians On 15 & S. Eads St.	U	7-14	23	Weeks	\$ 12.00	\$	276.00
		Utility Strips Both Sides Of St - 2707 To	l					١.	
74	S. Arlington Ridge Road	S Meade St- 7 Median @ Lang St	U	7-14	23	Weeks	\$ 12.00	\$	276.00
	S. Glebe Rd-Rt. 1 To S. Arlington Ridge				0.5			l .	
75	Rd.	Median & Utility Strips	U	7-14	23	Weeks	\$ 12.00	\$	276.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ar	nnual Mowing Price
76	Prospect Hill Park	All Areas. Fields, Fencelines, U-Strips	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
		All Areas, Fenceline, Playground, Utility							
77	Penrose Square- 2503 Columbia Pike	Strips	Р	7-14	23	Weeks	\$ 20.00	\$	460.00
	Dhs-Residential Center-1554								
80	Columbia Pike	All Areas Surrounding The Parking Lot	D	7-14	23	Weeks	\$ 30.00	\$	690.00
81	Long Bridge Park-475 Long Bridge Rd	All Areas, Fencelines, U-Strips	Р	7-14	23	Weeks	\$ 220.00	\$	5,060.00
		Medians From Af Memorial Dr. To Joyce							
82	Columbia Pike	St.	U	7-14	23	Weeks	\$ 16.00	\$	368.00
		Utiluty Strips And Grass Areas Along							
83	Long Bridge Dr.	The Wall	U	7-14	23	Weeks	\$ 16.00	\$	368.00
		R-O-W On Both Sides Of Ramp @							
84	S. Arlington Ridge Rd @ 395 Ramp	Arlington Ridge Rd	U	7-14	23	Weeks	\$ 8.00	\$	184.00
85	Old Glebe Rd. & 1St Rd S	Row At 3605 1St Rd S	U	7-14	23	Weeks	\$ 8.00	\$	184.00
86	2920 S. Glebe Rd	All Areas, Fenceline And Utility Strips	DES	7-14	23	Weeks	\$ 12.00	\$	276.00
87	905 20Th S T. S	Row At 20Th St S & Ives St	Р	7-14	23	Weeks	\$ 16.00	\$	368.00
88	S Clark St	Row From 12Th To 15Th St	DES	7-14	23	Weeks	\$ 125.00	\$	2,875.00
		Areas Surrounding The Trail From Rt. 50							·
89	Washington Blvd. Trail	To 6Th St S.	DES	7-14	23	Weeks	\$ 200.00	\$	4,600.00
	3	All Areas Surrounding House, Utility							.,
90	705 31St St. S	Strips & Lot	Р	7-14	23	Weeks	\$ 18.00	\$	414.00
	Lum	p Sum Total for 7 - 14 day Cycl	е					\$	129,352.00
	U-Strips - 1St Road S. S. Barton To S.								
7	Cleveland St	Both Sides Adj. To Garden Areas	U	30	7	Months	\$ 8.00	\$	56.00
		West Side Of Cleveland St. From							
8	Cleveland St. From 2Nd St. To 1St Rd.	Driveway North To 1St Rd.	U	30	7	Months	\$ 8.00	\$	56.00
		Utility Strip Across From 704 To							
12	600 Block S. Vietch St.	Deadend Of Street	U	30	7	Months	\$ 8.00	\$	56.00
		Alley Behind Shopping Center Highland							
16	3100 Col. Pike Alleyway	St. To Glebe Rd.	U	30	7	Months	\$ 8.00	\$	56.00

Location ID		Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	An	nual Mowing Price
	U-Strip - S. Highland St 900 To S.								
20	9Th St	Southwest Corner Area	U	30	7	Months	\$ 8.00	\$	56.00
22	12Th St. At Shirley Highway	Area Between Curb And Fence	U	30	7	Months	\$ 15.00	\$	105.00
23	12Th St. Deadend	Street R-O-W Off Of Rolfe St.	U	30	7	Months	\$ 8.00	\$	56.00
		Hillside R-O-W East Side Of Street From							
24	1400Blk S. Rolfe St.	Steps To Fence	U	30	7	Months	\$ 8.00	\$	56.00
	Lot - S. 13Th Rd 1500 Block	Dead End To 395 R.O.W. And Utility							
27	Deadend	Strips	U	30	7	Months	\$ 20.00	\$	140.00
28	Lot - S. 13Th St 1500 Block Deadend	Hill Side And Utility Strips	U	30	7	Months	\$ 8.00	\$	56.00
		N.E. Corner Lot Adjacent To House At							
29	13Th St. & Walter Reed Dr.	2823 13Th St.	U	30	7	Months	\$ 25.00	\$	175.00
	U-Strips - 17Th St 3120 To S.	Adj. To Apartment Fence, Walkway To							
32	Edgewood St	Edgewood & Adj. To County Club	U	30	7	Months	\$ 15.00	\$	105.00
	Old Jefferson Davis Hwy - S. 6Th To	U-Strips & Open Areas West Side & U-							
35	S. 10Th St	Strip East Side & Adj. To Fence	U	30	7	Months	\$ 35.00	\$	245.00
	U-Strip - South Lynn St 15Th To	-							
37	Army Navy	Keep All Vegetation Cleared Back	U	30	7	Months	\$ 15.00	\$	105.00
42	U-Strips - S. Lynn St 22Nd St-17Th St	Both Sides Of Street	U	30	7	Months	\$ 12.00	\$	84.00
44	U-Strip - S. 18Th St & S. Fern St	Southwest Corner	U	30	7	Months	\$ 18.00	\$	126.00
	27Th Rd. & Cleveland St Nw Corner	Corner Lot Next To Shirley Hwy.							
52	Lot	Property	U	30	7	Months	\$ 12.00	\$	84.00
	Vacant Lot & Ally - S. 27Th &	Behind Gas Station & Lot Adj. To							
53	Cleveland St.	Restaurant	U	30	7	Months	\$ 30.00	\$	210.00
		Sidewalk Utility Strip And 10Ft Behind							
56	23Rd St Ft Scott Dr. To Joyce St.	Sidewalk	U	30	7	Months	\$ 20.00	\$	140.00
	-	Sw Corner Around Transformer Box &							
61	26Th St. & Eads St.	Utility Strips	U	30	7	Months	\$ 8.00	\$	56.00
	U-Strips - S 31St St N Side Fern To								
62	Grant		U	30	7	Months	\$ 8.00	\$	56.00
	U-Strips - S. Eads St Glebe Rd To								
63	23Rd Rd		U	30	7	Months	\$ 12.00	\$	84.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annu	al Mowing Price
		Corner Triangle Next To Lot Garage							
64	26Th St. & Clark St Nw Corner	Entrance	U	30	7	Months	\$ 12.00	\$	84.00
	Crystal Dr. Parking Meters - From								
67	2900 To Airport Overpass	Utility Strip Between Fence And Curb	U	30	7	Months	\$ 12.00	\$	84.00
69	2623 Four Mile Run Dr.	Utility Strip Between Fence And Curb	U	30	7	Months	\$ 12.00	\$	84.00
78	S. Garfield & 6Th St	R-O-W Between 2929 - 3001 6Th St. S	U	30	7	Months	\$ 12.00	\$	84.00
	Lur	np Sum Total for 30 day Cycle						\$	2,499.00

There Are No Designated Leaf Removal/Collection Locations For This Quadrant

Total For Southeast Mowing and Related Services

\$201,571.00

Contract Unit Prices	
1. Mowing per Acre, Athletic Field-Bermuda Grass-Reel Mow	\$ 98.00
2. Mowing per Acre, Athletic Field-Cool Season	\$ 88.00
3. Mowing Per Acre	\$ 78.00
4. Grass Clipping Removal Per Acre	\$ 150.00
5. Fertilization per Acre	\$ 300.00
6. Weed Control per Acre	\$ 300.00
7. Overseeding per Acre	\$ 600.00
8. Leaf Removal per Acre	\$ 500.00
9. Mechanical Edging per linear Foot	\$ 0.25

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	An	nual Mowing Price	
108	Arlington Hall West Park - 290 S. Taylor St.	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 300.00	\$	6,600.00	
110	Barcroft Park - 4100 Four Mile Run Drive	Athletic Field #1 - Outfield ONLY - Diamond - Bermuda - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.00	\$	4,400.00	
111	Barcroft Park - 4100 Four Mile Run Drive	Athletic Field #2 - Outfield ONLY - Diamond - Bermuda - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.00	\$	4,400.00	
117	Drew School - 3500 24Th St S.	Athletic Field - Combo (Rectangle) - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 190.00	\$	4,180.00	
118	Drew School - 3500 24Th St S.	Athletic Field Aux - Combo (Rectangle) - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 190.00	\$	4,180.00	
119	Fairlington Center - 3308 S. Stafford St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 220.00	\$	4,840.00	
125	Kenmore Middle School - 200 S. Carlin Springs Rd	Athletic Field #2 - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 475.00	\$	10,450.00	
130	Wakefield School - 4901 S. Chesterfield Rd	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 475.00	\$	10,450.00	
132	Wakefield School - 4901 S. Chesterfield Rd	Athletic Field #1 - Diamond - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 120.00	\$	2,640.00	
133	Wakefield School - 4901 S. Chesterfield Rd	Athletic Field #2 - Diamond - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 500.00	\$	11,000.00	
	Lump Sum Total for Athletic Fields with Bermuda Grass \$									

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annua	Mowing Price
124	Kenmore Middle School - 200 S. Carlin Springs Rd	Athletic Field #1 - Combo (Diamond) - Cool Season Grass - Irrigation	P	AF	31	Weeks	\$ 200.00	\$	6,200.00
128	Utah Park - 3191 S. Utah St.	Athletic Field - Diamond - Cool Season Grass - Irrigation	Р	AF	31	Weeks		\$	3,875.00
	Lump Sum Total for A	thletic Fields with Cool Seaso	n Gr	ass w	ith Irri/	gation		\$	10,075.00
	Ahinadan Sahaal 2025 S. Ahinadan	Athletic Field - Rectangle - Cool Season			1				
106	St	- No Irrigation	Р	AF	31	Weeks	\$ 70.00	\$	2,170.00
		Athletic Field Aux - Open Grass - Cool Season Grass - No Irrigation	Р	AF	31	Weeks		\$	2,480.00
112	Barcroft Park - 4100 Four Mile Run Drive	Athletic Field #3 - Outfield ONLY - Diamond - Cool Season - No Irrigation	Р	AF	31	Weeks	\$ 110.00	\$	3,410.00
113	Barcroft Park - 4100 Four Mile Run Drive	Athletic Field #4 - Outfield ONLY - Diamond - Cool Season - No Irrigation	Р	AF	31	Weeks	\$ 250.00	\$	7,750.00
114	· · · · · · J · · · · · · · · · · · · ·	Athletic Field - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 38.00	\$	1,178.00
115	Carlin Springs School - 5995 5th Rd S		Р	AF	31	Weeks	\$ 65.00	\$	2,015.00
116	Claremont School - 23Rd & Bucanan St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 100.00	\$	3,100.00
120	Fort Barnard Park - 2101 Pollard St.	Athletic Field - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 65.00	\$	2,015.00
121	Jennie Dean Park - 3630 27Th St	Athletic Field #1 - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 200.00	\$	6,200.00
122	Jennie Dean Park - 3630 27Th St	Athletic Field #2 - Diamond - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 85.00	\$	2,635.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Anı	nual Mowing Price
		Athletic Field Aux - Open Grass - Cool							
123	Jennie Dean Park - 3630 27Th St	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 200.00	\$	6,200.00
	Kenmore Middle School - 200 S.	Athletic Field #3 - Diamond - Cool							
126	Carlin Springs Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 110.00	\$	3,410.00
	Kenmore Middle School - 200 S.	Athletic Field #4 - Open Grass - Cool							
127	Carlin Springs Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 100.00	\$	3,100.00
		Athletic Field Aux - Open Grass - Cool							
129	Utah Park - 3191 S. Utah St.	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 75.00	\$	2,325.00
	Wakefield School - 4901 S.	Athletic Field - Rectangle - Cool							
131	Chesterfield Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 75.00	\$	2,325.00
	Alcova Heights Park 901 S. George	Athletic Field - Diamond - Cool Season -							
107	Mason Dr.	No Irrigation	Р	AF	31	Weeks	\$ 40.00	\$	1,240.00
	Lump Sum Total for Athletic Fields with Cool Season Grass - No Irrigation \$							\$	51,553.00

		All Areas & Adjacent Street Islands,						
		Mechanical Edging along Entrance						
1	Fire Station #1 - Glebe Rd & 5Th St S	Way	F	7-14	23	Weeks	\$ 22.00	\$ 506.00
		Street Islands Between Nw Service Rd						
3	Carlyn Springs Rd @ Rt. 50	+ Adj. Carlyn Springs Islands	\supset	7-14	23	Weeks	\$ 10.00	\$ 230.00
	Kenmore Middle School - 200 S.	All Areas Except Inside Building						
4	Carlin Springs Rd	Sidewalks & Parking Lot	S	7-14	23	Weeks	\$ 850.00	\$ 19,550.00
		All Areas Except Inside Building						
5	Carlin Springs School - 5995 5th Rd S	Sidewalks & Parking Lot	S	7-14	23	Weeks	\$ 80.00	\$ 1,840.00
		Nw Permeter Along Both Streets &						
6	2Nd & S. Jefferson St	Adj. To Glencarlyn Park	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	S. Edison St @ House #15 (Near Rt.							
7	50)	Island In Middle Of Edison Street	\supset	7-14	23	Weeks	\$ 8.00	\$ 184.00
		South Utility Esmt To Dead End Of 5Th						
10	S. 5Th Rd & Kensington St	(To The West)	\supset	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Glencarlyn Center & Cemetery -							
11	5711 S. 4Th St	Mow All Turf Areas For Both Facilities	Р	7-14	23	Weeks	\$ 25.00	\$ 575.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week Month	or	Annual Mowing Price
		All Areas Including Garden In Rear Of							
	Glencarlyn Library - 300 S.	Building, Mechanical Edging along							
12	Kensington St.	entrance ways	L	7-14	23	Weeks	\$ 16.0	0	\$ 368.00
	Glencarlyn Park - 4Th St S &	All Areas Including Roads, Bike Trails,							
13	Harrison St.	Paths & Open Areas	Р	7-14	23	Weeks	\$ 190.0	0	\$ 4,370.00
14	Harrison St South Of 5Th St.	Street Island	U	7-14	23	Weeks	\$ 8.0	0	\$ 184.00
		Vacant Lot And Utility Strip From 6Th							
16	Pershing St & 6Th St. S.	To Vepco Area	Р	7-14	23	Weeks	\$ 8.0	0	\$ 184.00
	Long Branch Nature Ctr 625 S.Carlyn	Entrance Drive, Parking Area Trails,							
20	Springs Rd	Building Area & Gardens	Р	7-14	23	Weeks	\$ 8.0	0	\$ 184.00
		All Areas, Utility Strips, Woods							
21	Tyrol Hill Park - 7Th Rd & Florida St	Perimeters, And Trails	Р	7-14	23	Weeks	\$ 100.0	0	\$ 2,300.00
		From Carlyn Springs Road To Columbia							
22	Glencarlyn Park Bike Trail	Pike	Р	7-14	23	Weeks	\$ 120.0	0	\$ 2,760.00
	Park Glen Park - Arl. Mill Dr &	Along Arlington Mill Dr. To Dead End							
26	Columbia Pike	Including Adj. Bike Trail	Р	7-14	23	Weeks	\$ 22.0	0	\$ 506.00
		Utility Strip & Parking Lot Island East							
		Side Of Street, Mechanical Edging							
27	Arlington Mill Community Center	along entrance way	Р	7-14	23	Weeks	\$ 8.0	0	\$ 184.00
	Glencarlyn School - 7375 Carlyn	All Areas Except Inside Building							
28	Springs Rd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 380.0	0	\$ 8,740.00
	Arlington Hall West Park - 290 S.	All Areas - Fence Perimeters & Parking							
29	Taylor St.	Areas	Р	7-14	23	Weeks	\$ 280.0	0	\$ 6,440.00
	Alcova Heights Park 901 S. George	All Areas - Playgrounds, Picnic Areas							
30	Mason Dr.	Woods Edge	Р	7-14	23	Weeks	\$ 426.0	0	\$ 9,798.00
		Intersection Of S. 8Th & George							
31	4200 Block S. 8Th St	Mason Dr Island	U	7-14	23	Weeks	\$ 8.0	0	\$ 184.00
		All Areas Except Inside Building							
33	Barcroft School - 625 S. Wakefield St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 170.0	0	\$ 3,910.00
35	S. Monroe St - 12Th To 13Th St.	East Utility Strip And Grave Yard Area	U	7-14	23	Weeks	\$ 8.0	0	\$ 184.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week o	r	Annual Mowing Price
	NOVA Bike Trail-Columbia Pike To S	S. Shirlington Rd. All Open Space,							
36	Shirlington Rd	Utility Strips, Fence Lines	Р	7-14	23	Weeks	\$ 600.00)	\$ 13,800.00
	Randolph School - 1306 South	All Areas Except Inside Building							
37	Quincy St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 55.00)	\$ 1,265.00
	Doctor'S Run Park - 1301 S. George	All Areas - Playground, Woods Edge,							
38	Mason Dr	Trails, Utility Strips	Р	7-14	23	Weeks	\$ 225.00)	\$ 5,175.00
	Monroe Street Park - 1330	All Areas - Playground, Woods Edge,							
39	S.Monroe St.	Fence Areas Utility Strips	Р	7-14	23	Weeks	\$ 75.00)	\$ 1,725.00
	Columbia Pike Entrance @ County	Center Island East And West Of							
40	Line	Entrance Sign	U	7-14	23	Weeks	\$ 12.00)	\$ 276.00
		All Areas Including Utility Strips Along							
41	Bailey'S Branch Park	Both 10 Streets	Р	7-14	23	Weeks	\$ 30.00)	\$ 690.00
42	Jefferson St & S. Columbia Pike	Street Islands To County Line	U	7-14	23	Weeks	\$ 12.00)	\$ 276.00
		Hillside And Utility Strip Along							
43	S. George Mason Dr & Dinwiddie St	Wakefield Sch. Fence	U	7-14	23	Weeks	\$ 8.00)	\$ 184.00
	S. George Mason Dr S. Dinwiddie	All Street Islands. All Utility Strips Adj.							
44	To Rt. 50	To Public Areas	U	7-14	23	Weeks	\$ 150.00)	\$ 3,450.00
	S. Four Mile Run Dr - 4100 To G.	All Street Islands. All Utility Strips Adj.							
46	Mason Dr.	To Public Areas	U	7-14	23	Weeks	\$ 10.00)	\$ 230.00
		All Areas - Playground, Park And 3							
47	Douglas Park - 1718 Quincy St	House Lots, 1602,1710 & 1714	Р	7-14	23	Weeks	\$ 140.00)	\$ 3,220.00
	Barcroft Park - 4100 Four Mile Run	All Areas - Woods Edge, Trails, Adj.							
49	Drive	St.Islands	Р	7-14	23	Weeks	\$ 900.00)	\$ 20,700.00
	Barcroft Bike Trail @ George Mason	All Trails And Open Areas On Se, Ne &							
50	Bridge	Sw Corners	Р	7-14	23	Weeks	\$ 12.00)	\$ 276.00
	-	All Areas - Playground, Adjacent Street							
51	Fort Barnard Park - 2101 Pollard St.	Islands	Р	7-14	23	Weeks	\$ 150.00)	\$ 3,450.00
	Water Tower Park - Walter Reed &	All Areas Inside And Outside Fence							
53	Pollard St.	And Adj. Street Islands	Р	7-14	23	Weeks	\$ 40.00)	\$ 920.00
		All Areas Inside And Adj. Sidewalk							
54	Ft Barnard Dog Exercise Area	Island Along Walter Reed Dr.	Р	7-14	23	Weeks	\$ 40.00)	\$ 920.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	nnual Mowing Price
	Fire Station #0. 1000 S. Walter Dood	All Areas Including Adi Street Islands							
55	Dr.	All Areas Including Adj. Street Islands, Mechanical Edging along entrance way	F	7-14	23	Weeks	\$ 22.00	\$	506.00
33	DI.	Open Area In Front Of House #3560 To	'	7-14	23	AACCK2	φ 22.00	φ	500.00
56	Walter Reed Dr. & S. Monroe St.	Include Untility Strip	U	7-14	23	Weeks	\$ 8.00	\$	184.00
30		All Areas Except Inside Building		7-14	23	VVCCKS	ψ 0.00	Ψ	104.00
57	St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 200.00	\$	4,600.00
- 57	Wakefield School - 4901 S.	All Areas Except Inside Building		7 11	20	VVCCRS	Ψ 200.00	Ψ	1,000.00
60	Chesterfield Rd	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 480.00	\$	11,040.00
- 00	onesternera na	endervand / and / anning Lette		7	20	VVCCRS	Ψ 100.00	Ψ	11,010.00
		Sw Corner Of Intersection Utility Strip							
61	S. Dinwiddie St & S. Chester St	All Along Fence And Traffic Island	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Both sides & all areas - Creek Areas,							
	Walter Reed Dr - Arl. Mill Dr. To Rt.	Woods Edges, Utility Strips, Adj.							
62	7	Islands	Р	7-14	23	Weeks	\$ 270.00	\$	6,210.00
	Arl. Mill Dr Bike Trail Walter Reed	Shirlington Rd. All Open Spaces Both							
63	То	Sides Of Creek & Adj. Islands	Р	7-14	23	Weeks	\$ 270.00	\$	6,210.00
		North East Corner All Along Bottom Of							
64	S. Kemper Rd & S. Oxford St	Hill Utility Strip & More	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Se And Sw Corners At Walter Reed							
65	S. 19Th St & S. Lorton St	Drive	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Nauck Community Entryway-Walter	Entire Area Around The Planter And							
67	Reed Dr & Kenmore St	Community Sign	Р	7-14	23	Weeks	\$ 8.00	\$	184.00
		Utility Strips And Island Both Sides Of							
69	Shirlington Rd & S. Glebe Rd	Shirlington Rd	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		All Areas Except Inside Building							
71	Drew School - 3500 24Th St S.	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$ 220.00	\$	5,060.00
		Northside Utility Strip Glebe Rd To							
72	S 23Rd St 2900 Block Utility Strip	1St House 10'X120'	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Ft. Barnard Mini Park - 2448 S.	All Areas-Playground, Fence Lines,							
73	Oakland St	Utility Strips	Р	7-14	23	Weeks	\$ 12.00	\$	276.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price	e per Week or Month	An	nual Mowing Price
	Shirlington Rd - 4 Mile Run To 24Th	All Utility Strips And Hillsides 6' Behind								
75	Rd	Sidewalk, Both Sides	U	7-14	23	Weeks	\$	12.00	\$	276.00
	Trade Center - Arlington Mill Dr &	All Berms, Utility Strips, Parking								
76	Taylor St	Islands, Building Frontages	U	7-14	23	Weeks	\$	80.00	\$	1,840.00
		All Berms, Utility Strips & Parking								
77	Trade Center - North Side Areas	Islands Not Including Schools Areas	0	7-14	23	Weeks	\$	100.00	\$	2,300.00
		All Berms, Utility Strips & Parking								
78	Trade Center - South Side Areas	Islands Not Including Schools Areas	Р	7-14	23	Weeks	\$	60.00	\$	1,380.00
	Fire Training Center At Property	Around Building And Rear Training								
80	Yard	Area	F	7-14	23	Weeks	\$	12.00	\$	276.00
	Abingdon School - 3035 S. Abingdon	All Areas Except Inside Building								
83	St	Sidewalks And Parking Lots	S	7-14	23	Weeks	\$	200.00	\$	4,600.00
		All Areas - Building, Fences, Utility								
84	Jennie Dean Park - 3630 27Th St	Strips & Islands	Р	7-14	23	Weeks	\$	165.00	\$	3,795.00
		Utility Strip Along Fence From J.A.								
85	Four Mile Run Drive - 3600 Block	Laporte And Arlington Heating	U	7-14	23	Weeks	\$	43.00	\$	989.00
	3700 Four Mile Run Dr Weta Radio									
86	Building	All Areas Around Building	Р	7-14	23	Weeks	\$	12.00	\$	276.00
		All Areas - Building, Fences, Utility								
88	Utah Park - 3191 S. Utah St.	Strips & Islands	Р	7-14	23	Weeks	\$	100.00	\$	2,300.00
	Quaker Lane - Shirlington Circle To	Street Islands From County Line To								
89	33Rd St	Beginning Of Exit Ramp	U	7-14	23	Weeks	\$	22.00	\$	506.00
		All Areas - Building, Fences, Utility								
	Fairlington Center - 3308 S. Stafford	Strips & Islands, Mechanical Edging								
90	St	along entrance way	Р	7-14	23	Weeks	\$	200.00	\$	4,600.00
	Trade Centr-Impound Lot & Equip.	All Berms Surrounding Perimeter Of								
92	Div.	The Buildings & Interior Fenceline	Р	7-14	23	Weeks	\$	12.00	\$	276.00
		Utility Strip From Oxford St To S. 24Th								
93	S. Kemper Road	Street	U	7-14	23	Weeks	\$	8.00	\$	184.00
	Nauck Town Square-2412 S.									
94	Shirlington Rd	Park Area At Shirlington Rd & 24Th St.	Р	7-14	23	Weeks	\$	20.00	\$	460.00

Months \$

Months \$

8.00 \$

15.00 \$

56.00

105.00

30

30

Р

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months		per Week or Month	An	nual Mowing Price
	C O ' CI NA I'	2800 & 2900 Blk. S. Quincy St Median	l	7.4.4	00	\A/ I	Φ.	0.00	Φ.	101.00
95	S. Quincy StMedians	And Utility Strips	U	7-14	23	Weeks	\$	8.00	\$	184.00
0.4	C. Faradaniali Ct. O. Carana Marana Du	Utility Strip At Sw Corner Of S.	۱	7 4 4	00	\A/ I	Φ.	0.00		104.00
96	S Frederick St & George Mason Dr.	Frederick St.	U	7-14	23	Weeks	\$	8.00	\$	184.00
07	Danie Daule 2412 C. Karana and Ct	All Areas Playgrond, Fenceline, Utility		7 4 4	00	\A/ I	Φ.	0.00		104.00
97	Drew Park-2412 S. Kenmore St.	Strips	Р	7-14	23	Weeks	\$	8.00	\$	184.00
00	0.01.00	Utility Strip & Fencline Along Cul-De-	١	744	0.0		•	0.00		101.00
98	S. Stafford & 18Th St.	Sac	U	7-14	23	Weeks	\$	8.00	\$	184.00
00	0.0571.01	Utility Strip From S. Kemper To 25Th	۱	7.44	0.0		•	10.00		000.00
99	S. 25Th St.	Court S.	U	7-14	23	Weeks	\$	10.00	\$	230.00
100		All Areas Including Adj. Utility Strips,						400.00		
100	Mile Run & Nelson st	Fenceline	Р	7-14	23	Weeks	\$	100.00	\$	2,300.00
		Street Medians - Walter Reed Dr To S	١							
101	S. Arlington Mill Dr. Medians	28Th Rd	U	7-14	23	Weeks	\$	5.00	\$	115.00
100	0.144 11	Street Medians-Four Mile Run Dr To	۱					45.00	_	0.45.00
102	S. Walter Reed Dr	Glebe Rd	U	7-14	23	Weeks	\$	15.00	\$	345.00
103	DHS- 5409 3Rd St. S.	All Areas Around Perimeter Of House	D	7-14	23	Weeks	\$	8.00	\$	184.00
	Northern Virginia Hospital Center	All Areas Around Perimeter Of	<u> </u>			1100110	*	0.00	_	
105	Urgent Care	Building	DES	7-14	23	Weeks	\$	300.00	\$	6,900.00
	Lur	mp Sum Total for 7 - 14 day Cy	ycle		•				\$	190,164.00
					<u> </u>					
2	S. Oakland St - 1St Street To 3Rd St.	West Side Of Oakland St Adj. To Fence.	U	30	7	Months	\$	30.00	\$	210.00
	Arlington Blvd - Edison To Columbus	ļ								
	St	South Row Adjacent To Rte 50	U	30	7	Months	\$	8.00	\$	56.00
		S. Manchester St East Side Along 6'								
9	S. Manchester St & Rt. 50	Wood Fence	U	30	7	Months	\$	8.00	\$	56.00
		Westside Roadside Of Harrison St &								

Northside Roadside 5Th St.

Area Around And Beyond Guardrail

Bidder's Name: McDonnell Landscape, Inc.

5Th St S. Dead End To Buchanan St

5Th & Harrison St.

15

17

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Aı	nnual Mowing Price
		Across From Glen Carlin Elementary							
18	Carlin Springs Rd. Utility Strip	School	U	30	7	Months	\$ 8.00	\$	56.00
	Long Branch Nature Ctr Meadow &	Mow Path Through Meadow And To							
19	Trail	Nature Center	Р	30	7	Months	\$ 22.00	\$	154.00
		Roadside From 4803 To Deadend Of							
23	4800 Block S. 7Th St	Street	U	30	7	Months	\$ 5.00	\$	35.00
		Walkway From S. Park Drive To							
24	S. Aberdeen St. 100 Block	Abingdon St.	U	30	7	Months	\$ 5.00	\$	35.00
		Roadside West Side From 758							
25	Dinwiddie St. 700 Block	Dinwiddie To 5000 7Th St.	U	30	7	Months	\$ 12.00	\$	84.00
	Glebe Rd. Alley - Between 6Th And	Between Houses At 3415 7Th St And							
32	7Th St.	3508 6Th St.	U	30	7	Months	\$ 5.00	\$	35.00
		Road Easement Betwn 923 & 929							
34	3	From Townhouse Drive To Prop Line	U	30	7	Months	\$ 5.00	\$	35.00
	S. Hamilton Drive 1260 To Forest				_				
45	Drive	South Right Of Way Esmt	U	30	7	Months	\$ 5.00	\$	35.00
	1/TI - 0. 55 10.	Open Lot & Utility Strip -16Th St To			_				
48	Sw Corner 16Th & Stafford St.	House Driveway 1508 Stafford St.	U	30	7	Months	\$ 5.00	\$	35.00
	Nelson St - Lot #32 Adjacent To 2008				_				
52	Nelson St.	All Areas Of Open Lot	Р	30	7	Months	\$ 8.00	\$	56.00
			l	0.0	_			_	25.22
58	S.Columbus St. & S. Chesterfield St.	Roadside Behind Guardrail At Turn	U	30	7	Months	\$ 5.00	\$	35.00
F0	C Ouf- ad Ct Nort T- H At 2420	On an Anna Francisco Collin Ta Charat	١	20	_	N 4 +l	ф гоо	φ.	25.00
59	S.Oxford St. Next To House At 2420	Open Area From Foot Of Hill To Street	U	30	7	Months	\$ 5.00	\$	35.00
		Hillside Area Including Both Sides Of	١., ١	20	_	N 4 +l	Φ 0.00	φ.	F/ 00
66	Kenmore St 1900 Block	Steps Between Church & 1914	U	30	7	Months	\$ 8.00	\$	56.00
/0	Sw Corner Walter Reed Dr. & Glebe	Trood Corport of Doblind Haves	, ,	20	-	- طلحده ۱	ф 0.00	۴.	F/ 00
68	Rd.	Treed Corner Lot Behind Houses	U	30		Months		\$	56.00
70	S. Lorton Street 2014	Dead End Area Around Parking Lot	U	30	7	Months	\$ 5.00	\$	35.00
74	2710 C. Four Mile Divis De Court D	Deadend Of Street At Base Of	, ,	20		- طلحده ۱	ф го оо	<u>۱</u>	250.00
74	3719 S. Four Mile Run Dr. Court B	Retaining Wall	U	30	7	Months	\$ 50.00	\$	350.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annu	al Mowing Price
	Trade Center - Reclamation And	All Berms Surrounding Stockpile Yard							
79	Recycle Center	And Recycle Center	0	30	7	Months	\$ 50.00	\$	350.00
	Bus Exit Rd - Arl. Mill Dr Past School	Hillside On West Side &Trimming On							
81	Building	East Side	S	30	7	Months	\$ 50.00	\$	350.00
	S. Quincy St & Randolph St Adj. To	Utility Strip Along 395 Fence From Bus							
87	395 Row	Stop South 150'	U	30	7	Months	\$ 5.00	\$	35.00
	S. Four Mile Run Dr & S. Shirlington	Utility Srips At Corner Of S Four Mile							
91	Rd.	Run Dr & Shirlington Rd.	U	30	7	Months	\$ 5.00	\$	35.00
	Lu	ump Sum Total for 30 day Cyc	le					\$	2,380.00
		Leaf Collection - Oct. 30, Nov. 30, and							
12	Glencarlyn Library	Dec. 15	L		3	Months	\$ 825.00	\$	2,475.00
	Lump Sum Total for Leaf Collection							\$	2,475.00

Total For Southwest Mowing and Related Services

\$ 319,787.00

Contract Unit Prices							
1. Mowing per Acre, Athletic Field-Bermuda Grass-Reel Mow	\$	98.00					
2. Mowing per Acre, Athletic Field-Cool Season	\$	88.00					
3. Mowing Per Acre	\$	78.00					
4. Grass Clipping Removal Per Acre	\$	150.00					
5. Fertilization per Acre	\$	300.00					
6. Weed Control per Acre	\$	300.00					
7. Overseeding per Acre	\$	600.00					
8. Leaf Removal per Acre	\$	500.00					
9. Mechanical Edging <i>per linear Foot</i>	\$	0.25					